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B3
XMLEBRBA A ¥ A ({HRNERZ EMERE)

<7xml version="1.0" encoding="UIF-8"7>
CHCCI_IN200100UV01 ITSVersion="XML_1.0" xsi:schemalocation="urn:hl7-org:v3 MCCY_INZO0100UV01. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3. org/
2001/XMLSchema~instance”™
<id extension="N.1.2" root="2. 16.840.1. 113883.3.989.2.1.3.22"/>
<I-— N. 1. 2! Batch Number -->
(creationTime value="201012141516177/>
<l-- N.1.5: Date of Batch Transmission —>
{responseModeCode code="D"/>
Cinteractionld extension="HCCI_IN200100UV01” root="2.16.840.1.113883.1.6"/>
(name code="N.1.1” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.17/>
<}=~ N.1.1: Type of Messages in Batch ——>
<1-- Message #1 —>
<PORR_IN049016UV>
<id extension="N. 2. r.17 root="2, 16.840. 1. 113883.3.989.2.1.3.1"/>
<t— N.2.r. 1! Message Identifier -->
{creationTime value="201012141516177/>
e~ N.2.1.4: Date of Message Creation ——>
¢interactionld extension="PORR_INO49016UV” root="2. 16. 840. 1. 113883. 1.6"/> B
<processingCode code="P"/>
{processingModeCode code="T"/>
CacceptAckCode code="AL"/>
<receiver typeCode="RCV™>
{device classCode="DEY" determinerCode="INSTANCE™>
<id extension="N.2.71.3" root="2. 16.840. 1. 113883.3.9858.2. 1. 3. 127/>
{I—— N.2.1r.3: Message Receiver ldentifier —>
/device>
</receiver>
¢sender typeCode="SND™>
(device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2.1.2" root="2, 16.840.1. 113883.3.989.2.1.3.11"/>
(b N.2.1.2: Message Sender Identifier -~>
{fdevice>
</sender>
<controlActProcess classCode="CACT” moodCode="EVN">
Ccode code="PORR_TE049016UV" codeSystem="2, 16.840. 1. 113883, 1. 18"/>
<1 HLT Trigger Event ID —>
CeffectiveTime value="20101214151617"/>
(l-- €. 1.2: Date of Creation ~—>
<{subject typeCode="SUBJ™>
<investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2,16.840.1, 113883.3.989.2.1.3. 1"/>
<d= €. 1.1: Sender’s (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1” reot="2.16.840. 1. 113883, 3.989.2. 1.3.27/>
¢l— C.1.8.1: ¥orldwide Unique Case Identification Number -—>
<id extension="J2.1b" root="2. 16.840. 1. 113883, 3.989.5.1.3.2.3.1"/>
- @88J2. 1b: MRBIES (FH) -
<code code="PAT_ADV_BVNT” codeSystem="2. 16, 840. 1. 113883.5.47/>
CtextoH. 1</text>
¢1—— M. 1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcoume and Additional Relevant Information ——>
{statusCode code="active”/>
<l— @gey2. 7.1 587, RETRSY —>
{effectiveTime>
<low value="20090101"/>
¢l-- C.1.4: Date Report Was First Received from Source —->
¢/effectiveTime>
<availabilityTime value="200801017/>
¢1— C.1.5: Date of Most Recent Information for This Report —-—>
(reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 27" displayName="documentsteldBySender”/>
<(title>C.1.6. L r, 1I</title>
¢l—= C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) #1 —>

Ctext mediaType="application/pdf” representation="B64">C. L. 6.1.1.2¢/text>
¢}~ €.1.6.1.7r.2: Included Documents #I -7
¢/document>
</reference>

{reference typeCode="REFR™>
<doctment classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883, 3.989.2. 1. 1. 27" displayName="documentsHeldBySender”/>

<title>C.1.6. L r. 1¢/titled
Ctext mediaType="image/jpeg” representation="B64" compression="DF">C. 1. 6. 1.1.2¢{/text>
¢<I-- €. 1.6.1.r.27 Included Documents H2 —>
</document>
</reference>



(reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN">
(code code="2" codeSystem="2. 16. 840. 1. 113883.3.989, 2. 1. 1. 27" displayName="1literatureReference”/>
CtitledJ2, 17, r</titled
- gge)2. 17.r BB/ HROSE #1 —
Ctext mediaType="application/pdf” representation="B64">C.4.r. 2¢/text>
(I~ C.4.r.2: Included Documents #1 -~
<hibliographicDesignationText>C. 4. r. I</bibliographicDesignationTextd
¢I-- C.4.xr.1: Literature Reference(s) #1 -—>
<participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
CasLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="J2.15.1r” codeSystew="1.0.3166.1.2.27/>
<l-~ gE@Jy2. 15.r AFEME #1 -
{/location>
{/aslocatedEntity>
(/represented0rganization>
{/assignedEntity>
{/participation>
<{/document>
</reference>
<reference typeCode="REFR™
<document classCode="DOC” moodCode="EVN">
(code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="1jiteratureReference”/>
<titledJ2.17. r</titled
<1 ggeye. 17.r BB HREOSE #2 —
(text mediaType="application/pdf” representation="B647>C.4.r.2<{/text>
¢t~ C.4,r,2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
(I~ €. 4,r. 1! Literature Reference(s) #2 —>
<participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2. 15, r" codeSystem="1.0.3166.1.2.27/>
-- @88J2. 15.r AFE #2
</location>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>
<{/participation>
{/document>
</reference>
<component typeCode="COMP™>
<adversefventAssessment classCode="INVSTG” moodCode="EVN™>
<subjectl typeCode="SBJ">
<primaryRole classCode="INVSB]J">
¢playerl classCode="PSN” determinerCode="INSTANCE™>
{name>D. 1</name>
¢l— D.1: Patient (name or initials) —>
{administrativeGenderCode code="D.5” codeSystem="1,0,5218"/>
<l— D.5 Sex —>
<birthTime value="20090101"/>
<} D.2.1: Date of Birth —>
{deceasedTime value="200901017/>
{l=~ 0. 9. 1: Date of Death ——>
<asldentifiedBntity classCode="IDENT™>
<id extension="D.1.1.1” root="2.16.840.1.113883.3.989.2.1.3.7"/>
¢1— P.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical Record Number) -—>
(code code="1" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 4" displayName="GP"/>
{/asldentifiedEntity>
{asIdentifiedEntity classCode="IDENT™>
<id extension="D.1.1.2" root="2. 16,840, 1. 113883.3.989.2.1.3.8"/>
{l— D.1,1.2: Patient Medical Record Mumber(s) and Source(s) of the Record Number (Specialist Record Number) ——>
(code code="2" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 4" displayName="Specialist”/>
¢/asidentifiedEntity>
<asldentifiedEntity classCode="IDENT™>
<id extension="D.1.1.37 root="2.16.840. 1, 113883.3.989.2.1.3,97/>
¢I— D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number) —
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 689. 2. 1. 1. 4" displayName="Hospital Record”/>
{/asldentifiedEntity>
<asIdentifiedEntity classCode="IDENT">



<id extension="D. 1. 1. 4" root="2. 16. 840, 1. 113883. 3. 989.2. 1. 3. 10"/> )
¢1— D.1.1.4: Patient Medical Record Number(s) and Source(s) of the Record Number (Investigation Number) -->
(code code="4" codeSystem="2. 16.840.1.113883.3.989.2.1. 1. 47 displayName="Investigation”/>
</asldentifiedEntity>
{role classCode="PRS">
¢code code="PRN” codeSystem="2. 16, 840.1, 113883.5. 1117/>
¢associatedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>D. 10, 1{/nane>
¢le= D, 10.1: Parent Identification ——>
{administrativeGenderCode code="D.10.8" codeSystem="1.0.352187/>
4= D.10.6: Sex of Parent —>
<birthTime value="200801017/>
<l-- D.10.2.1: Date of Birth of Parent ——>
{/associatedPersond
{subject0fZ typeCode="SB]">
{observation classCode="0BS” moodCode="EVN™>
Ccode code="3" codeSystem="2. 16, 840. 1. 113883, 3. 889. 2. 1. 1. 197 displayName="age”/>
(value xsi>type="PQ” value="10" unit="D. 10.2.2b"/>
<!-~ D.10.2.2a: Age of Parent (number) -->
1= D, 10, 2. 2b: Age of Parent (unit) —->
{/observation>
</subjectOf2>
<subject0f2 typeCode="SB]™>
lobservation classCode="0BS” mocdCode="EVN™>
Seode code="22" cndeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1. 197 displayName="lastMenstrualPeriodDate”/>
Cvalue xsiitype="TS” value="20090101"/>
<1-— D.10.3: Last Menstrual Pericd Date of Parent ——>
{/observation>
</subject0f2>
<subjectOf? typeCode="SBI™>
Cobservation classCode="0BS” moodCode="EVN">
<code code="T" codeSystew="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="bodyWeight”/>
¢value xsiitype="PQ” value="50" unit="kg”/>
<i—- D.10.4: Body Weight (kg) of Parent ——>
{/observation>
</subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
(code code="17" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 197 displayName="height”/>
Cvalue xsiztype="PQ” value="160" unit="cm"/>
(l== D.10.5: Height (cm) of Parent —->
{/observationd>
¢/subjectOf2>
<subject0f2 typeCode="SBI">
Corganizer classCode="CATEGORY” woodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883. 3. 989, 2. 1. 1. 20" displayName="relevantMedicalllistoryAndConcurrentConditions”/>
<component typeCode="COMP™>
(observation classCode="0BS” moodCode="EVN">
<eode code="D. 10.7. 1. 1. 1b” codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 10. 7. L. r. 1a"/>
<1-=- D.10.7. 1.x. la: MedDRA Version for Medical History #I —>
(tem D.10.7. 1.1 1b: Medical History (disease / surgical procedure/ cte.) (MedDRA code) BI —>
{effectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
-~ D.10.7. L r.2: Start Date #1 ~->
<high value="200901017/>
{J-- D.10.7.1.r.4: End Date #1 ——>
</effectiveTime>
<outboundRelationship2 typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
¢code code="10" codeSystem="2. 16. 840, 1. 113883, 3,989. 2. 1. 1. 19” displayName="comment”/>
<yalue xsittype="ED7>D, 10.7. L. r.5¢/value>
= D.10.7. L. 1.5 Comments #1 —>
{/cbservation>
<{/outhoundRelationship2>
¢inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
Scode code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="continuing”/>
<value xsittype="BL” value="true”/>
<}== D.10.7. L.r.3: Continuing #1 —>
</observation>
</inboundRelationship>
{/observation>
</component?
<component typeCode="COMP™>
(observation classCode="0BS” moodCode="EVN">



<code code="D, 10.7. 1. . Ib" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="D.10.7.1.r.1a"/>
¢1--= D.10.7. 1. r. 1a: MedDRA Version for Medical History #2 ~->
<1~ D.10.7.1.r. ib: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 —>
CeffectiveTime xsi:type="IVL_TS™>
<Jow value="200901017/>
¢}=—D.10.7. 1L.xr.2: Start Date #2 -~>
<high value="200901017/>
<l-~ D.10.7. L.r. 4: End Date #2 ~—>
</effectiveTime>
<authoundRelationship2 typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="comment”/>
<value xsi:type="ED">D. 10.7. 1. r.5¢/value>
<l 0.10.7.1.r.5: Comments #2 —>
{/observation>
</outboundRelationship2>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” mocdCode="EVN™> i
Ceode code="13" codeSystem="2. 16. 840. 1. 113883, 3. 980. 2. 1. 1. 19" displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<1-- D.10.7. 1.1.3: Continuing #2 ~->
{/cbservation>
</inboundRelationship>
{/observation>
</component>
<component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
Ccode code="18" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. L. 1. 197 displayName="historyAndConcurrentConditionText”/>
<value xsitype="ED7»D. 10.7, 2<{/valued>
(le= D.10.7.2¢ Text for Relevant Medical History and Concurrent Conditions of Parent —>
¢/observation>
</component>
</organizer>
</subject0f2>
<subject0f2 typeCode="SB]™>
<organizer classCode="CATEGORY” moodCode="EVN">
(code code="2" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 20" displayName="drugHistory”/>
<component typeCode="COMP”>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS">
{low value="200901017/>
<4— D.10.8.xr.4: Start Date #1 -~
<high value="2009801017/>
<!— D.10.8.r.5: End Date #1 ~—>
/effectiveTime>
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
<code code="D. 10, 8. r. 2b” codeSystem="TBD-MPID" codeSystemVersion="D. 10.8.xr.2a"/>
{1-~ D.10.8. 1. 2a: MPID Version Date / Number #1 -—>
¢l D, 10. 8. 1. 2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10, 8. r. 1{/name>
<l—— D.10.8.r.1: Name of Drug as Reported ¥l —>
</kind0OfProduct>
</instance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” wmoodCode="EVN">
Ceode code="19" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE" code="D. 10.8.r.6b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10, 8.x. 62" />
-~ D.10.8.r.6a° MedDRA Version for Indication #1 ——>
<=~ D.10.8.r.6h: Indication (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="CAUS™>
Cobservation classCode="0BS” moodCode="EVN">
Ccode code="29" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" displayName="reaction”/>
<value xsi:type="CE” code="D. 10.8.r.7b” codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="D. 10.8.7.7a"/>
¢l~~ D.10.8.r.7a: MedDRA Version for Reaction #1 —>
<1=— D.10.8.r.7b: Reactions (MedDRA code) #1 -~
{/observation>
</outboundRelationship2>
</substanceAdministration>
{/component>
{component typeCode="COMP™>



¢substanceAdministration classCode="SBADM™ moodCode="EVN">
<effectiveTime xsi:type="TVL_TS">
Clow value="20090101"/>
(I-- D.10.8.r. 4! Start Date #2 ~>
<high value="20090101"/>
<!— p.10.8.1r.5: End Date #2 —>
<feffectiveTime>
<consumahle typeCode="CSY">
<instanceOfKind classCode="INST™>
CkindOfProduct classCode="MMAT™ determinerCode="KIND™>
<code code="D.10.8.r.3b" codeSysten="TBD-PhPID” codeSystenVersion="D. 10.8.r.3a"/>
<t~ D.10.8. 1. 3a: PhPID Version Date / Number #2 -->
¢l-— D.10.8.r. 3b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>D, 10. 8. r. 1{/name>
(t D.10.8. 1. }: Name of Drug as Reported #2 —>
</kindOfProduct>
</instance0fKind>
{/consumable>
CouthoundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
(code code="19" codeSystem="2. 16, 840, 1. 113883. 3, 989. 2, 1. 1. 197 displayName="indication”/>
¢value xsi:type="CE” code="D.10.8.r.6b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D, 10. 8.r. 62" />
¢lew D.10.8.1.6a: MedDRA Version for Indication #2 —>
== D.10.8.r.6b: Indication (MedDRA code) #2 —>
{/chservation?
</outhoundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
Cobservation classCodes"0BS” moodCode="EVN™>
Ccode code="29" codeSystem="2. 16, 840. 1. 113883. 3,989, 2. 1. 1. 19" displayName="reaction”/>
<value xsi:type="CE” code="D. 10.8.r.7b” codeSystem="2. 16, 840. 1. 113883. 6. 1637 codeSystenVersion="D. 10. 8. 1. Ta"/>
¢l-- D.10.8.r. 7a: MedDRA Version for Reaction #2 ——>
¢1— D.10.8. 1. 7b: Reactions {(MedDRA code) 82 ~—>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
</component>
{/organizer>
</sub jectOf2>
{/role>
</playerl>
<subjectOfl typeCode="SB]">
(researchStudy classCode="CLNTRL™ moodCode="EVN™>
{id extension="C.5.3" root="2, 16.840. 1.113883.3.989.2.1.3.5"/>
Ve (. 5.8 Sponsor Study Number -->
<code code="C. 5.4 codeSystem="2, 16. 840. 1. 113883.3.989.2.1.1.87/>
(1 €.5.4: Study Type Where Reaction(s) / Event(s) Were Observed -->
<titledC. 5 2¢/title> )
{t— C.5.2: Study Name ——>
<authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
¢id extension="C.5.1.r.1” root="2.16.840. 1. 113883. 3. 989.2. 1. 3.6"/>
¢t C.5.1.r.1: Study Registration Number #1 ——>
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™
<eode code="C.5.1.r.2" codeSystem="1.0.3166,1.2.2°/>
¢l C.5.1.r.2: Study Registration Country #1 ~->
{/governingPlace>
</territorialAuthority>
</author>
{/studyRegistration>
{/authorization>
{authorization typeCode="AUTH">
(studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.1.1" root="2. 16, 840. 1. 113883. 3. 989. 2. 1. 3. 67/>
I C.5.1. 1.1 Study Registration Number #2 -—>
Cauthor typeCode="AUT™>
(territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1.0.3166.1.2.27/>
¢le= C.5.1.1.2: Study Registration Country #2 —>
{/governingPlace>
</territorialAuthority>
{/author>
¢/studyRegistration>



</authorization>
{/researchStudy>
{/subjectOf1>
<subject0f? typeCode="SBI™>
{observation classCode="0BS" moodCode="EVN">
Ccode code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayNome="age”/>
<yalue xsiitype="PQ” value="10" unit="D.2.2b"/>
¢(l=- D.2.2a: Age at Time of Onset of Reaction / Event (number) —>
¢1— D.2.2b: Age at Time of Onset of Reaction / Event (unit) —=>
{/observation>
</subjectDf2>
<{subject0f2 typeCode="SB}">
{observation classCode="0BS" moodCode="EVN">
¢code code="16" codeSystem="2.16.840. 1, 113883.3.989. 2. 1. 1. 19" displayName="gestationPeriod”/>
<value xsiitype="PQ” value="10" unit="D.2. 2. 1b"/>
¢!— D.2.2.1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) -—>
<l— D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —->
{/observation>
{/sub jectOf2>
<subjectOf2 typeCode="SB]™>
{ohservation classCode="0BS" moodCode="EVN">
<code code="4" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19”7 displayName="ageGroup”/>
<value xsiitype="CE” code="D. 2. 3" codeSystem="2, 16.840. 1. 113883, 3.989.2.1.1.9"/>
<l-— D.2.3: Patient Age Group (as per reporter) ——>
{/observation>
</subject0f2>
{subjectOf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN">
{code code="7" codeSystem="2. 16.840. 1. 113883. 3, 989. 2. 1. 1. 19" displayName="hodyWeight”/>
<value xsittype="PQ” value="48. 2" unit="kg"/>
{t— D.3: Body Weight (kg) ~->
{/observation>
</subjectOf2>
<subjectOf2 typeCode="SBJ">
(observation classCode="0BS” moodCode="EVN™>
Ccode code="17" codeSystem="2. 16.840. 1. 113883. 3, 989. 2. 1. 1. 19" displayName="height”/>
<value xsittype="PQ" value="152" unit="en"/>
<1— p.4: Height (cm} —>
{/observation>
</subject0f2>
<subject0f2 typeCode="SB]™>
{observation classCode="0BS” moodCode="EVN™>
<code code="22" codeSystem="2. 16.840. 1. 113883.3. 989, 2. 1. 1. 19" displayName="lastMenstrualPericdDate”/>
<value xsi:type="TS” value="200901017/>
(l— D.6: Last Menstrual Period Date -—>
{/observation>
</subject0f2>
<subject0f2 typeCode="SB]™>
Corganizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" displayName="relevantMedicallistoryAndConcurrentConditions™/>
<component typeCode="COMP™>
{ohservation classCode="0BS”™ moodCode="EVN™>
{code code="D.7.1.r.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystenVersion="D.7. 1. r.1a"/>
¢l== D.7.1.r. la: MedDRA Version for Medical History #1 —>
<I== D.7.1.1. 1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 -—>
{effectiveTime xsi:type="IVL_TS™>
{low value="20080101"/>
{— D, 7. 1.1.2: Start Date #1 —>
<high value="200901017/>
I-=D.7.1.r.4: End Date #1 ~~>
{JfeffectiveTime>
<outboundRelationship2 typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="comment”/>
<value xsiitype="ED">D. 7. 1. r. 5</value>
¢le=D.7.1.r.5: Comments #I ~>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="EXPL™>
<observation classCode="0BS” moodCode="EVYN">
(code code="38" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1. 18" displayName="familyHistory”/>
Cvalue xsiitype="BL™ value="true”/>
<l D.7.1.r.6: Family History §1 ——>
{/observation>
</outboundRelationship2>



{inboundRelationship typeCode="REFR">
(observation classCode="0BS" moodCode="EVN™>
(code code="13" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="continuing”/>
Cyalue xsi:type="BL" value="true”/>
<t P.7.1.1. 3% Continuing 1 —>
{/observation>
</inboundRelationship>
{/observation>
{/component>
<compenent typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
<code code="D. T. 1. 7. 1b” codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 7. L.r. 1a"/>
(1= D.7.1.r.1a: MedDRA Version for Medical History #2 —>
¢l-—~ D.7.1.r. 1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 ~>
{effectiveTime xsiitype="IVL_TS™>
{low value="20090101"/>
¢l-— D.7.1.r.2: Start Date &2 —>
¢high value="200901017/>
¢t D.7.1. 7.4} End Date #2 —>
</effectiveTime>
<outboundRelationship2 typeCode="COMP™>
(observation classCode="0BS" moodCode="EVN™>
(code code="10" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="comment”/>
(value xsittype="BD™>D.7. 1. r.5¢/valued
== B.7. 1. r. 5 Comments #2 —->
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="EXPL™>
{observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2, 16. 840. 1. 113883, 3.989. 2. 1. 1. 197 displayName="FfanilyHistory”/>
<value xsi:type="BL” value="true”/>
(lew B, 7. 1. 1.6 Family History #2 ~—>
</observation>
</outboundRelationship2>
¢inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
(code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="continuing”/>
Cyalue xsittype="BL" value="true”/>
¢t~ D.7.1. 1.3 Continuing #2 —>
{/observation>
</inboundRelationship>
{/observation>
</component?
<component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
<code code="18" codeSystem="2. 16.840.1,113883.3.989.2. 1. 1. 19" displayName= “historyandConcurrentConditionText” />
<value xsi:type="ED">D. 7. 2<{/value
¢1-— D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction / event) ——>
{/observation>
{/component>
<component typeCode="COMF™>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” displayName="concomitantTherapy”/>
Cvalue xsi’type="BL” value="true”/>
¢l=- P.7.3: Concomitant Therapies —>
{/observation>
</component>
{/organizer>
{/subject0f2>
<subjectOf2 typeCode="SBJ™>
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 20" displayName="drugHistory”/>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADH” moodCode="E¥N">
<effectiveTime xsi:type="IVL_TS8">
{low value="20090101"/>
{1— D.8.r.4: Start Date #1 —>
<high value="200901017/>
{!-~ D.8.r.5: End Date #1 ——>
</effectiveTime>
<consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 8. 1. 2b" codeSystem="TBD-MPID” codeSystemVersion="D.8.r.2a"/>
(- D.8.r.2a: MPID Version Date / Number #I ~>

- =



(1=~ 1.8.r.2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 8. r. 1{/name>
¢te- D.8.r. 1! Name of Drug as Reported #1 —>
</kind0fProduct>
</instance0fKind>
</consumable>
<outboundRelationship? typeCode="RSON">
<observation classCode="0BS” moodCode="EVN™>
<code code="19" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
Cvalue xsiitype="CE” code="D.8.r.6b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 8. r. 62" />
<le~ D8, r.6a: MedDRA Version for Indication #1 —>
¢i~~ D.8.r.6b: Indication (MedDRA code) #1 ——>
</observationd
</outboundRelationship2>
CoutboundRelationship? typeCode="CAUS">
{observation classCode="0BS" moodCode="EVN™>
Ccode code="29" codeSystem="2. 16. 840, 1. 113883. 3. 889. 2. 1. 1. 19” displayName="reaction”/>
<yalue xsiitypes"CE” code="D. 8. 1. 7b” codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 8. r. 7a"/>
<4 [1.8. r. 72’ MedDRA Version for Reaction #1 ——>
¢l=- 1.8, r.7b: Reaction (MedDRA code) #1 —->
</observation>
<{/outboundRelationship2>
{/substanceAdministration>
<{/component>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADW" moodCode="EVN™>
CeffectiveTime xsi:type="IVL_TS8™>
{low value="20090101"/>
{I=- D.8.r. 4: Start Date #2 —>
<high value="200801017/>
{4~ D.8. 1.5 BEnd Date H2 —>
</effectiveTime>
<consumable typeCode="CSH™>
<instance0fKind classCode="INST™>
(kind0fProduct classCode="¥MAT" determinerCode="KIND">
Ccode code="D. 8. r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.r.3a"/>
{!-- D.8.r.3a: PhPID Version Date / Number ——>
<i-- D.8.r.3b! Pharmaceutical Product Identifier (PhPID) #2 —>
<namedD. 8. ¢, 1{/name>
- D.8.1.1: Name of Drug as Reported #2 —>
</kind0fProduct>
¢/instance0fKind>
{/consumabled
<outboundRelationship? typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
Cvalue xsi:type="CE” code="D.8.r.6b" codeSystem="2. 16.840. 1. 113883. 6. 1637 codeSystemVersion="D. 8. r. 6a"/>
(1w~ D. 8. r.6a: MedDRA Version for Indication #2 —>
{1~ D.8.r.6b: Indication (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationshipZ typeCode="CAUS™>
{observation classCode="0BS” moodCode="EVN">
Ccode code="29" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reaction”/>
Cyalue xsiitype="CE” code="D.8.r.7b" codeSystem="2.16.840. 1. 113883, 6. 163" codeSystemVersion="D. 8. r. 7Ta”/>
(1 D. 8 r. 7a: MedDRA Version for Reaction #2 ~->
¢l~~ D.8.r.7b: Reaction (MedDRA code) #2 ——>
{/observation>
<{/outboundRelationship2>
{/substanceAdministration>
</component>
{/organizer>
</subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
(code code="32" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. . 1. 19” displayName="reportedCauseOfDeath”/>
Cvalue xsiitype="CE” code="D.9,2.r.1b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D. 9. 2.r. 1a">
(e D.9. 2.1, 1a: MedDRA Version for Reported Cause(s) of Death #1 —>
¢i== 1.9.2. r. 1b: Reported Cause(s) of Death (MedDRA code) #1 —->
<originalText>D. 9. 2. r. 2{/originalText>
(== D.9.2.7.2: Reported Cause(s) of Death (free text) #1 —>
{/value>
{/observation>
<(/subjectOf2>
<subjectOf? typeCode="SBI™>



{observation classCode="0BS” moocdCode="EVN">
{code code="32" codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 197 displayName="reportedCauseOfDeath”/>
¢value xsi:type="CE” code="D.9.2.1r.1b" codeSysten="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="D.9.2.r. 1a™>
¢i— D.9.2.r. la: MedDRA Version for Reported Cause(s) of Death #2 —>
¢l—- D.9.2.1. 1b: Reported Cause(s) of Death (MedDRA code) #2 —>
CoriginalText>D. 9. 2. r. 2<{/originalText>
¢l== D.9.2.1.2: Reported Cause(s) of Death (free text) #2 -—>
<fvalue>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ">
¢observation classCode="0BS” moodCode="EVN">
Ccode code="5" codeSystem="2. 16.840. 1. 113883, 3,989, 2. 1. 1. 19" displayName="autopsy”/>
<yalue xsiitype="BL" value="true”/>
¢1— D.9.3 Was Autopsy Done? =~—>
ZoutboundRelationship? typeCode="DRIV™>
<observation classCode="0BS" moodCode="EVN">
Ceode code="8" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="causeOfDeath”/>
Cvalue xsiitvpe="CE” code="D.9.4.r1.1b" codeSysten="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D. 9. 4. r. 12"
¢l D.9.4.r. la: MedDRA Version for Autopsy-determined Cause(s) of Death #1 ——>
¢l-- D.9. 4. 1. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 —>
CoriginalText>D. 9. 4, r. 2{/originalText>
¢1—— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) I ——>
</valued
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="DRIV™>
<observation classCode="0BS” moodCode="EVN">
Ccode code="8" codeSystew="2. 16.840. 1. 113883.3.989.2. 1. 1. 19" displayName="cause0fDeath”/>
<value xsiitype="CE” code="D.9.4.r.1b” codeSystem=”2‘16.840‘1.113883A6.163’ codeSystenVersion="D. 9. 4. 1. 1a™>
¢t D.9.4. 7. la: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —>
¢l-~ D.9.4. r. 1b Autopsy-determined Cause(s) of Death (HedDRA code) #2 —>
CoriginalText>D. 9. 4. r. 2</originalText>
¢l— D.9. 4, r.2: Autopsy-determined Cause(s) of Death (free text) #2 ——¥
{fvalued
{/observation?
</outhoundRelationship2>
{/observation>
{/subjectDf2>
{subject0f2 typeCode="SB]">
(observation classCode="0BS” moodCode="EVN">
<id root="154¢b889-958b-45f2-a02f~42d4d6F 465757 />
Ccode code="28" codeSystem="2. 16, 840. 1. 113883, 3.089.2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
{low value="200901017/>
(1-- E.i.4: Date of Start of Reaction / Event ¥l -->
<high value="20080102"/>
¢l E.i.5: Date of End of Reaction / Event #1 —>
SeffectiveTime>
¢value xsiitype="CE” code="E. i, 2. 157 codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="E. i.2. 1a">
¢l B, i.2. la: MedDRA Version for Reaction / Event 1 —>
(l-- B.i.2.1b: Reaction / Event (MedDRA code) #1 —>
CoriginalText language="E.i.1.1b">E. 1. 1. lal/originalText>
¢1~- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #1 ——>
¢l— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 ——>
{/value>
<location typeCode="LOC">
{locatedEntity classCode="LOCE">
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.i.9” codeSystem="1.0.3166.1.2.27/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 —>
</locatedPlace>
</locatedEntity>
<{/location>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 187 displayName="reactionForTranslation”/>
<value xsi:type="ED"DE.i. L. 2</value>
<l-~ E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 -
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
(observation classCode="0BS” moodCode="EVN™>
<code code="37" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. L. 1. 18" displayName="termHighlightedByReporter”/>
Cyalue xsiztype="CE” code="E.i.3.1" codeSysten="2, 16. 840. 1. 113883. 3.989. 2. 1. 1. 10"/>
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¢}~ E.i.3.1: Term Highlighted by the Reporter #1 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16.840. 1, 113883.3.989.2,1. 1.
<value xsi:type="BL" value="true”/>
<{— E.i.3.2a Results in Death #1 —>
{/observation>
{/outboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840. 1, 113883.3.989.2.1. 1.
<value xsi:type="BL” nullFlavor="N1"/>
<l-— E.i.3.2b: Life Threatening #1 —>
{/observation>
</outhoundRelationship2>
<putboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840.1.113883.3.989.2. 1. 1.
<value xsi:type="BL" value="true”/>
<I— E.i.3.2c: Caused / Prolonged Hospitalisation #1 ~->
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16.840. 1. 113883, 3. 988
<value xsiitype="BL” nullFlavor="NI"/>
<f-— E. i.3.2d: Disabling / Incapacitating ¥1-->
{/observation>
</outbottndRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
<yalue xsi:type="BL" nullFlavor="NI"/>

2.1 1.

<l-— E.i.3.2e: Congenital Anomaly / Birth Defect #1 -->
{/observation>
</outhoundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840.1.113883.3.989.2. 1. 1.

<value xsiitype="BL” value="true”/>
(1=~ E.1i.3.2f: Other Medically Important Condition #1 ~>
{/observation>
</outboundRelationship2>
<outhoundRelationshipZ typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

197

197

197

19"

197

197

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

(code code="27" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="outcome”/>
Cvalue xsi:type="CE” code="E.i.7” codeSystem="2.16. 840. 1. 113883, 3.989. 2. 1. L. 11”/>
¢le- E.i.7: Outcome of Reaction / Bvent at the Time of Last Ubservation #1 —>

{/observationd
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

<code code="24" codeSystem="2. 16.840. 1, 113883, 3. 989. 2. 1. 1. 18" displayName="medicalConfirmationByHeal thProfessional”/>

<value xsiitype="BL” value="true”/>

<!~ E. i.8: Medical Confirmation by Healthcare Professional #1 ——>

{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="FPERT™>
Cohservation classCode="0BS” moodCode="EVN">

<eode code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="3% - §£407/>
Cvalue xsiztype="CE” code="J2.14.1” codeSystem="2, 16.840. 1. 113883.3.989.5.1.3.2.1.8"/>

<l @E8J2. 14. 1 & - FEa #1 -
{/observation>
</outboundRelationship2>

{/ohservation>
</subject0f2>
<subject0f2 typeCode="SBJ™>

Cobservation classCode="0BS” moodCode="EVN™>
<id root="2baa28d6-c9eB-4ebc-93¢9-5b860b3142207/>

Ccode code="29" codeSystem="2, 16, 840. 1. 113883, 3.989. 2, 1. 1. 19" displayName="reaction”/>

CeffectiveTime xsi:type="IVL_TS™>
<low value="200901017/>
<1~ E.i.4: Date of Start of Reaction / Event #2 ——>
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(width value="24" unit="E. i.6b"/>

¢t~ E.i.6a: Duration of Reaction / Event (number) #2 —>

¢l=~ E.i.6b: Duration of Reaction / Event (unit) #2 —>
{/effectiveTime>

<value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163

¢l=- E. .2 1a: MedDRA Version for Reaction / Event #2 —>
(1= B.i.2.1b: Reaction / Event {MedDRA code} #2 —>

¢originalText language="E. i.1.1b">E. i. 1. la{/originalText>

codeSystemVersion="E. 1. 2. 1a™>

¢1— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 -
{l-- E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #2 —~>

</valued
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
ClocatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
Ccode code="E. 1.9" codeSystem="1.0.3166.1.2.2"/>

(l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 -->

</locatedPlace>
¢/locatedEntity>
{/location>
<outboundRelationship? typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">

Ccode code="30" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19"

<value xsi:type="ED"DE.i.1.2<¢/value>
- E.i.1.2:
{/observation’
<{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS" moodCode="EVN">

(code code="37" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19”7

displayName="reactionForTranslation”/>

Reaction / Event as Reported by the Primary Source for Translation #2 >

displayName="termHighlightedByReporter”/>

<value xsitype="CE” code="E.i.3.17 codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 107/>

¢l~= E. 1.3, 1:Term Highlighted by the Reporter #2 -->
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>

{code code="34" codeSystem="2, 16.840. 1. 113883, 3.989. 2. 1. 1. 197

<value xsi:type="BL” value="true”/>
¢l— E.i.3.2a: Results in Death #2 —>
{/observation>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>

Ccode cade="21" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”

<value xsi’type="BL” nullFlavor="NI"/>
(=~ E.1i.3.2b: Life Threatening #2 ——>
{/observation®
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

<code code="33" codeSystenm="2.16.840. 1. 113883.3.989.2.1.1.18"

<value xsi:type="BL" value="true”/>
¢{—~ E.1i.3.2c: Caused / Prolonged Hospitalisation #2 —>
{/cbservation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

(code code="35" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 187

<value xsi:type="BL” nullFlaver="NI"/>
<)== E.i.3.2d: Disabling / Incapacitating #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>

Ccode code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. L. 1. 19"

Cvalue xsi:type="BL” nullFlavor="NI"/>
<l=- E.i.3.2e: Congenital Anomaly / Birth Defect #2
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>

<code code="26" codeSystem="2,16.840, 1. 113883.3.989.2.1.1.19”

<vslue xsiztype="BL” value="true”/>
¢l-— E.i.3.2f: Other Medically Important Condition #2 —>
{/observation>
¢/outboundRelationship2>
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displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAncmalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>



<outboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS” moodCode="EVN">
(code code="27" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayNane="cutcome”/>
<value xsiitype="CE” code="E.i.7” codeSystem="2.16.840.1.113883.3.989.2. 1. 1. 11"7/>
<}— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
Cobservation classCode="0BS” moodCode="EVN">
Ccode code="24" codeSystem="2, 16. 840. 1. 113883. 3. 989.2.1.1. 197 displayName="medicalConfirmationByHealthProfessional />
<value xsiitype="BL" value="true”/>
¢!— E.i.8: Medical Confirmation by Healthcare Professional #2 —>
{/observation>
{/outboundRelationship2>
<outhboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
¢code code="11" codeSystem="2. 16. 840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 107 displayName="3c/n - BEA0"/>

<value xsiitype="CE” code="J2.14.1" codeSystem=”2.16.840‘l,}13883,3.989,5‘1.3.2.1.8’/)
<i-- @88J2.14.1 K& - B H2 -
{/observation>
</outboundRelationship2>
{/observation>
{/subject0f2>

<subjectOf2 typeCode="SBJ">
<observation classCode="0BS” moodCode="EVN™>
<id root="3a8626chb-9f1b~deaB-8a0f-e0f £34430adf”/>
Ccode code="28" codeSystem="2. 16.840. 1. 113883.3. 989, 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.i.6b"/> .
¢l-~ BE.j.6a: Duration of Reaction / Bvent (number) #3 -->
¢l E. i,6b: Duration of Reaction / Event (unit) #3 —>
<high value="20101201"/>
<l-- E.i.5: Date of End of Reaction / Event 3 ——>
<feffectiveTime>
Cvalue xsi:type="CE” code="E.1i.2. 1b" codeSystem="2. 16.840. 1. 113883.6. 163" codeSystemVersion="E. 1. 2. 1a"™>
¢i-- E.i.2.1a: MedDRA Version for Reaction / Event #3 -—> :
¢I-— E.1i,2. 1b: Reaction / Event (MedDRA code) #3 ——>
<originalText language="E.i.1. 1b">E. 1.1 lal/originalText>
{I~— E.i.1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #3 ~—>
¢]=— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language 3 —
</value>
<location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E. 1.9” codeSystem="1.0.3166.1.2.27/>
{i-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
</locatedPlace>
{/locatedEntity>
</location>
<outhoundRelationship2 typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN™>
Ccode code="30" codeSystem="2. 16, 840. 1. 113883, 3. 989.2. 1. 1. 197 displayName="reactionForTranslation”/>
<value xsi:type="ED"DE. i. 1. 2{/valued
(1~ B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<eode code="37" codeSystem="2. 16. 840, 1, 113883. 3,989, 2. 1. 1. 19" displayName="ternHighlightedByReporter”/>
Cvalue xsitype="CE” code="E.1.3.1” codeSystem="2.16.840. 1. 113883 3.989.2.1. 1. 107/>
(le— E.i.3 1:Term Highlighted by the Reporter #3 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
Ccode code="34" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="resultsInDeath”™/>
<value xsiitype="BL” value="true”/>
¢}-- E.i.3.2a: Results in Death #3 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
Sobservation classCode="0BS” moodCode="EVN™>
<code code="21" todeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<i-- E.i.3.2b: Life Threatening #3 > -
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{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
(observation classCode="0BS" moodCode="EYN™>
<code code="33" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 19" disp]ayName=’requircsInpatientHospitalization"/)
<yalue xsi‘type="BL” value="true”/>
¢}— E.i.3.2c: Caused / Prolonged Hospitalisation #3 —>
{/observation>
</outboundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="35" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 197 displayName="resultsInPersistentOrSignificantDisability”/>
Cvalue xsiitype="BL” nullFlavor="NI"/>
¢l-~ E.i.3.2d4: Disabling / Incapacitating #3 —>
{/ohservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16,840, 1. 113883.3.089.2.1.1. 197 displayName="congenitalAnomalyBirthDefect™/>
<value xsiitype="BL” nullFlavor="NI"/>
¢l-— E.i.3.2e: Congenital Anomaly / Birth Defect #3 -—>
{/observation?
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>
<code code="26" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 187 displayName="otherMedicallylmportantCondition”/>
<value xsiftype="BL” value="true”/>
¢l-— E.1i.3.2f: Other Medically Important Condition #3 —->
{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
Ceode code="27" codeSystem="7. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="outcome”/>
<yalue xsi:type="CE” code="E. 1. 7" codeSysten="2. 16. 840, 1. 113883.3.989.2. 1. 1. 11"/>
<l-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 >
</ebservation>
</outboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
(ohservation classCode="0BS" moodCode="EVN™>
Ccode code="24" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1. 197 displayName="medicalConfirmationByHealthProfessional™/>
<yalue xsiitype="BL” value="true”/>
(1— E.i,8: Medical Confirmation by Healthcare Professional #3 -->
{/observation>
</outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
(observation classCode="0BS" moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 107 displayName="3R% - BEX"/>
¢value xsiitype="CE” code="J2.14.1" codeSystem="2. 16.840. 1. 113883. 3. 989. 5.1.3.2.1.8°/>
<I-- 888J2.14. 1 KM - BLaw 43 >
{/observation>
</outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]”>
(observation classCode="0BS" moodCode="EVN">
<id root="2¢99840f-08b4-499¢-80ff-ddB415F4f8as"/>
Ccode code="29" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="SXPR_TS™
<comp xsi:type="IVL_TS™>
<low value="200901017/>
¢l E. i.4: Date of Start of Reaction / Event §4 -——>
<high value="20101201"/>
¢l== E.i.5: Date of End of Reaction / Event 84 —
{/comp>
{comp xsiitype="IVL_TS” operator="A">
<width value="24" unit="E. i.6b"/>
¢l-~ B.i.6a: Duration of Reaction / Event (number) #4 —>
¢l—- E.i,6b: Duration of Reaction / Event (unit) #4 —>
{/comp>
</effectiveTime>
Svalue xsi:type="CE” code="E.i.2.1b" codeSystem="%. 16, 840. 1. 113883. 6. 163" codeSystemVersion="E. i. 2. 1a”>
¢l E.i.2.la: MedDRA Version for Reaction / Event #4 —>
¢l— B.i.2.1b: Reaction / Event (MedDRA code) #4 —>
SoriginalText language="E.1i.1.1b">E. 1. 1. la¢/originalText>
(=~ E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #4 >
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{l- B.1i.1.1b: Reaction / Event as Reported by the Primary Source Language #4 —>
<{/valued
{location typeCode="LOC">
locatedEntity classCode="LOCE™
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.1.9” codeSystem="1.0.3166.1.2.27/>
¢l B, §.9: Identification of the Country Where the Reaction / Event Occurred #4 ~—>
</locatedPlace>
</locatedBntity>
</location>
<outboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN™>
<code code="30" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2, 1, 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="ED"DE. i. 1. 2{/value>
¢l-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 -->
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN"™>
Ccode code="37" codeSystew="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="ternHighlightedByReporter™/>
<value xsi:type="CE” code="E.i.3.17 codeSystem="2. 16, 840. 1. 113883.3.989.2. 1. 1. 10"/>
<l=— E.1.3.1:Term Highlighted by the Reporter ¥4 -—>
{/observation>
<{/outboundRelationship2>
CouthoundRelationship2 typeCode="PERT">
{chservation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 13" displayName="resultsInDeath”/>
<value xsiitype="BL” value="true”/>
¢I-— E.i.3.2a: Results in Death #4 -—>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
<code code="21" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢l— B, i.3.2b: Life Threatening #4 -—>
{/observation>
<{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="33" codeSystem="2. 16.840. 1, 113883, 3. 989, 2. 1. 1. 19" displayName="requiresInpatientHospitalization”/>
<value xsiltype="BL” value="true”/>
1w~ E.{.3.2c: Caused / Prolonged Hospitalisation #4 -->
{/observation>
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>
Ceode code="35" codeSystem="2, 16, 840. 1. 113883, 3.989.2.1. 1. 197 displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
<i— E.i.3.2d: Disabling / Incapacitating #4 ——>
{/observation>
¢/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN™>
<code code="12" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="congenitalAnomslyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
<1—— E.i.3.2¢: Congenital Anomaly / Birth Defect #4 —->
{/observation>
{/ontboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN"> .
<code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="otherMedicallyInportantCondition”/>
<value xsi:type="BL” value="true”/>
<1~ E.i.3.2f: Other Medically Important Condition #4 —>
</observation>’
{/outboundRelationship2>
{otitboundRelationship? typelode="PERT™>
(observation classCode="0BS" moodCode="EVN">
<eode code="27" codeSystem="2. 16.840. 1. 113883. 3. 689. 2. 1. 1. 19" displayNeme="outcome”/>
Cvalue xsittype="CE” code="E.i.7" codeSystem="2.16.840. 1, 113883.3.989,2. 1. 1.117/>
{l-— B.i.7: Outcome of Reaction / Event at the Time of Last Observation #4 ~—>
{/observationd
</outboundRelaticnship2>
<outboundRelationship2? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
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<code code="24" codeSystem="2. 16.840. 1. 113883. 3. 889. 2. 1. 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
<t— E.i.8: Medical Confirmation by Healthecare Professional #4 -—>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2, 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1, 10" displayName="3R%0 - BE4R"/>
<value xsiitype="CE” code="J2.14.1" codeSystem="2, 16. 840. 1. 113883. 3. 989.5.1.3.2. 1.8"/>
<I-- 888J2. 14,1 K - BEa 84 —>
{/observation>
<{/outboundRelationship2>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="OBS” moodCode="EVN">
<id root="1071064c—cf10~4a3b-83c1~34£9ddbTeatd”/>
(code codo="29" codeSystem="2, 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="reaction”/>
KeffectiveTime xsi:type="IVL_TS™>
{low value="200901017/>
¢!—— E.i.4: Date of Start of Reaction / Event #5 -~>

</effectiveTime>
(value xsiitype="CE” code="E.i.2.1b" codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="E. 1. 2. 1a">
(I-— E.i.2. 1a: MedDRA Version for Reaction / Event #5 -3

{I~— E.i. 2. 1b: Reaction / Event (MedDRA code) #5 ~~>
CoriginalText language="E. i.1. 1b™E. i. 1. lad/originalTextd

¢le= E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language ¥5 ~—>
¢} B, i, 1.1b: Reaction / Event as Reported by the Primary Source Language #5 ——>
{/value>

<location typeCode="LOC">
{locatedEntity classCode="LOCE™
<locatedPlace classCode="COUNTRY" determinerCode=" INSTANCE™>
<code code="E. .9 codeSystem="1,0.3166.1,2.27/>
¢t— B.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
</locatedPlace>
</locatedEntity>
</location>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="30" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" displayName="reactionForTranslation”/>
<value xsittype="ED">E.i. 1. 2</value>
¢l-— B 1i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 ——>
{/observationy
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2, 16. 840. 1. 113883. 5. 989. 2. 1. 1. 19" displayName="ternHighlightedByReporter”/>
<value xsiitype="CE” code="E. i.3.1” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 107/>
<l—— E.i.3. 1:Term Highlighted by the Reporter #5 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
Ceode code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1. 19" displayName="resultsInDeath”/>
Cvalue xsi:type="BL" value="true”/>
¢l—— E.i.3, 2a’ Results in Death #5 —>
</observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVYN™>
<{code code="21" codeSystem="2.16.840.1. 113883.3.989,2.1, 1. 18
<value xsi:type="BL” nullFlavor="NI"/>
<i-- E.i,3.2b: Life Threatening #5 ——>
{/observation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2, 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19
<value xsi:type="BL” value="true”/>
¢J-- E.i.3.2c: Caused / Prolonged Hospitalisation #5 ——>
{/cbservation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
(code code="35" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>

displayName="isLifeThreatening”/>

P

displayName="requiresInpatientHospitalization”/>
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<value xsi:type="BL” nullFlavor="NI"/>
(1=~ B i.3,2d: Disabling / Incapacitating #5 -~>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16. 840, 1, 113883.3.989.2.1.1. 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlaver="RI"/>
¢(le= E. i.3.2e: Congenital Anomaly / Birth Defect #5 —>
{/observationd
<{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN™>
<code code="26" codeSystem="2, 16.840. 1. 113883. 3. 989.2.1. 1. 19" displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
<l—- E.i.3.2f: Other Medically Important Condition #5 —>
{/observation)
</outboundRelationship2>
¢outboundRelationship2 typeCode="PERT™>
lobservation classCode="0BS” moodCode="EVN™>
Ceode code="27" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="outcome”/>
(value xsi:type="CE” code="E.1.7” codeSystem="2.16.840.1.113883.3.989.2.1. 1. 11"/>
¢l— E.i,7: Outcome of Reaction / Event at the Time of Last Observation #5 ~->
{/observation>
</outboundRelationship2>
ZoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
¢code code="24" codeSystem="2. 16. 840, 1. 113883, 3. 989.2. 1. 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
¢l E.i.8: Medical Confirmation by Healthcare Professional #5 —>
<{/observation>
</ontboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
Ceode code="11" codeSystem="2. 16. 840. 1, 113883. 3. 986. 5. 1. 3. 2. 1. 10" displayName="3R% BEs” />
<value xsiitype="CE” code="J2.14.1" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1.8"/>
- BB8J2. 14,1 HED - BLEN RS —>
{/observation
</outboundRelationship2>
{/observation>
</sub ject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN">
¢id root="1£927283~10b6-4334-9d43-e9256401b18L" />
Ceode code="28" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1, 197 displayNeme="reaction”/>
CeffectiveTime xsi:type="TVL_TS™>
<high value="20090101"/>
<i-- E.i.4: Date of Start of Reaction / Event #6 —>
<feffectiveTime?
Cvalite xsiitype="CE” code="E.i.2. 1b” codeSystem="2, 16.840. 1. 113883. 6. 163" codeSystemVersion="E.i.2. 1la™>
<i-- £ i.2.1a’ MedDRA Version for Reaction / Event #6 ——>
¢i-— E.1i.2.1b: Reaction / Event (MedDRA code) #6 —>
{originalText language="E.i.1.1b">E. i. 1. la</originalText>
¢l-— E.i.1.1s: Reaction / Event as Reported by the Primary Source in Native Language #6 —>
{l=- E.i,1.1b: Reaction / Event as Reported by the Primary Source Language #6 ——>
</value>
<location typeCode="LOC™>
¢locatedEntity classCode="LOCE™>
ClocatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E. 1.9” codeSystem="1,0,.3166.1.2.27/>
¢l~— E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 ——>
</locatedPlace>
</locatedEntity>
" /location)
<{outboundRelationship2 typeCode="PERT™> .
{observation classCode="0BS” moodCode="EVN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="reactionForTranslation”/>
<value xsitype="ED"DE. i. 1. 2¢/value>
(=— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 ——>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2. 16.840. 1.113883. 3. 989.2.1. 1. 19" displayName="termHighlightedByReporter™/>
Cvalue xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10"/>
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¢l-= E.i.3.1:Term Highlighted by the Reporter #6 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
(observation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystew="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="resultsInDeath”/>
<value xsiltype="BL” value="true”/>
<i-— E.i.3.2a: Results in Death #6 —->
{/observation>
{/outboundRelationship2>
¢outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" mocdCode="EVN">
Ccode code="21" codeSystem="2. 16. 840, 1. 113883.3.989.2.1.1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
{l-— E.i.3.2b: Life Threatening #6 -
{/observation>
<{/outhoundRelationship2>
<outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2.1, 1. 197 displayName="requiresInpatientHospitalization™/>
<value xsiitype="BL" value="true”/> :
¢~ B i.3.2c: Caused / Prolonged Hospitalisation #6 -—>
{/observation>
</outbhoundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1. 1. 197 displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlaver="NI"/>
¢(l-— B, i.3.2d: Disabling / Incapacitating #6 —->
{/observation>
</outboundRelationshipZ>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="08S" moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883, 3.989.2.1.1.197 displayName="congenitalinomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI1"/>
¢l E.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
{/observation)
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2.16. 840, 1. 113883. 3, 989. 2. 1. 1. 197 displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
<l E.i.3.2f: Other Medically Important Condition #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
Ccode code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="outcome”/>
Cvalue xsi:type="CE” code="E.i.7" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 11"/>
(}— E.i.7: Outcowe of Reaction / Event at the Time of Last Observation 36 —>
{/observationd
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
lobservation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 197 displayName="medicalConfirmationByHeal thProfessional”/>
Cvalue xsi:type="BL” value="true”/>
¢l E.i.8: Medical Confirmation by Healthcare Professional #6 -->
{/observationd
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
(observation classCode="0BS" moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10" displayName="3R%& «BEETS
Cvalue xsi:type="CE” code="J2.14.1” codeSystem="2, 16,840. 1. 113883, 3,989.5.1.3.2.1.8"/>
Cle- GBEJ2. 14.1 KA - HEE 86
{/observation>
{/outboundRelationship2>
{/observation>
</subject0f2>
<subjectOf2 typeCode="SR]">
{observation classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f~b6bb-cel4bc279d8e”/>
<code code="29" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" displayName="reaction”/>
{effectiveTime xsi:type="IVL_T5™>
<width value="24" unit="E i.6b"/>
¢}=~ E. i, 63 Duration of Reaction / Bvent (number) #7 -->

- 17 -



¢tew B i.6b: Duration of Reaction / Event (unit) #7 >

{/effectiveTimed

<value xsiitype="CE” code="E. 1, 2.1b" codeSystem="2, 16. 840. 1. 113883, 6. 163" codeSystemVersion="E. 1.2 1a™>

{l~- E. 1,2 la: MedDRA Version for Reaction / Event #7 ——>

¢te— E.i.2.1b: Reaction / Event (MedDRA code) #7 —->

CoriginalText language="E.i.1.1b">E. 1. 1. la</originalText>

¢}—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #7 -
¢~ E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 ——>

</value>
<location typeCode="L0C">
locatedEntity classCode="LOCE™>

<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E. 1.9" codeSystew="1.0.3166.1.2.27/>
<)== E.i.9: Identification of the Country Where the Reaction / Event Occurred #7 —>

</locatedPlace>
<{/locatedEntity>
</location>
ZouthoundRelationship? typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EVN">

Ceode code="30" codeSystem="2, 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19”7 displayName="reactionForTranslation”/>

<value xsi:type="ED"DE. i. 1. 2</value>

<l== E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation 47 —>

{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT"™Y
{ohservation classCode="0BS” moodCode="EVN™>

{code code="37" codeSystem='2.16.840.14113883‘34989.2.1.¥.19’ displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.17 codeSystem="2, 16. 840. 1. 113883.3.989.2. 1. 1. 107/>
{J-— E.i.3. 1:Term Highlighted by the Reporter #7 -->

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

<code code="34" codeSystem="2, 16, 840.1.113883,3.989.2. 1. 1

<yalue xsi:type="BL” value="true”/>
<{-- E.i.3. 2a’ Results in Death #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

lcode code=721" codeSystem="2.16.840.1.113883,3.989. 2. L. L.

<yalue xsiitype="BL” nullFlavor="NI"/>
<t E.i.3.2b: Life Threatening #7 —>
{/observation>
(/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<ohservation classCode="0BS” moodCode="EVN">

<code code="33" codeSystem="2, 16. 840. 1. 113883.3.989. 2. 1. 1.

<value xsi:type="BL” value="true”/>

{l-~ E.1i.3.2c: Caused / Prolonged Hospitalisation §7 —>

{/observation)
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">

<{code code="35" codeSystem="2. 16.840.1.113883.3.989.2. 1. L.

Cvalue xsittype="BL” nullFlavor="NI"/>

<l B, i.3 2d: Disabling / Incapacitating 7 —>

{/observation>
</outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2, 16. 840. 1. 113883.3.989. 2. L. 1.

¢value xsi:type="BL” nullFlavor="NI"/>

lem B 1.3.2¢: Congenital Anomaly / Birth Defect 87 —>

{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">

<code code="26" codeSystem="2. 16.840.1, 113883.3.989.2.1. 1.

<value xsi:type="BL” value="true”/>

<4~ E. i.3.2f: Other Medically Important Condition #7 —>

{/cbservation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
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displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalanomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>



Coode code="27" codeSystem="2. 16. 840. 1. 113883, 3, 889. 2. 1. 1. 19” displayName="outcome”/>
{value xsiitype="CE” code="E.1.7" codeSystem="2, 16. 840. 1. 113883,3.989. 2. 1. 1. 117/>
{l=- E. i.7: Outcome of Reaction / Event at the Time of Last Observation #7 -->

{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
(observation classCode="0BS" moodCode="EVN">
(code code="24" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. L. 1. 197 displayName="medicalConfirmationByHealthProfessional”/>
<value xsiitype="BL” value="true”/>
¢l— E.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<eode code="11" codeSystem="2. 16.840, 1. 113883.3.989.5. 1. 3.2. 1. 10" displayName="3%0 - BEE1"/>
Cvalue xsittype="CE” code="J2.14. 1" codeSystem="2. 16. 840. 1, 113883, 3.989.5.1.3.2.1.8°/>
<l-- a2 14,1 sREm - BEf #T —
{/observation>
</outboundRelationship2>
</observation>
</subject0f2>
{subjectOf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN™>
<id root="al5he092-8070-426d-af04-6863263443c07/>
¢code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="reaction”/>
¢effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS8">
<low value="20080101"/>
¢l-~ B.i.4: Date of Start of Reaction / Event §8 -—>
<width value="24" unit="E.i.6b"/>
¢!-— E.i.6a: Duration of Reaction / Event (number) #8 -—>
{i— E.i.6b: Duration of Reaction / Event {unit) ¥8 ——>
{/comp>
Ccomp xsi:type="IVL_TS” operator="A">
<high value="201012017/>
¢l=- E.i.5: Date of End of Reaction / Event #8 —->
{/comp>
{feffectiveTime>
(value xsiitype="CE” code="E. i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E. 1. 2. 1a™>
(- E.i.2. 1a! MedDRA Version for Reaction / Event #8 ~—>
¢l=— E.i.2.1b7 Reaction / Event (MedDRA code) #8 —>
(originalText language="E. i. 1. 1b">E. 1. L. 1a{/originalText>
(}=— E.i.1.1la: Reaction / Event as Reported by the Primary Source in Native Language #8 —>
¢l-- E.1i.1.1b: Reaction / Event as Reported by the Primary Source Language #§ —>
{/value>
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY” determinerCode=" INSTANCE™>
<code code="E.1.9” codeSystem="1.0.3166.1.2.27/> A
¢t~ E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 —5
{/locatedPlace>
{/locatedEntity>
</location>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
Ccode code="30" codeSystem="2, 16, 840. 1. 113883.3.989. 2. 1. 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="ED">E. i.1.2¢/value>
¢(I— E.i.1.2: Reaction / Event as Reported by the Primsry Source for Translation H8 —->
{/cbservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
(observation classCode="0BS" moodCode="EVN">
<code code="37" codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 197 displayName="termHighlightedByReporter”/>
Cvalue xsiitype="CE” code="E.i.3.1" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 10"/>
¢l— E.1i.3.1:Tern Highlighted by the Reporter #§ ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16,840, 1. 113883.3.989.2.1.1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
¢(l-— E.i.3.2a: Results in Death #8 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
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{observation classCode="0BS” moodCode="EVN™>
Ccode code="21" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197
<value xsiitype="BL” nullFlavor="NI"/>
<!-- E.i.3.2b: Life Threatening #8 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="08S" moodCode="EVN™>
<code code="33" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1. 19"
<value xsiitype="BL” value="true”/>
¢lI-- E.1.3.2¢c: Caused / Prolonged Hospitalisation #8 —
{/observation?
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="35" codeSystew="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197
<value xsi:type="BL” nullFlavor="NI"/>
-~ B.i.3.2d: Disabling / Incapacitating #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS” moodCode="E¥N™>
<code code="12" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19"
<value xsiitype="BL” nullFlavor="N1"/>
<1— E.i.3.2e: Congenital Anomaly / Birth Defect #8 ~—>
{/observation> '
</outhoundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="E¥YN">
<code code="26" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1.1. 187
<value xsi:type="BL” value="true”/>
<l— E.i.3.2f: Other Medically Important Condition H#8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19"

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

displayName="outcome”/>

<value xsi:type="CE” code="E. 1.7 codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. L1"/>
¢l-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 -—>

{/observation>
</outhoundRelationship2>
(outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
(code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 989.2. 1. 1. 19"
<value xsiltype="BL” value="true”/>

displayName="medicalConfirmationByHealthProfessional”/>

I~— E. i.8: Medical Confirmation by Healthcare Professional #8 ~—>

{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>

<code code="11" codeSystem="2. 16. 840, 1. 113883, 3.989.5.1.3.2. 1.

107 displayName="3RH0 - BEA"/>

¢yalue xsiitype="CE” code="J2. 14.1" codeSystem="2.16.840.1. 113883.3.889.5.1.3.2.1.8"/>

<i-- @88J2. 14.1 Sithn - Bidm 88 —>
{/observation>
{/outhoundRelationship2>

{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ">

Corganizer classCade="CATEGORY” moodCode="EVN">

<code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 207 displayName="testsAndProceduresRelevantToThelnvestigation”/>

<component typeCode="COMP">
Cobservation classCode="0BS” moodCode="EVN">

<code code="F. T, 2. 2b” codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="F, r. 2. 2a">

¢l-- F.r. 2 2a: MedDRA Version for Test Name $1 —>
{I— F.r. 2 2b: Test Nome (MedDRA code) #1 -—>
CoriginalText>F. 1. 2. I</originalText>
(e E.r.2.1: Test Name {free text) HL ——>

</code>

CeffectiveTime value="200801017/>

<l— F,r.1: Test Date #1 —>

<value xsi:type="IVL_PQ™>
Ccenter value="10" unit="ng/d1"/>
<t F.r.3.2: Test Result (value / qualifier) #1 —>
¢te= F,r.3.3: Test Result (unit) #1 —>

</fvalued
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<interpretationCode code="F.r.3.17 codeSystem="2.16.840. 1. 113883.3.989.2.1.1.12"/>
(== F.r.3,1: Test Result (code) #1 -—>
CreferenceRange typeCode="REFV™>
CobservationRange classCode="0BS" moodCode="EVN. CRT">
<value xsi:type="PQ” value="40" unit="mg/d1"/>
¢}=- F.r.4: Normal Low Value #1 -—>
{interpretationCode code="L" codeSystem="2. 16, 840. 1. 113883.5.83"/>
¢{/observationRange>
<{/referenceRange>
<referenceRange typeCode="REFV™>
¢observationRange classCode="0BS” moodCode="EYN. CRT™>
<value xsi:type="PQ” value="110" unit="mg/d1"/>
<}— F.r.5: Normal High Value #1-->
{interpretationCode code="H" codeSystem="2.16. 840. 1. 113883.5. 83"/>
{/observationRange>
{/referenceRange>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" displayNape="comment”/>
<value xsi:type="ED"DF.r.6¢/value>
(Y= F.r.6: Comments (free text) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN"> .
{code code="25" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="moreInformationAvailable”/>
<value xsi:type="BL” value="true”/>
{l==F r.7: More Information Available #I -->
{/observation>
</outboundRelationship2>
{/observation>
</component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="F.1.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
(l-~ B.r.2.2a: MedDRA Version for Test Name 2 -—>
I~ F.r. 2, 2b: Test Nome (MedDRA code) #2 -—>
<originalText>F. r. 2. 1</originalText>
l-- F.r.2.1: Test Name (free text) #2 -—>
{/code>
<effectiveTime value="20090101"/>
<t— F.r.1: Test Date H#2 —>
<value xsi:type="IVL_PQ">
<low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="false”/>
</value>
lem F.1.3,2! Test Result {value / qualifier) #2 -->
<I— F.r.3.3: Test Result {(unit) #2 -->
<l-— LT 10 mg/dl #2 ~->
{/observation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
Ceode code="F.r. 2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
<t F.r. 2,23 MedDRA Version for Test Name 3 —>
¢t~ F.r.2. 2b: Test Nome (MedDRA code} #3 —>
<originalText>F.r, 2. I{/originalText>
¢l—~ R r.2.1: Test Nawe (free text) #3 —>
</code>
KeffectiveTime value="200901017/>
¢}— F.r.1: Test Date #3 —>
<value xsi:type="IVL_PQ">
<low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="true”/>
</value>
<l F.r.3.2: Test Result {(value / qualifier) #3 ~->
<l F.r.3 3: Test Result {unit) #3 —
<l-- LE 10 mg/dl #3-—>
{/observation>
</component>
Ccomponent typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r.2 2a">
<}~ F.r.2.2a: MedDRA Version for Test Name H4 —>
{le= B r.2.2b: Test Nome (MedDRA code) #4 —->
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CoriginalText>F. r. 2. 1</originalText>
(== F.r.2.1: Test Name (free text) #4 ——>
</code>
<effectiveTime value="200901017/>
¢l-— F.r.1: Test Date #4 —>
<value xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="false”/>
<high nullFlaver="PINF"/>
</value>
(== F.r.3.2: Test Result {value / qualifier) #4 —>
<!== F.r.3.3: Test Result (unit) #4 —>
<l-— GT 10 mg/dl #4 —>
{/observation>
</component>
{component typeCode="COMP™>
{ohservation classCode="0BS” moodCode="EVN™>
<code code="F, r. 2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2, 2a">
{1-- F.r.2.2a: MedDRA Version for Test Name #5 —>
¢l~~ F.r.2.2b: Test Name (MedDRA code) H#5 -->
{originalText>F. r. 2. 1</originalText>
e Bop, 2.1 Test Name (free text) #5 —>
</code>
<effectiveTime value="20090101"/>
(l—= F r.1! Test Date #6 —>
<yvalue xsi:type="IVL_PQ™>
low value="10" unit="mg/d1” inclusive="true”/>
<high nullFlavor="PINF"/>
{/value>
¢le~ F.1r.3.2: Test Result (value / qualifier) #5 ——>
<!-- F.r.3.3: Test Result {unit) #6 -—>
<l GE 10 mg/dl #5 —>
{/observation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<eode code="F.r.2.2b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="F.r.2. 22"
¢l~— F.r.2.2a: MedDRA Version for Test Name #6 ——>
<l-— F.r.2.2b: Test Nawe (MedDRA code) #6 -
<originalText>F. r. 2. I{/originalText>
=~ F.r.2.1: Test Name (free text) #6 ——>
{/code>
(effectiveTine value="200901017/>
{I— F.r.1: Test Date #6 —>
<value xsiitype="ED">F.r. 3. 4</value>
(l~— F.r.3.4: Result Unstructured Data (free text) #6 ~->
{/observation>
</component>
{/organizer>
{/subject(0f2>
{subjectOf2 typeCode="SBJ">
{organizer classCode="CATEGORY” mocdCode="EVN">
¢code code="4" codeSystew="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" displayName="drugInformation”/>
¢l G.k Drug(s) Information (repeat as necessary) #¥1 -
<component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN™>
¢id root="3c91b4d5-e039~4a7a-9c30~67671b0ef9ed />
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
¢kind0fProduct classCode="MMAT” determinerCode="KIND™>
<code code="G. k. 2. 1. 1b” codeSystem="TBD-MPID" codeSystemVersion="G.k 2. 1. 1a"/>
<l-=~ 6.k. 2. 1. 1a: MPID Version Date / Number 1 —>
= G.%. 2. 1. 1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2{/name>
(1~ G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 -—>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ™>
{approval classCode="CNTRCT” moodCode="EVN">
¢id extension="6.k.3.1” root="2. 16.840. 1, 113883.3.989.2.1.2.4"/>
(l-— G.k. 3.1: Authorisation / Application Number ¥l -->
<author typeCode="AUT">
(territorialAuthority classCode="TERR"> -
(territory classCode="NAT” determinerCode="INSTANCE™
<code code="G.k. 3. 2" codeSystem="1.0.3166.1.2.27/>
¢1~~ G.k.3.2: Country of Authorisation / Application #1 -—>
</territory>
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{/territorialAuthority>

</author>

<pertinentInformation typeCode="PERT">
{policy classCode="POLICY" moodCode="EVN">

<code code="J2.5.k" codeSystem='2.16.840,1.113883,3.989.5.1.3.2.1.4'/>
<i— egeye. 5.k —HAERLEOY RIEHH # -
{/policy>
</pertinentIinformation>
</approval>
<{/subject0f>

{subjectOf typeCode="SBJ™>
{characteristic classCode="0BS” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3, 989.5. 1.3. 2. 1. 107 displayNeme="RFEE BB DPIREL"/>
¢value xsi:type="CE” code="J2.4.k” codeSystem="2.16.840.1. 113883.3.989.5.1.3.2.1.3"/>
<I-- @8gJ2. 4.k WMERLFORRES #1 >
</characteristic>
</subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN™>
<generalizeddaterialKind elassCode="MAT" determinerCode="KIND">
{eode>
<originalText>J2. 12{/originalText>
< @8J2.12: HBREGRES
{/code>
{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI™>

{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
o Gok.2.3.1.3a0 Strength (number) B1-1 —>

(le= G k. 2.3. 1. 3b: Strength (unit) #1-1 —>
{denominator value="1"/>
</quantity>
¢ingredientSubstance classCode="MMAT” determinerCodes"KIND™>
(code code="G. k. 2. 3.1, 2b" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3.r.2a"/>
<1— 6. k.2.3.v.2a: Substance / Specified Substance TermID Version Date / Number #1-1 —>
¢l G.k.2.3.r.2b: Substance / Specified Substance TermID £i-1 —>
(namedG. k. 2. 3. 1. 1{/nane>
¢i=~ G. k. 2,3.r.1: Substance / Specified Substance Name #1-1 -->
{/ingredientSubstance>
</ingredient>
{ingredient classCode="ACT1™>
{quantity>
<numerator value="10" unit="G.k.2.3.1.3b"/>
¢l G.k.2.3.r.3a; Strength (numbey) #1-2 —>
<= G. k. 2.3.1.3b: Strength (unit) #1-2 —>
<denominator value="1"/>
{/quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
Ccade code="G. k. 2. 3. 1. 2b" codeSvsten="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
(l—- G.k.2.3.r.2a: Substance / Specified Substance TermlD Version Date / Number $1-2 —>
¢l— G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 ~—>
<name>G. k. 2. 3. r. 1{/name>
¢1— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 ——>
</ingredientSubstance>
{/ingredient?
<{/kindOfProduct>
<subjectOf typeCode="SB]">
<productEvent classCode="ACT” moodCode="EVN™>
Ccode code="1" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 18" displayName="retailSupply”/>
<performer typeCode="PRF™>
CassignedEntity classCode="ASSIGNED™>
¢representedOrganization classCode="ORG™ determinerCode="INSTANCE">
<addr>
LeountrydG. k. 2. 4{/country>
1= 6.k.2.4: Identification of the Country Where the Drug Was Obtained #1 -—>
</addr>
</representedOrganization>
{/assignedEntity>
{/performer>
{/productEvent>
</subjectOf>
<subjectOf typeCode="SB]">
(observationBvent classCode="0BS" moodCode="EVN"™>
{code code="2" codeSystem="2. 16. 840. 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="—RIEERHOAFER"/>
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Reaction #1 —~>

Reaction #1 ——>

Reaction #2 —>

Reaction #2 ~~>

Reaction #3 >

Reaction #3 -—>

Reaction #4 ~>

Reaction §4 ——>

¢valile xsiitype="CE" code="J2.6.k" codeSysten="2. 16. 840. 1. 113883.3.989.5.1,3. 2, 1.57/>

<1 gegJ2. 6. k: —BMERROARRER #1 —>
{/ohservationEvent>
</subject0f>

{/instance0fKind>
{/consumable>
CoutboundRelationshipl typeCode="SAS™>

{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>

- G.k.9.i.3. la: Time Interval between Beginning of Drug

e~ G. k. 9.i.3. 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN™)
Zid root="154ch88O-G58b-45F2-a02f-42d4d6F4657L" />
{/actReferenced>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
(pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
<te- G.k.9.1.3.2a: Time Interval between Last Dose of Drug

1= . k.8.1.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2~a02f-42d4d614657F"/>
{/actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9. 1. 3. 1b"/>
¢tee G, k.9, i.3. 1a: Time Interval between Beginning of Drug

e 6. k. 9. 3.3, 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8~4ebc-93e9-5b860b3142207/>
{/actReferenced>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE"™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<l . k. 9.4.3.2a: Time Interval between Last Dose of Drug

(- 6. k. 9.4.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN™>
<id root="2haa28d6-ce8~4e6c-93eH~5b860h3142207/ >,
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<t G.Kk. 8. i.3.1at Time Interval between Beginning of Drug

¢I—~ 6.%.9.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-9f1b—4eal~8a0f~e01{34430adl"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
¢pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
d-— G.k.9.1.3. 227 Time Interval between Last Dose of Drug

- G.k.9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN™>
<id root="3a8626ch-9f1b~4ea8-8alf-c0fF34430adf” />
{/actReference>
<{/outboundRelationshipl>
<otithoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢lem G.k.9.1.3. 1a: Time Interval between Beginning of Drug

¢!—— G.k.8.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN™>
<id root="2¢99840f-08b4~199¢-80ff-dd8415f4f8a5"/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
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Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #1 —-

and Start of Reaction / Event (unit) Drug &1, Reaction #1 —>

Adwministration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Bvent {unit) Drug £1,

and Start of Reaction / Event (number) Drug #I, Reaction #2 --

and Start of Reaction / Event (unit) Drug #1, Reaction #2 —>

Administration and Start of Reaction / Event {number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #I,

and Start of Reaction / Event {number)} Drug #!, Reaction #3 -~

and Start of Reaction / Event (unit) Drug #1, Reaction #3 —>

Administration and Start of Reaction / Event (number) Drug 21,

Administration and Start of Reaction / Bvent {unit) Drug #1,



Reaction #5 —>

Reaction #5 >

Reaction #6 ~—>

Reaction #6 ~—>

Reaction #7 —>

Reaction #7 —>

Reaction #8 —>

Reaction #8 ~—>

¢l G.k.9.i.3.2a: Time Interval between Last Dose of Drug

¢l-— G.k. 9.1, 3. 2b: Time Interval between Last Dose of Drug
(actReference classCode="0BS” moodCode="EVN">
{id root="2e99840f-08b4-499c-80ff-dd8415£4£8a5"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.1i.3. 167/
(d~~ G.k.9.1.3. la: Time Interval between Beginning of Drug

(== G.k 9.1.3.1b: Time Interval between Beginning of Drug

CactReference classCode="0BS” moodCode="EVN">
<id root="1071084c—cf10~4a3b-83c1-34f9ddbTeabd"/>
¢/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
(pavseQuantity value="10" unit="G. k. 9.i.3.2b"/>
(e G.k.9.1.3.2a: Time Interval between Last Dose of Drug

(i G k.9.1.3.2b: Time Interval between Last Dose of Drug
{actReference classCode="0BS” moodCode="EVN™>
<id root="1071064c—cf10-4a3b-83¢c1-3419ddbTeabd”/>
</actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k. 9.1.3.1b"/>
== 6.k 9.i.3. la: Time Interval between Beginning of Drug

e G k. 9.4.3.1b: Time Interval between Beginning of Drug

{actReference classCode="0BS” moodCode="EVN">
<id root="1927283-10b6-4334-9d43-e925640{b185" />
{/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
¢pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
= 6. k. 9. i.3.2a: Time Interval between Last Dose of Drug

¢l G. k. 9.1.3.2b: Time Interval between Last Dose of Drug
(actReference classCode="0BS” moodCode="EVN™>
¢id root="1f927283~10b6-4334-9d43-e925640fb18"/>
{/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="6.k.9.1.3. 1b"/>
(l== G.%. 9.1.3.1a Time Interval between Beginning of Drug

¢l-— G.%.8.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be~423f-b6bb-cel4bc279d8e”/>
{/actReference>
</outboundRelationshipi>
CoutboundRelationshipl typeCode="SAE™>
<pauscQuantity value="10" unit="G.k.9.1.3.2b"/>
¢1— G.%.9.1.3.2a% Time Interval between Last Dose of Drug

¢t—— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS" moodCode="EVN™>
<id root="e0342969-38be~423f-b6bb-cel4bc279d8e"/>
</actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="6.k. 9.1.3.1b"/>
(1= G. k. 9.1.3. la! Time Interval between Beginning of Drug

¢lem G, k.9, 1.3, 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-68632634430"/>
{/actReference>
</outhoundRelationshipl>
CoutboundRelationshipl typeCode="SAE">
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and Start of Reaction / Event (number) Drug #1, Reaction #4 —

and Start of Reaction / Event (unit) Drug #1, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #5 -~

and Start of Reaction / Event (unit) Drug #1, Reaction #5 ~—>

Administration and Start of Reaction / Event (number) Drug #l,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event {number) Drug #1, Reaction #6 —

and Start of Reaction / Event (unit) Drug #1, Reaction #6 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug £1,

and Start of Reaction / Event {(number) Drug #1, Reaction ¥7 --

and Start of Reaction / Event {unit) Drug £1, Reaction 7 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event {unit) Drug #1,



{pauseQuantity value="10" unit="6.k.9.1.3.2b7/>
{1 6.k 9.i.3. 2a; Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #8 -

(o= G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #8 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="al15be092-8070-426d-af04-6863263443e0"/>
{/actReference>
{/outboundRelationshipl>
<cutboundRelationship2 tvpeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN™>
(code code="6" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19”7 displayName="blinded”/>
<value xsi:type="BL” value="true”/>
<{1-—— G.k. 2.5: Investigational Product Blinded #1 ~—>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
¢l-— G.k. 4.1: Dosage and Relevant Information (repeat as necessary) #1-1 -—>
<(substanceAdministration classCode="SBADN™ moodCode="EVN">
{textdG k. 4. r. 8{/text>
¢l~— G.k. 4.r.8: Dosage Text #1-1 ——>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS™>
<{period value="10" unit="G. k. 4.1.37/>
<l-— G.k. 4.1 20 Number of Units in the Interval #1-1 -—>
¢l-— G.k.4.r.3: Definition of the Time Interval Unit #1-1 ——>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
(low value="200801017/>
¢l G.k. 4. 1.4 Date and Time of Start of Drug #1-1 —>
<high value="200901017/>
-~ G k. 4. 1.5 Date and Time of Last Administration $1-1 —>
<{/comp>
<comp xsiitype="IVL_T$" operator="A">
<width value="4" unit="G.k. 4.r.6b7/>
(Y= G. k. 4.7.6a: Duration of Drug Administration (number) #1-1 —>
(l—- G.k.4.r.6b: Duration of Drug Administration (unit) #1-1 -—>
/comp>
SeffectiveTime>
<routeCode code="G. k. 4. . 10, 2b” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="6. k. 4. r. 10. 2a™>
== G.k.4. 1. 10. 2a: Route of Administration TermID Version Date / Number #1-1 —>
<i-- 6.k 4. r. 10, 2b: Route of Administration TermID #1-1 —>
<originalText>G. k. 4. r. 10. 1</originalText>
(1=~ G.k.4.r.10. 1: Route of Administration (free text) #1-1 ——>
</routeCode>
(doseQuantity value="10" unit="G. k. 4. 1. 1b"/>
{I-= G.k 4.r. la Dose (number) #1-1 ——>
<=~ G.k.4.r.1b: Dose (unit) #1-1 —>
<consumable typeCode="CSH">
{instanceOfKind classCode="INST">
(productinstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G, k. 4. r. 7¢/lotNunberText>
{!— G.k.4.r.7: Batch / Lot Number #1~1 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
(formCode code="G.k.4.1.9.2b" codeSysten="TBD-DoseForm” codeSystemVersion="G.k. 4. r. 9. 2a">
(== G k.4.1.9. 222 Pharmaceutical Dose Form TermID Version Date / Number #1-1 -—>
<l-- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-1 —>
<originalText>G. k. 4. r. 9. 1</originalText>
<}— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #i-1 —>
</formCode>
</kind0fProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
(yalue xsiitype="CE” code="G.k 4.r. 11 2b" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.T.
11.2a™>

¢l G.k.4.7. 11. 2a: Parent Route of Administration TermID Version Date / Number #1-1 ——>
<i=- G. k. 4.r.11.2b: Parent Route of Administration TermID #1-1 —>
CoriginalText>G. k. 4. r. 11. 1</originalText>
¢l~- G.k.4.r.11.1: Parent Route of Administration (free text) #1~-1 —>
</value>
{/observation>
</inboundRelationship>
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{/substanceAdministration>
<{/outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
¢i-— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 -——>
¢substanceAdninistration classCode="SBADM” moodCode="EVN">
{textdG. k. 4. r. 8</text>
4= G. k.4.r.8: Dosage Text #1-2 -—>
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xsiitype="PIVL_TS™>
<period value="10" unit="G. k. 4.1.3"/>
-~ G.k.4 1. 2! Number of Units in the Interval §1-2 —
<J=~ G.k.4.1.31 Definition of the Time Interval Unit #1-2 ——
{/comp>
Ccomp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
- G.k.4.r.4: Date and Time of Start of Drug #1-2 ——>
<high value="20080101"/>
¢i~= G.k.4.1.5: Date and Time of Last Administration #1-2 ——>
{/comp>
</effectiveTime>
<routeCode code="G. k. 4. 1. 10.2b" codeSystem="2. 16, 840. 1. 113883. 3.989. 2, 1. 1. 14" codeSystemVersion="G. k. 4.r. 10. 2a">
¢l=- G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-2 —>
<t-— G.k.4.r.10.2b: Route of Administration TermlD #1-2 ->
SoriginalText>G. k. 4. r. 10. 1{/originalText>
.¢t— G.k.4.1.10.1: Route of Administration (free text) #1-2 -->
</routeCode>
{doseQuantity value="10" unit="G. k. 4.r.1b"/>
- G. k. 4. 1. la Dose (number) #1-2 —>
<l- G.k.4.r.1b: Dose (unit) #1-2 —>
<consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
- G, k. 4.r. 7 Batch / Lot Number $1-2 —>
{/productInstancelnstanced
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
(formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoscForn” codeSystemVersion="G.k. 4.r. 9. 2a™>
{J=~ . k. 4.71.9. 22 Pharmaceutical Dose Form TermlD Version Date / Number R1-2 —>
<1— G.k.4.r.9.2b: Pharmaceutical Dose Form TermlID #1-2 —>
<originalText>G. k. 4. r. 9. 1{/originalText>
¢I== G.k, 4.1.9. 1: Pharmaceutical Dose Form (free text) #1-2 —->
</fornCode>
{/kindOfProduct>
{/instanceQfKind>
{/consumabled
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS" moodCode="EVN">
(code cade="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="parentRoute0fAdninistration”/>
¢value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.989. 2.1, 1. 14" codeSystenVersion="G. k. 4.r
11, 227>
1= G.k.4.r.11. 2a: Parent Route of Administration TermlD Version Date / Number #I-2 —>
<i== G.k.4.1.11.2b: Parent Route of Administration TermID ¥1-2 —>
<originalTextdG. k. 4. v, 11. 1{/originalText>
1= G.k.4.r.11.1: Parent Route of Adwinistration (free text) #1-2 -->
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<putboundRelationship? typeCode="COMP”">
(= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SBADM" moadCode="EVN">
<text>G. k. 4. r. 8</text?
<l G. k. 4.r. 8: Dosage Text #1-3 ~—>
(effectiveTime xsi:type="SXPR_IS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k. 4.1.3"/>
¢l G k. 4. 1. 20 Number of Units in the Interval #1-3 -->
e G.k. 4.1. 37 Definition of the Time Interval Unit #1-3 -
<{/eomp>
Scomp xsiitype="IVL_TS™ operator="A">
<low value="20090101"/>
<l-= G.k. 4. 1.4 Date and Time of Start of Drug #1-3 -
<width value="4” unit="G.k.4.r.6b"/>
(}— G. k. 4.1.6a: Duration of Drug Administration {(number) #1-3 —>
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¢}— 6.k 4.7.6b: Duration of Drug Adninistration (unit) #1-3 ->
{/comp>
{/effectiveTime>
SrouteCode code="6. k. 4. 1. 10. 2b" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G, k. 4.r.10.2a">
(l~= G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-3 >
¢l—- G.k. 4.r.10.2b: Route of Administration TermID #1-3 -—>
{originalText>G. k. 4. r. 10. 1<{/originalText>
(1= G. k. 4.r.10. 1: Route of Administration (free text) ¥1-3 -
</routeCode>
<doseQuantity value="10" unit="G. k. 4.r. 1b"/>
<l-- G.k 4.r. 13 Dose (pumber) #1-3 —->
<I== G. k. 4.r.1b: Dose (unit) #1-3 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
<productInstancelnstance classCode="MAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢!~— G.k.4.r.7: Batch / Lot Number #1-3 —>
¢/productInstancelnstance>
<kindOfProduct classCode="WMAT” determinerCode="KIND">
<FormCode code="G, k. 4. r. 9. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="G.k. 4.r.9.2a">
¢le— G. k. 4.1.9. 23 Pharmaceutical Dose Form TermlD Version Date / Number $#1-3 —>
¢l-— G.k.4.1.9. 2b: Pharmaceutical Dose Form TermiD #1-3 ——>
CoriginalText>G. k. 4. r. 9. 1</originalText>
{1~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-3 ~—>
</ formCode>
{/kindOfProduct>
</instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
(code code="28" codeSystem="2. 16, 840. 1. 113883. 3,989, 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
Cvalue xsiitype="CE” code="G.k. 4.r.11. 2b” codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r
11. 227>
¢}-—— G, k.4.r.11. 2a° Parent Route of Administration TermlD Version Date / Number #1-3 —>
<l G.k.4.r.11.2b: Parent Route of Administration TermID #1-3 ~->
CoriginalText>G. k. 4. r. 11. 1<{/originalText>
¢l== G.k.4.r.11.1: Parent Route of Administration (free text) #1-3 -3
{/value>
{/observation
</inboundRelationship>
{/substanceAdministration>
</outhoundRelationship2>
<outhoundRelationship2 typeCode="COMP™>
<1— G, k. 4.r: Dosage and Relevant Information {(repeat as necessary) #l1-4 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8</text>
¢l-- G.k.4.r.8: Dosage Text #1-4 ~—>
leffectiveTime xsiitype="SXPR_TS™>
{comp ¥si:type="PIVL_TS">
{period value="10" unit="G. k. 4.r.37/>
<I-- G.k.4.r.2: Number of Units in the Interval &#i-4 —>
<l-- G.k.4.1.3: Definition of the Time Interval Unit #1-4 —>
</fcomp>
<{comp xsiitype="IVL_TS” operator="A"»
(ridth value="4" unit="6. k. 4.r.6b"/>
{lew G. k. 4.1. 6a: Duration of Drug Administration {number) #1-4 —>
<l— G.k 4.1, 6b: Duration of Drug Administration (unit) #1-4 —>
<high value="200901017/>
<l— G k. 4.r.5: Date and Time of Last Adwinistration #1-4 —>
{/comp>
(/effectiveTime
<routeCode code="G. k. 4. r. 10. 2b" codeSystem="2. 16, 840. 1. 113883, 3,989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. 1. 10.2a">
¢l=— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-4 —>
(1= G.k.4.1.10.2b: Route of Administration TermID #i~4 —>
CoriginalText>G. k. 4. r. 10. 1<{/originalText>
(!— G.k. 4.1.10.1: Route of Administration (free text) #1-4 -
{/routeCode>
<doseQuantity value="10" unit="G.k. 4.r.1b"/>
I G.k 4.1. 1a Dose {number) #1-4 ~>
I G k. 4. 1. 1b: Dose {unit) #1-4 —>
{consumable typeCode="CSH">
{instanceOfKind classCode="INST™>
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l-~ G.k.4.1.7: Batch / Lot Number §1-4 —>
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</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
(formCode code="G. k. 4. 1. 8. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="6.k.4.r.9.2a">
¢1=- G.k. 4, r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #l-4 ——>
d— 6.k 4.1.9.2b: Pharmaceutical Dose Form TermID #1-4 —>
CoriginalText>G. k. 4. 1. 9. I</originalText>
I~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-4 —->
{/formCode>
</kind0fProductd
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
Cvalue xsiitype="CE" code="G.k 4.r,11.2b" codeSystew="2. 16.840, 1. 113883.3.989.2. 1. 1. 147 codeSystemVersion="G. k. 4. r
11.2a"> .
¢(1— G k.4.1r.11. 2a: Parent Route of Administration TermID Version Date / Number £1-4 —>
1=~ G.k 4.1.11. 2b: Parent Route of Administration TermID #l-4 ——>
CoriginalText>G. k. 4. r. 11. 1<{/originalText>
I~ G. k. 4.r. 11 1: Parent Route of Administration (free text) #l-4 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration
</outboundRelationship2>
<outhoundRelationship? typeCode="COMP”>
¢l=— G.k. 4. r: Dosage and Relevant Information (repeat as necessary) EI-§ —>
(substanceAdministration classCode="SBADM™ moodCode="EVN™>
(textdG. k. 4. r. 8{/text>
(I G.k. 4.r.8: Dosage Text #1-5 -—>
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xsi:type="IVL_TS™>
<low value="200001017/>
<l-- G.k.4.1.4: Date and Time of Start of Drug #1-5 >
<high value="200901017/>
<=~ 6.k, 4. 1.5 Date and Time of Last Administration ¥i-§ -
{/comp>
Ccomp xsiitype="IVL_T8” operator="A">
Cwidth value="4" unit="G. k.4.r. 6b7/>
¢l=~ G.k 4.1.6a: Duration of Drug Administration (number) #i-5 ~>
{}-— G.k. 4. 1. 6b: Duration of Drug Administration {(umit} #1-5 -
{/comp>
{/effectiveTimed
(routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r.10.2a">
- G. k. 4.r.10.2a: Route of Administration TermID Version Date / Number #1-5 —>
<I-~ 6.k 4.r.10.2b: Route of Administration TermID E1-5 —>
{originalText>G. k. 4. r. 10. 1{/originalText>
<1== G.k.4.r.10. 1: Route of Administration (free text) #1-5 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<t— G.k 4.r.1a Dose {number) #1-5 —>
<= G, k. 4.r. 1b: Dose (unit) #1-5 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
(productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{otNumberText>G. k. 4. r. 7¢/lotNumberText>
<I=— 6. k.4.1.7: Batch / Lot Number #1-5 —>
¢/productInstancelnstance>
kindOfProduct classCode="WMAT” determinerCode="KIND™>
(FormCode code="G. k. 4. 1. 9. 2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.r.9.2a">
= G. k. 4.1.9. 23 Pharmaceutical Dose Form TermID Version Date / Number $1-5 —>
<} G. k. 4.1r.9.2b: Pharmacentical Dose Form TermlD #1-5 —>
<originalText>G. k. 4.7. 9. I</originalText>
1=~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #i-5 —>
{/formCode>
</kind0fProduct>
</instanceQfKind>
</consumable>
{inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
Ccode code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdninistration”/>
Cvalue xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”7 codeSystenVersion="G. k. 4.
11.2a™>
<!—— G.k.4.7.11. 2a: Parent Route of Administration TermID Version Date / Number #1-5 ——>
<!-- G.k.4.r. 11. 2b: Parent Route of Administration TermID #1-5 —->
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<originalText>G. k. 4. r. 11. 1</originalText>
¢~ G.k.4.r.11. 1: Parent Route of Administration (free text) #1-5 —>
</value>
<{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢le= G.k.4. r: Dosage and Relevant Information (repeat as necessary) ¥1-6 -—>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8</textd>
(1=~ G. k. 4.r.8: Dosage Text #1-6 ——>
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS">
{period value="10" unit="G. k. 4.1.3"/>
e 6. k. 4. r.2: Number of Units in the Intervel #1-6 -->
<!=~ G. k. 4.1, 3: Definition of the Time Interval Unit #1-6 —>
</comp>
<eomp xsiitypes"IVL_TS” operator="A">
<low value="200901017/>
¢l-— G.k.4.r.4: Date and Time of Start of Drug #1-6 ——>
<width value="4" unit="G. k. 4.r.6b7/>
¢} G. k. 4.r.6a: Duration of Drug Administration (number} #1-6 ——>
¢l= G.k. 4.r.6b: Duration of Drug Administration (unit) #1-6 —->
</comp>
<comp xsi:types"IVL_TS” operator="A">
<high value="20090101"/>
== G. k. 4.r.5: Date and Time of Last Administration #1-6 —>
<{/comp>
/effectiveTime>
CrouteCode code="6. k. 4. 1. 10. 2b” codeSystem="2. 16, 840, 1. 113883, 3,989. 2. 1. 1. 14" codeSystemVersion="6. k. 4. r. 10. 2a">
- 6.k 4.r.10. 2a: Route of Administration TermID Version Date / Number B1-6 —>
¢l— G. k. 4.r.10.2b: Route of Administration TermID #1-6 -——>
<originalText>G. k. 4. r. 10, 1{/originalText>
1=~ G.k.4.1.10.1: Route of Administration (free text) #1-6 -->
</routeCode>
<doseQuantity value="10" unit="G.k.4.r. 1b"/>
I G. k. 4. r. Iz Dose (number) #i-1 ~>
<}— G. k. 4.r. 1b: Dose {(unit) #1-1 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™> .
{productinstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNunberText>
i~ G.k.4.r, 7 Batch / Lot Number #1-1 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<fornCode code="G.k 4. r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.22">
<l G. k. 4.1. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>
{— G. k. 4.v.9. 2b: Pharmaceutical Dose Form TermID #1-6 ——>
<originalText>G. k. 4. r. 9. 1{/originalText>
<=~ G. k. 4.r.9.1: Pharmaceutical Dose Form (free text) #I1~6 —>
</formCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN™>
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1, 1. 19" displayName="parentRouteQfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2. 16,840, 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.1

¢l—— G. k. 4.r. 11. 2a: Parent Route of Adwinistration TermID Version Date / Number §1-6 -5
<l~— G.k.4.r.11.2b: Parent Route of Administration TernlD #1-6 -->
<originalText>G. k. 4., 11, 1</originalText>
I~ G.k. 4.r. 11,1t Parent Route of Administration (free text) #1-6 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outhoundRelationshipZ typeCode="COMP™>
<o G k. 4. ¥: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8{/textd
{1~ G. k. 4.r.8: Dosage Text #1-7 —>
Leffectivelime xsi:type="SXPR_TS™>
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<comp xsi:type="IVL_TS">
Clow value="200901017/>
== G.k.4.r. 4! Date and Time of Start of Drug #1~7 -
<width value="4" unit="G.k.4.r.6b"/>
(1=~ G.k. 4 r.6a: Duration of Drug Administration (number) #1-7 -->
<l=- G.k.4.r.6b: Duration of Drug Administration (unit) #1-7 -—>
{/comp>
Ccomp xsiitype="IVL_TS” operator="a">
<high value="20080101"/>
1= G.k.4.7.5! Date and Time of Last Administration #$1-7 —>
</comp>
</effectiveTime>
{routeCode code="G. k. 4. 1. 10. 2b” codeSystenm="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a"™>
<= G.k.4.r.10.2a: Route of Administration TermlD Version Date / Number #1-7 —>
<d=— G. k. 4.1.10.2b: Route of Administration TernID #1-7 —>
CoriginalText>G. k. 4. r. 10. 1{/originalText>
<l-- G.k 4.r.10.1: Route of Administratien (free text) §I-7 -—>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
= G k. 4.7 12 Dose (number) B1-7 -5
=~ G. k. 4.r. 1b: Dose {unit) #1-7 —>
<consumable typeCode="CSM™>
ingtanceOfKind classCode="INST™>
{productInstancelnstance classCode="MIAT" determinerCode="INSTANCE™
<lotNumberText>G. k. 4, r. 7</lotNumberText>
<= 6. k.4.r. 7: Batch / Lot Number #1-7 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
(formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k. 4.r.9.2a">
<t~ G k.4.1.9 2a! Pharmaceutical Dose Form TermID Version Date / Number #1-7 ——>
<t~ G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-7 ——>
CoriginalText>G. k. 4.1. 9. 1</originalText>
<1~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) §1-7 —>
</formCode>
</kind0fProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 18" displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="6.k.4.1. 11.2b" codeSystem="2. 16,840, 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a™>
{3~ Gk 4.r. 11, 2a Parent Route of Administration TermID Version Date / Number #1-7 —->
<l-- G. k. 4.r. 11 2h: Parent Route of Administration TermID #1-7 ——>
CoriginalText>G. k. 4. 1. 11. 1</originalTextd
<I-- G. k.4 r. 11.1: Parent Route of Administration (free text) #1-7 ~—>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="SMM™>
Cobservation classCode="0BS” moodCode="EVN™>
{code code="14" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayNeme="cumulativeDoseToReaction™/>
Cyalue xsittype="PQ” value="10" unit="G. k. 5b"/>
(= G.k.5a’ Cumulative Dose to First Reaction (number} #1 ——>
¢(I-= G.k.5b: Cumulative Dose to First Reaction (unit) #1 -->
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
(code code="16" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G.k 6b"/>
(d=- .k 6a: Gestation Period at Time of Exposure (mumber) #1 -
¢l== G.k.6b: Gestation Period at Time of Exposure (unit) #I -->
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
<code code="31" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1.4" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 16"/>
¢l G.k.9.1i.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1 ——>
CoutboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN™>
<id root="154e¢hB80-958b-45F2-a02f~42d4d6f46571"/

- 3] -



{/actReference>
{/outboundRelationshipl>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
(code code="31" codeSystem="2, 16. 840, 1. 113883, 3.989.2. 1. 1.19” displayName="recurranceOfReaction”/>
(value xsi:type="CE" code="G.k.9.1.4" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 167/
<1~ G.k.9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
¢id reot="2baa28d6~c9e8~4e6c-93e9-5b860b3142207/>
</actReference>
{/outboundRelationshipl>
{/observation>
¢/outhoundRelationship2>
<outhoundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 18" displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k. 101" codeSystem="2.16.840. 1. 113883.3.989.2. 1. L. 17"/>
¢l— G.k. 10,1 Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
(code code="9" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 19” displayName="codedDrugInformation”/>
<value xsi'type="CE” code="G.k.10.1" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 177/>
¢1~- G.k. 10.r: Additional Information on Drug {coded) (repeat as necessary) #1-2 ~—>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="REFR™>
Lobservation classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16, 840, 1. 113883, 3.989. 2, 1. 1. 197 displayNeme="additionalInformation™/>
<value xsiitype="ST7>G. k. 11</value>
¢l G. k. 11: Additional Informstion on Drug {(free text) #1 —>
</observation>
</autboundRelationship2>
<inboundRelationship typeCode="RSON">
(observation classCode="0BS” moodCode="EVN">
Ccode code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE" code="G.k.7.r.2b” codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="G. k. 7. r. 2a™>
l=- G. k. 7.r. 2a: MedDRA Version for Indiecation ¥i-1 —>
<l G. k. 7.1.2bt Indication (MedDRA code) #1-1 —>
<originalText>G.k.7.r. 1</originalText>
¢l—— G. k. 7.r. 1: Indication as Reported by the Primary Source #I-1 —>
</value>
<performer typeCode="PRE">
¢assignedfntity classCode="ASSIGNED™>
(code code="3" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sourceReporter”/>
<{/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN™>
(code code="19" codeSysten="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2.16.840. 1. 113883, 6. 163" codeSystemVersion="G. k. 7. 1. 2a">
<}~ G,k 7.r Za: MedDRA Version for Indication #1-2 -->
¢l-— G. k. 7.r.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7. r. 1{/originalText>
(1= G.k.7.r.1: Indication as Reported by the Primary Source #1-2 -
</value>
<performer typeCode="PRE™>
(assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 21" displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="CAUS™>
<act classCode="ACT” moodCode="EVN™>
<code code="G.k. 8" codeSystem='2.16.840.1.113883,3.989.2.1.1,15"/)
¢l G.k.8: Action(s) Taken with Drug #1 —>
<{/act>
</inboundRelationship>
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{/substanceAdministration>
{/component)
<!— G.k Drug{s) Information (repeat as necessary) H2 —>
{component typeCode="COMP™>
¢substanceAdministration classCode="SBADM" moodCode="EVN">
<id root="68d6{5ce~3b3b-45c¢7-92dd-69¢06730c3a9"/>
<consumable typeCode="CSH™>
CinstanceQfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
Ccode code="G. k. 2. 1. 26" codeSystem="TBD~PhPID” codeSystemVersion="G. k. 2. 1. 2a”/>
¢l-~ G. k. 2.1, 2a: PhPID Version Date / Number §Z —>
¢l G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 -->
<name>G. k. 2. 2{/name>
<l-- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="MANU">
(subjectOf typeCode="SB]™>
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G. k. 3.1” root="2.16.840. 1, 113883.3.989.2.1.3.4"/>
<t 6. k. 3.1: Authorisation / Application Number #2 ——>
<author typeCode="AUT™>
<territorialAuthority classCode="TERR™>
(territory classCode="NAT™ determinerCode="TNSTANCE™>
Ccode code="6.k. 3.2" codeSystem="1.0.3166.1.2.27/>
-~ 6.k 3.2: Country of Authorisation / Application #2 —>
{/territory>
{/territorialAuthority>
<{/author>
¢pertinentInformation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5. k" codeSystem="2. 16.840. 1, 113883.3.989.5. 1. 3. 2. 1.47/>
— €88J2.5.k: —BEERFOY AV EHYE #2 —>
</policy>
</pertinentInformation>
{/approvald
</subject0f>
<subjectOf typeCode="SBJ™>
{characteristic classCode="0BS” moodCode="EVN™>

(code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989, 5, 1. 3. 2. 1. 10" displayNane=" 3B BRHHFEOIKRHEL"/>
Cvalue xsiitype="CE” code="]2.4.k" codeSystem="2. 16.840.1. 113883.3.989.5.1.3.2.1.37/>

- @862, 4.k MERLHFORRKS 22 >
{/characteristic>
{/subject0f>
{/asManufacturedProduct>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢l 6. k. 2.3.r. 3a: Strength (number) #2~} —>
< G.k. 2.3.1.3b: Strength (unit) #2-1 —>
{denominator value="17/>
<{/quantity>
CingredientSubstance classCode="MMAT™ determinerCode="KIND™>
" Seode code="G. k. 2.3.r.2b" codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.1.2a"/>
(1= G.k. 2.3.r.2a: Substance / Specified Substance TermlD Version Date / Number §2-1 ——>
(- G.k 2.3.1.2b Substance / Specified Substance TermlD #2-1 —>
<name>G. k. 2. 3. r. 1</name>
¢l-- G.k.2.3.r. 1: Substance / Specified Substance Name #2-1 -~>
</ingredientSubstance>
</ingredient>
<ingredient classCode="ACTI">
<quantity>
<numerator value="10" unit="G.k.2. 3. r.3b"/>
¢l G.k.2.3. 1. 3a: Strength (humber) #2-2 —>

<I—- 6.k 2.3.7.3b: Strength (unit) #2-2 —>
{denominator value="1"/>
{/quantity>

{ingredientSubstance classCode="MMAT” determinerCode="KIND™>
(eode code="G. k. 2.3. 1. 2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
(1 G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date/Number #2-2 -—>
¢1~- G.k.2.3.r.2b Substance / Specified Substance TermlD #2-2 —>
<name>G. k. 2. 3. r. 1</name>
¢}=- G.k.2.3.1.1: Substance / Specified Substance Name #2-2 —>
</ingredientSubstance>
</ingredient>
</kindOfProduct>
<subjeetOf typeCode="SB]”>
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Reaction #1-—>

Reaction #1 ~—>

Reaction #2 —>

Reaction #2 -5

Reaction #3 >

Reaction #3 —>

{productBvent classCode="ACT” moodCode="EVN™>

<code code="1" codeSystem="2. 16. §40. 1, 113883, 3.989. 2

{performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED™>

1.1. 18" displayName="retailSupply”/>

(representedOrganization classCode="0RG” determinerCode="INSTANCE™>

<addr>
Loountry>G. k. 2. 4</country>

(Ve G. k. 2.4: Identification of the Country Where the Drug Was Obtained #2 -->

{/addr>
{/representedOrganization>
{/assignedEntity>
</performer>
</productEvent>
<{/subject0f>
<subjectOf typeCode="SB]">
CobservationEvent classCode="0BS"™ moodCode="EVN">

<code code="2" codeSystem="2. 1. 840. 1. 113883. 3. 989, 5.

1.3.2.1. 10" displayName="--f% FEESES D NFRI"/>

<value xsiitype="CE” code="J2.6.k" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1.5"/>

<ie- 88eJ2. 6.k —ERMEELOAFER #2
</observationEvent>
</subject0f>

</instanceQfKind>
{/consumable>
<outboundRelationshipl typeCode="SAS™>

<pauseQuantity value="10" unit="G.k. 8. i.3.16"/>

<t G k. 9. i.3.1a: Time Interval between Beginning of Drug

(t=— G.k. 9. 1.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” mocdCode="EVN">
<id root="154eh889-058b-4512~a02f-42d4d614657F"/>
<{/actReferenced
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b7/>
¢t . k.9 1.3. 227 Time Interval between Last Dose of Drug

- G.k.9.i.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN">
<id root="154ebB89-958b-45f2-a021~42d4d61465TE" />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9.1.3. 1b"/>
- G.k.9.1.3, 1la: Time Interval between Beginning of Drug

«l-— G, k. 9.1.3.1b: Time Interval between Beginning of Drug

CactReference classCode="0BS” moodCode="EVN™>
<id root="2baz28d6-cHe8-4ebc—93e9-5b8E0L3142207 />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
- 6.k 9.1, 3.2a7 Time Interval between Last Dose of Drug

<t G. k. 8.1.3.2b: Time Interval between Last Dose of Drug
<aciReference classCode="0BS” moodCode="EVN™>
<id root="gbaa28d6-cBe8-4ebc-93e9~5hBE0R3142207/>
{/actReference>
{/outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k. 9. 1.3, 1b"/>
{l~— G.k.9.1.3. 1a: Time Interval between Beginning of Drug

¢t— 6. k.9.1.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b-4ea8~Ba0f~e0ff34430adf”/>
{/actReference”
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
<t— 6.k.9.1.3,2a: Time Interval between Last Dose of Drug
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Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #1 —

and Start of Reaction / Event (unit) Drug #2, Reaction 81 —>

Administration and Start of Reaction / Event (number) Drug K2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #2 —

and Start of Reaction / Event {unit) Drug #2, Reaction §2 —>

Administration and Start of Reaction / Event {number) Drug #2

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #3 -



Reaction #4 —>

Reaction #4 ~—>

~

Reaction #5 —>

Reaction #5 -—>

Reaction #6 —>

Reaction #6 —>

Reaction #7 —>

Reaction #7 -—>

¢le- G,k 9.1.3.2b: Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN™>
<id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
i G.k.9.3.3.1a: Time Intervsl between Beginning of Drug

J=- G.k.9.1.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="2¢99840f~08b4-409c-80ff-dd8415F4F8a5"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>
<l=- G.k 9.1.3.2a: Time Interval between Last Dose of Drug

<i-— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS" moodCode="EVN™>
<id root="2e99840f-08b4-499c-B0f F-dd8415f4f8a5"/>
{/actReference>
<{/outhoundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k. §.1.3. 1"/
= G.k.9.1.3.1a’ Time Interval between Beginning of Drug

¢t 6.k.9.i.3.1b? Time Interval between Beginning of Drug

<actReference classCode="0BS” mocdCode="EVN™>
<id root="1071064c-cf10-4a3b-83c1~34f9ddbTeabd” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<{pauseQuantity value="10" unit="G. k. 8. 1i.3.2b"/>
- 6.k 9.i.3.2a: Time Interval between Last Dose of Drug

<J— 6.k 9.1.5.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” mocdCode="EVN™>
<id root="1071064c~cf10-4a3b-83¢c1-34F9ddhTeabd” />
{/sctReferenced
</outhoundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9.i.3, 1b"/>
<1 G.k.9.1.3. la: Time Interval between Beginning of Drug

{1 G.k.9.1.3. 1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283~10b6-4334-9d43-¢925640fb1857/>
</actReferenced>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9.1i.3.2b"/>
<1— G.k.9.i.3.2a: Time Interval between Last Dose of Drug

e G, k.9, i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS” moodCode="EVN™>
<id root="1f927283-10b6-4334-9d43-e925640fb18F" />
</actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G. k. 9.1.3.1b"/>
{f-— 6.k . 9.i.3. 1a: Time Interval between Beginning of Drug

¢t G, k. 9.i.3.1b: Time Interval between Beginning of Drug

CactReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-bbbb-celdbc279dBe” />
{/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k. 9. 1i.3.2b"/>
¢t G.k.9.i.3, 2a: Time Interval between Last Dose of Drug
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and Start of Reaction / Event (unit) Drug #2, Reaction #3 >

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #4 ——

and Start of Reaction / Event (unit} Drug #2, Reaction §4 —>

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event {unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction £5 —

and Start of Reaction / Event {unit) Drug #2, Reaction #5 ~->

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (number) Drug #2, Reaction #6 —

and Start of Reaction / Event (unit) Drug #2, Reaction #6 —>

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / BEvent (number) Drug #2, Reaction #7 —



{1~ G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction H7 —>
{actReference classCode="0BS” moodCode="EVN™>
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G. k. 9. i.3.1b7/> .
¢1~— 6. k.9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,
Reaction #8 -~>
l=- G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,
Reaction #8 —->
<actReference classCode="0BS” moodCode="EVN™>
¢id root="albbe032-8070-426d-af04~6863263443207/>
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
(pauseQuantity vslue="10" unit="6.k. 9. i.3.2b"/>
<1-— G.k.9.i.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug %2, Reaction H#8 --

?
¢1—— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction #8 —>
(actReference classCode="0BS” moodCode="EVN™>
<id root="315be092~8070~426d-2f04~6863263443e0"/>
</actReference>
</outboundRelationshipl>
CoutboundRelationship? typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">
Ccode code="6" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="blinded”/>
<value xsiitype="BL” value="true”/>
<l-— G.k.2.5: Investigational Product Blinded #2 —->
{/observation>
</outboundRelationship2>
<outhboundRelationship? typeCode="COMP™>
(= G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8</text>
¢l-~ G.k. 4.r.8: Dosage Text #2-1 —>
CeffectiveTime xsi:type="IVL_TS™>
¢low value="20090101"/>
(1=~ G. k.4.r.4: Date and Time of Start of Drug §2-1 —>
<high value="20090101"/>
1= G. k. 4. r.5: Date and Time of Last Administration #2-1 —>
</effectiveTime>
<routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a™>
1= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number f2-1 -->
<i— G.k.4.1.10,2b: Route of Administration TermID #2-1 —3>
{originalText>G. k. 4. r. 10, I{/originalText>
¢(1=- G.k.4.r.10,1: Route of Administration (free text) #2-1 —>
</routeCode>
<doseQuantity value="10" unit="G.k. 4.r. 1b7/>
<I-- G.k 4.r. 1a Dose (number) #2-1 ~->
{I— G.k 4.r.1b: Dose (unit) #2-1 —>
<consumable typeCode="CSM">
CinstanceOfKind classCode="INST">
{productinstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNunberText>
<l-- G.k.4.r.7: Batch / Lot Number #2-1 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
<FormCode code="G. k. 4.1.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.r.9.22">
(== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 -—>
<=~ G.k. 4.1.9.2b: Pharmaceutical Dose Form Terml) #2-1 -~
CoriginalText>G. k. 4. 1. 9. I</originalText>
(1= G.k.4.71.9.1: Pharmaceutical Dose Form (free text) #2-1 ——>
{/formCode>
</kindOfProduct>
</instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
Ccode code="28" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 18" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a™>

<!~-154k,4.r.11.2a1 Parent Route of Administration TermlD Version Date / Number #2-1 —>
()=~ G.k.4.r. 11. 2b: Parent Route of Administration TermID #2-1 —>
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CoriginalText>G. k. 4. r. 11. 1<{/originalText>
1=~ G.k.4.r. 11, 11 Parent Route of Administration (free text) #2-1 ——>
{/value>
{/observation>
{/inboundRelationship>
</substanceAdministration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢1-- 6. k.4.1: Dosage and Relevant Information (repeat as necessary) #2-2 -—>
<substanceAdministration classCode="SBADN" moodCode="EVN">
<text>G. k. 4. 1. 8¢/ text>
<i— G. k. 4.r.8: Dosage Text #2-2 —>
KeffectiveTime xsi:type="IVL_TS™>
<low value="200901017/>
(- G. k. 4. r.4: Date and Time of Start of Drug #2-2 -—>
<width value="4" unit="G. k. 4.1.6b"/>
(}-- 6. k.4.1. 6a: Duration of Drug Administration (number) #2-2 -->
4=~ G, k. 4. 1. 6b: Duration of Drug Administration (unit) §2-2 —>
feffectiveTime>
(routeCode code="GC. k. 4. r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14" codeSystemVersion="G, k. 4. r. 10. 2a™>
- 6. k. 4. r. 10. 2a: Route of Administration TermID Version Date / Number #2-2 ——>
<l== G. k. 4. r. 10. 2b: Route of Administration TermID #2-2 ——>
CoriginalText>G. k. 4. 1. 10. 1{/originalText>
(== G.k.4.r.10.1: Route of Administration (freec text) #2-2 —->
</routeCode>
{doseQuantity value="10" unit="G.k 4.r. 1b"/>
(I~ G.k 4.1. la Doge {(number) #2-2 —>
(- G. k. 4. 1. 1b: Dose {unit) #2-2 —>
<consumable typeCode="CSH">
<instanceOfKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
= G.k.4.r.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
<formCode code="G. k. 4.1.9. 2b° codeSystem="TBD-DoseForn” codeSystemVersion="C. k. 4.r. 9. 227>
¢l G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 -—>
i G.k.4.r.9.2b: Pharmaceutical Dose Form TermlD §2-2 ——>
<originalText>G. k. 4. 1. 9. I{/originalText>
<!-— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-2 -
{/formCode>
<{/kind0fProduct>
<{/instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
(eode code="28" codeSystem="2. 16.840. 1, 113883, 3, 989. 2, 1. 1. 19” displayName="parentRouteOfAdministration™/>
Cvalue xsi:type="CE” code="G.k. 4.r. 11.2b" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. L. 1. 14" codeSystemVersion="G. k. 4. r.
11.258">
<l—— G.k.4.r. 11, 2a: Parent Route of Administration TermlD Version Date / Number #2-2 -->
¢{I—- G.k.4.r.11. 2b: Parent Route of Administration TermlD #2-2 —>
CoriginalText>G. k. 4. 1. 11. 1</originalText>
(= 6. k. 4.1, 11, 17 Parent Route of Administration (free text) #2-2 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
. <outboundRelationship2 typeCode="COMP”>
e G. k. 4.1 Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<textdG k.4 r, 8</textd>
<!~ G.k.4.r. 8 Dosage Text #2-3 —>
CeffectiveTime xsi:type="IVL_TS">
<width value="4" unit="G.k. 4.r.6b"/> .
{I-- G.k.4.r.6a: Duration of Drug Administration (number) #2-3 -—>
{1-~- G. k.4.r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
¢l-— G. k. 4.r.5: Date and Time of Last Administration #2-3 -->
{/effectiveTime>
<routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. 1. 10, 2a™>
= G. k. 4.r. 10.2a: Route of Administration TermID Version Date / Number #2-3 -->
{I=~ G. k. 4.1. 10.2b: Route of Administration TermID #2-3 —>
<originalText>G. k. 4. 1. 10, I{/originalText>
<l-- G.k.4.71.10.1: Route of Administration (free text) #2-3 —>
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{/routeCode>
(doseQuantity value="10" unit="G. k. 4. 1. 1b7/>
K= G.k 4. r. la Dose (number) #2-3 —>
<— G. k. 4.r.1b: Dose (unit) #2-3 —>
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
4= G.k.4.r.7: Batch / Lot Number #2-3 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
(FormCode code="G. k. 4.1.9. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢l— G. k. 4.7.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 -->
<I-— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID H2-3 ~->
<originalText>G. k. 4. 1. 9. I{/originalText>
i=- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-3 -->
</formCode>
</kind0OfProduct>
{/instanceOfKind>
</consumahle>
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN™>
¢code code="28" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
¢value xsittype="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 147 codeSystenVersion="G. k. 4. r.
11.2a">
¢{}=— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-3 -->
<}= G.k.4.r.11.2b: Parent Route of Administration TermID #2-3 —>
<originalText>G. k. 4. r. 11. I</originalText>
1=~ G.k. 4.1 11.1: Parent Route of Administration (free text) #2-3 -->
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outhoundRelationship2>
<outhoundRelationship2 typeCode="COMP™> .
¢1— G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 ~->
{substanceAdministration classCode="SBADM” moodCoede="EVN™>
<text>G, k. 4. r. 8¢/ text>
- 6. k. 4. r. 8 Dosage Text #2-4 —>
<effectiveTime xsi:type="SXPR_TIS™>
<comp xsiltype="PIVL_TS">
<period value="10" unit="G. k. 4.1.3"/>
(I~ G.k.4.r.2: Number of Units in the Interval #2-4 —>
<I-- G.k. 4.7.3: Definition of the Time Interval Unit #2-4 —>
{/comp>
Ceomp xsictype="IVL_TS” operator="A">
<low value="200801017/>
(l-- G.k.4.1.4: Date and Time of Start of Drug #2-4 -->
</comp>
{/effectiveTime>
CrouteCode code="G. k. 4. r. 10. 2b” codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="6. k. 4.r.10. 22"
¢I— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #2-4 ~->
<1-~ G.k.4.r.10.2b: Route of Administration TermID #2-4 —>
{originalText>G. k. 4. r. 10. 1{/originalText>
(1=- G.k.4.1.10. 1 Route of Administration (free text) #2-4 —->
{/routeCode>
<doseQuantity value="10" unit="G.k 4.r. 1b"/>
= G. k. 4.1. 15 Dose (number) #2-4 —>
== G.k.4.r.1b: Dose (unit) #2-4 —>
<consumable typeCode="CSH™>
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<— G. k. 4.7.7: Batch / Lot Number #2-4 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
(formCode code="G. k. 4.r.9.2b” codeSystem="TBD-DoseForn” codeSystemVersion="G.k. 4.r.9.2a">
(1=~ G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 -—>
I~ G.k.4. 1.9, 2b: Pharmaceutical Dose Form TermID #2-4 -—>
<originalText>G. k. 4.r. 9. 1</originalText>
(1= G.k. 4.1, 9.1: Phormaceutical Dose Form (free text) #2-4 —->
</formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
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{inboundRelationship typeCode="REFR">
(observation classCode="0BS” moodCode="EVN">
lcode code="28" codeSystewm="%. 16. 840, 1. 113883.3.989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2, 16.840. 1. 113883.3.989.2. 1. 1. 14" codeSystemVersion="6. k. 4.r

11.2a™>
1= G. k. 4.r.11.2a: Parent Route of Administration TermlD Version Date / Number #2-4 ——>
¢l-— G.k.4.r.11.2b: Parent Route of Administration TermlID #2-4 —>
<originalText>G. k. 4. 1. 11. I</original Text>
<l=- G.k.4.1.11. 1: Parent Route of Administration (free text) #2-4 -—>
{/valued
{/observation>
</inboundRelationship>
{/substanceAdministration> -
</outboundRelationship2>
<outhoundRelationship? typeCode="COMP™>
¢1—— G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-5 -->
(substanceAdministration classCode="SBADM” moodCode="EVN">
{textdGo k. 4. r. 8</text?
<l-~ G.k.4.r.8: Dosage Text #2-5 -->
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xsiitype="PIVL_TS™>
{period value="10" unit="G. k. 4.1r.37/>
<l—~ G.k. 4.r.2: Number of Units in the Interval #2-5 —->
<= G.k. 4.r.3: Definition of the Time Interval Unit #2-5 -
{/comp>
<comp xsiitype="IVL_TS” operator="a">
<high value="20090101"/>
¢1— G. k. 4.r,5: Date and Time of Last Administration #2-5 ——>
{/coup>
</effectiveTime>
(routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="6. k. 4, r. 10.2a">
<I=- G. k. 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-§ —>
I~ G. k. 4.1.10,2b: Route of Administration TermlD £2-5 ~>
<originalText>G. k. 4.7, 10, 1{/originalText>
{I~= G.k.4.1.10.1: Route of Administration (free text) #2-5 —>
</routeCode>
¢doseQuantity value="10" unit="G. k. 4. 1. 16"/
(!~ G. k. 4.1.1a Dose (number) #2-5 —>
- G. k. 4.r. 1b? Dose {(unit) §2-5 ~—>
<consumable typeCode="CSH™>
<instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MUAT” determinerCode="INSTANCE">
<lotNumherText>G. k. 4. r. 7</lotNumberText>
- G, k.4.r.7: Batch / Lot Nuwber #2-5 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
FormCode code="6. k. 4.r. 9. 2b” codeSystem="TBD-DoseForm” codeSystemVersion="6.k.4.r. 9. 28"
¢I— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-5 -—>
<1—= G.k.4.r.9.2b: Pharmaceutical Dose Form TermlD #2-5 —>
CoriginalText>G. k. 4.r. 9. 1</originalText>
¢I—- G.k.4.r. 9.1 Pharmaceutical Dose Form (free text) #2-5 ——>
</formCode>
</kindOfPraoduct>
{/instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN™>
Ceode code="28" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
(value xsiitype="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.1
11. 227>

)=~ G.k.4.r. 11. 2a: Parent Route of Administration TermID Version Date / Number #2-5 -—>
(I~ G.k.4.r. 11. 2b: Parent Route of Administration TermID #2-5 -—>
CoriginalText>G. k. 4. r. 11. I</originalText>
(1= G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —=>
</value>
{/ohservation>
</inboundRelationship> .
{/substanceAdministration>
¢/outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
<l G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN">
<text>C. k. 4. r. 8</text>
<i—- G.k.4.r.8: Dosage Text #2-6 >
CeffectiveTime xsi:type="SXPR_TS">
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{comp xsi:type="PIVL_T8">
{period value="10" unit="G.k.4.1.37/>
<l— G.k.4.r.2: Number of Units in the Interval #2-6 ——>
=~ 6.k 4.1r.3: Definition of the Time Interval Unit #2-6 —>
</comp>
<comp xsi:type="IVL_TS” operator="a">
<width value="4" unit="G. k.4.r.6b"/> .
¢1-- G.k.4.r.6a: Duration of Drug Administration (number) #2-6 —>
¢l== G.k. 4.1.6b: Duration of Drug Administration (unit) #2~6 ~->
{/coup>
{/effectiveTimed .
<routeCode code="G. k. 4. r. 10, 2b” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="6. k. 4. 1. 10.2a™>
(o= G. k. 4.1.10. 2a: Route of Administration TermID Version Date / Number #2-6 —>
<1~ G.k. 4.1, 10, 2b: Route of Administration TermID #2-6 ——> )
<originalText>G. k. 4. r. 10. 1</originalText>
<}~ G.k.4.1.10. 17 Route of Adwinistration (free text) #2-6 -—>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r. 1b"/>
(!-- G. k. 4.r. 12 Dose (number) #2-6 -->
1=~ G.k.4.r.1b7 Dose (unit) #2-6 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
(productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4, r. 7</lotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #2-6 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
¢fornCode code="G.k.4.r.9.2b" codeSysten="TRD~DoseForn” codeSystemVersion="G. k. 4.r.9.2a">
¢l-~ G.k.4.r.9. 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-6 ——>
¢l=~ G.k.4.1.9.2b: Pharmaceutical Dose Form TermlD ¥2-6 -->
{originalText>G. k. 4. r. 9. I</originalText>
</formCode>
</kind0fProduct>
</instancelfKind>
</consumable>
{inhoundRelationship typeCode="REFR™>
{ohservation classCode="0BS” woodCode="EVN™>
<code code="28" codeSystem="2. 16.840. 1. 113883, 3,989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G.k. 4.r
11.2a">
== G.k.4.r. 11, 2a: Parent Route of Adwinistration TermlD Version Date / Number #2-6 -->
<l~— G.k.4.1.11.2b: Parent Route of Administration TermID #2-6 ——>
CoriginalText>G. k. 4. r. 11. 1</originalText>
¢1== G.k.4.r.11. 1: Parent Route of Administration (free text) #2-6 -—>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
(1= G, k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-T7 -—>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G, k. 4. r. 8</text>
<t— G. k. 4.r. 8 Dosage Text #2-7 —>
CeffectiveTime xsi:itype="PIVL_TS™>
<period value="10" unit="G. k. 4.r.3"/>
<l G k 4.1, 27 Number of Units in the Interval #2-7 —>
¢~- 6. k.4.r.3: Definition of the Time Interval Unit #2-7 —>
</effectiveTime>
(routeCode code="G. k. 4.r. 10. 25" codeSysten="2. 16, 840, 1. 113883, 3.988. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r.10.2a™>
¢1— G. k. 4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 -->
1= G.k.4.r. 10. 2b: Route of Administration TermlD #2-7 —>
CoriginalText>G. k. 4. r. 10. 1{/originalText>
¢t G.k.4.r.10.1: Route of Administration (free text) #2-7 -—>
{/routeCode>
(doseQuantity value="10" unit="G.k.4.r. 1b"/>
¢!-- G.k.4.r.1a Dose (number) #2~7 —->
¢l-- G. k. 4.r. 1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</1otNumberText>
¢(I—— G.k.4.r.7: Batch / Lot Number #2-7 —>
</productInstancelnstance>
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CkindOfProduct classCode="MMAT” determinerCode="KIND™>
(FormCode code="G. k. 4. 1. 9. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="G. k. 4.r.9.2a™>
¢le- G. k. 4 1. 9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 —->
(l~~ G.k. 4.1.9. 2b: Pharmaceutical Dose Form TermID #2-7 —=>
CoriginalText>G. k. 4. r. 9. IK/originalText>
¢l 6.k 4.1.9. 1 Pharmaceutical Dose Form (free text) #2-7 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
¢inboundRelationship typeCode="REFR™>
¢observation classCode="0BS" moodCode="EVN™>
Ccode code="28" codeSystem="2. 16, 840. 1. 113883.3.989. 2.1, 1. 187 displayName="parentRouteOfAdministiration”/>
(value xsi:type="CE” code="G.k.4.r.11.2b7 codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1, 147 codeSystemVersion="G. k. 4. r

11.2a™>
<i—- G.k.4.r. 11. 2a: Parent Route of Administration TermID Version Date / RNumber H#2-7 —>
¢l== G.k. 4.1, 11. 2b: Parent Route of Administration TernlD #2-7 -
CoriginalText>G. k. 4. 1. 11 1</originalTextd
(1-- G.k. 4.r. 11. 1: Parent Route of Administration (free text) #2-7 —>
</value>
{/observation>
</inboundRelationship>
{/substancefAdministration>
</outhoundRelationshipZ>
<outboundRelationship2 typeCode="COMP™>
<l—- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-8 -—>
(substanceAdministration classCode="SBADM™ moodCode="EVN>
<Ctext>G. k. 4.1, B/ text>
¢4~ 6.k 4.r, 8: Dosage Text #2-8 —>
{effectiveTime xsiitype="IVL_TS™>
{low value="200901017/>
1= 6.k 4.1.4: Date and Time of Start of Drug #2-8 —>
</effectiveTime>
<routeCode code="G. k. 4. r. 10.2b” codeSysten="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10, 2a™>
¢~ G.k 4.1 10.2a: Route of Administration TermID Version Date / Number #2-8 -—>
(I-- G.k.4.7.10.2b: Route of Administration TermID #2-8 -->
CoriginalTextyG. k. 4.r. 10. 1</originalText>
<{l—- G.k.4.71.10.1: Route of Administration (free text) ¥2-8 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
(l-— G. k. 4.r. 1a Dose (number) #2-8 —->
<l~— G. k. 4.r.1b: Dose (unit) #2-8 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<l G. k. 4.1.7: Batch / Lot Number #2-8 —>
</productInstancelnstance>
CkindOfProduct classCode="MMAT™ determinerCode="KIND">
(FormCode code="G. k. 4.1.9.2b" codeSysten="TBD-DoseForm” codeSystenVersion="G. k: 4. 1. 9. 2a™>
¢l— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-8 ——>
(I-— G.k 4.1.9.2b: Pharmaceutical Dose Form TermlD §2-8 —>
CoriginalText>G. k. 4. r. 8. I{/originalText>
(-~ G.k.4.r.9. 1t Pharmaceutical Dose Form (free text) #2-8 ——>
</formCode>
{/kind0fProduct>
</instanceOfKind>
</consumable>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN™>
(code code="28" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. 1. 19" displayNaeme="parentRouteOfAdministration”/>
(yalue xsi:type="CE” code="G.k.4.r 11.2b" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 14”7 codeSystenVersion="G. k. 4. r
11 227>

¢(l-- G.k.4.r. 11.2a: Parent Route of Administration TermID Version Date / Number #2-8 —>
¢l— G.k 4.r. 11.2b: Parent Route of Administration TermID #2-8 -->
<originalText>G. k. 4. r. 11. 1{/originalText>
(1= G.k 4. r.11. 1 Parent Route of Administration (free text) #2-8 -->
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outhoundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢l— G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-9 -—>
{substanceAdministration classCode="SBADN” moodCode="EVN">
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<textyG. k. 4. r. 8{/text>
A== 6.k 4.1r.8: Dosage Text #2-8 —>
CeffectiveTime xsi:type="IVL_TS">
<high value="200901017/>
(1-- G.k.4.r.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime> .
¢routeCode code="G. k. 4. r. 10. 2b" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 147 codeSystemVersion="G. k. 4. r. 10. 22>
{1— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number $2-9 —->
¢l-~ G k. 4.r.10.2b: Route of Administration TeraID #2-9 —>
(originachxt)G.kA4.r.10.1(/originalText>
(1=~ G.k.4.1. 10, 1: Route of Administration (free text) #2-9 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b"/>
<l G. k. 4.r.1a Dose (number) #2-9 ——>
<l— G.k 4.r.1b: Doge (unit) #2-9 >
{consumahle typeCode="CSH">
<instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7¢/lotNumberText>
¢J-— G.k. 4. 1. 7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
CkindOfProduct classCode="MMAT” determinerCode="KIND™>
<formCode code="G. k. 4. . 9. 2b” codeSysten="TBD-DoseForm” codeSystemVersion="6.k. 4.1.9.22">
1= G.k 4.1.9. 25 Pharmasceutical Dose Form TermlD Version Date / Number #2-9 —>
¢J-- G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #2-9 —>
SoriginalText>6. k. 4. 1. 9. 1{/original Text>
{lw= G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
{/formCode>
</kindOfProduct>
</instance0fKind>
{/consumabled
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
(code code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
(value xsiztype="CE” code="G.k. 4.r.11.2b” codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 147 codeSystemVersion="G. k 4. r
11.2a™>
¢l— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number £2-9 -->
<l-- G.k.4.r.11. 2b: Parent Route of Administration TermlD £2-9 —>
CoriginalText>G. k. 4. r. 11. 1<{/original Text>
(1= G.k.4.r.11. 1: Parent Route of Administration (free text) #2-9 -—>
</valued>
</observation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
(1=~ G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-10 -—>
¢substanceAdministration classCode="SBADM” moodCode="EVN™>
<textdG. k. 4. r. 8</text>
{I— G.k. 4. 1.8 Dosage Text #2-10 —>
CeffectiveTime xsi:type="1VL_TS™>
(width value="4" unit="G.k.4.r.6b"/>
¢l—— G, k. 4.r.Ba: Duration of Drug Administration (number) #2-10 —>
<{-= G.k.4.r.6b: Duration of Drug Administration (unit) #2-10 —>
/effectiveTime>
(routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 14" codeSystemVersion="G.k 4.r.10.2a™>
(I G k.4.1.10. 2a: Route of Administration TermiD Version Date / Number #2-10 —-->
<le~ G k. 4.r. 10.2b: Route of Administration TermiD #2-10 —>
CoriginalTextG. k. 4.r. 10. 1<¢/originalText>
<1—— G k.4.r.10. 1: Route of Administration (free text) #2-10 —>
</routeCode>
<doseQuantity value="107 unit="G. k. 4.r.1b"/>
- G k. 4. 7. 1a Dose {(number) #2-10 —>
{}=- G.k.4.r.1b: Dose (unit) #2-10 —>
(consumable typeCode="CSH">
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
(le- G k. 4. r. 70 Batch / Lot Number #2-10 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
fornCode code="G. k. 4. . 9. 2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a"™>
¢le~ G. k. 4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 ——>
¢}~ G. k. 4.1.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
CoriginalText>G. k. 4. r. 9. I</originalText>

- 42 -



<l—— G.k. 4. 7.9, 1: Pharmaceutical Dose Form {(free text) #2-10 ~>
</formCode>
</kind0OfProduct>
</instance0fKind>
{/consumable>
CinboundRelationship typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN">
Ccode code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197 displayName="parentRouteOfAdninistration™/>
Cvalue xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G.k. 4. r
11.2a">
¢Ve— G.k-4.r. 11, 2a: Parent Route of Administration TermID Version Date / Number £2-10 —>
(l-— 6.k 4.1.11. 2b: Parent Route of Administration TermID #2-10 —>
CoriginalText>G. k. 4.1. 1. I</original Text>
1= G.k.4.r. 11.1: Parent Route of Administration (free text) #2-10 —>
<fvalued
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outhoundRelationship2 typeCode="SUMM™>
(observation classCode="0BS” moodCode="EVN">
¢code code="14" codeSystem="2. 16. 840. 1. 113883, 3. 989.2. 1. 1. 19" displayName="cumulativeDoseToReaction”/>
Cvalue xsi:type="PQ” value="10" unit="G.k.5b"/>

(1= G.k Ba: Cumulative Dose to First Reaction {number) #2 —>
(= 6.k 5b: Cumulative Dose to First Reaction (unit) 2 —>
{/observation>

</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2. 16.840. 1, 113883, 3.989. 2. 1. 1. 19”7 displayName="gestationPeriod™/>
Cvalue xsiitype="PQ” value="10" unit="G. k. 6b7/>
({1-—- G.k.6a: Gestation Period at Time of Exposure (number) #2 ——>
(1 G.k 6b: Gestation Period at Time of Exposure (unit) #2 —>
{/observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN™>
Ceade code="31" codeSystew="2. 16. 840. 1. 113883. 3.989.2. 1. 1. 18”7 displayName="recurrance0fReaction”/>
¢value xsiitype="CE” code="G. k. 9. 1. 4" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 16"/>
(- G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 >
<outboundRelationshipl typeCode="REFR”>
CactReference classCode="0BS” moodCode="EVN™>
{id root="154¢b889~058b-45f2~-a02f~42d4d6F4657F"/>
{/actReference>
/outboundRelationshipi>
{/ohservation>
</outhoundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
Ccode code="31" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 19" displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.i.4”7 codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 16"/>
== 6.k, 9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction 2 -->
CoutboundRelationshipl typeCode="REFR”™>
(actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6~cle8-1ebc~93e4-5b860b3142207/>
{/actReference>
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
¢code code="9" codeSystem="2. 16.840. 1. 113883, 3. 989.2.1.1. 187 displayName="codedDrugInformation”/>
(value xsiitype="CE” code="G.k.10. 1" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 17"/>
(1= G.k 10.r: Additional Information on Drug (coded) (repeat as necessary) H#2-1 -->
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
(observation classCode="0BS” moodCode="EVN">
¢code code="9" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19" displayName="codedDrugInformation”/>
Cvalue xsiitype="CE” code="G.k.10.r" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 177/>
<l~~ G.k. 10.r: Additional Information on Drug {(coded) (repeat as necessary) #2-2 -->
{/observation>
</outboundRelationship2>
CoutboundRelationship? typeCode="REFR™>
(observation classCode="0BS" moodCode="EVN">
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<code code="2" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19” displayName="additionallnformation”/>
<value xsi:type="ST">G. k. 11</value>
- G. k. 117 Additional Informastion on Drug (free text) #2 —>
{/observation>
¢/outboundRelationship2>
<inboundRelationship typeCode="RSON™>
(observation classCode="0BS” moodCode="EVN">
(code code="19" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 18” displayName="indication”/>
Cvalue xsi:type="CE” code="G.k. 7.1.2b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="G.k.7.r.2a">
1=~ G. k. 7.r.2a: MedDRA Version for Indication #2-1 —>
-~ G. k. 7.r. 2b: Indication (MedDRA coede) #2~1 —>
CoriginalText>G. k. 7. r. 1</originalText>
(1= 6. k. 7.r.1: Indication as Reported by the Primary Source #2-1 ——>
{/valued
<performer typeCode="PRE™>
<assignedEntity classCode="ASSIGNED™>
Ccode code="3" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 21”7 displayName="sourceReporter”/>
</assignedEntity>
</performer>
</observation>
</inboundRelationship>
{inboundRelationship typeCode="RSON™>
{observation classCode="0BS” moodCode="EVN™>
<eade code="19" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19” displayNeme="indication”/>
<value xsi:type="CE” code="G.k. 7.r.2b" codeSysten="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G.k.7.r.2a">
(I~ G. k.7, r.2a: HedDRA Version for Indication §2-2 —>
U G. k. 7.r.2b7 Indication (MedDRA code) #2-2 —>
<originalText>G. k. 7. 1. I{/originalText>
¢l-— G.k.7.1.1: Indication as Reported by the Primary Source #2-2 —>
</value> »
<performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™>
(code code="3" codeSystem="2, 16. 840, 1, 113883, 3. 989, 2. 1. 1. 21" displayName="sourceReporter”/>
{/assighedEntity>
{/performer>
{/observation>
</inboundRelationship>
{inbhoundRelationship typeCode="CAUS™>
Cact classCode="ACT” moadCode="EVN">
<code code="6. k. 8% codeSystem="2, 16, 840. 1. 113883.3.989. 2, 1. 1. 157/>
<1-— G.k.8: Action(s) Taken with Drug #2 -—>
{/act>
</inboundRelationship>
</substanceAdministration>
</component>
{/organizer>
</sub ject0Of2>
<subjectOf2 typeCode="SB]™>
<organizer classCode="CATEGORY" moodCode="EVN">
{code code="1" codeSysten="2. 16. 840. 1. 113883.3.983,5.1.3.2.1. 11" displayName="{EEROZ"/>
<component typeCode="COMP”> -
Lobservation classCode="0BS” moodCode="EVN">
Ccode code="T" codeSystem="2. 16.840. 1. 113883, 3,989, 5, 1. 3. 2. 1. 10" displayName="/&HENL"/>
<value xsi:type="INT” value="1"/>
<l @88J2.13.r. 1: JRHEM 81 —
{/observation>
<{/component>
<component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16, 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 10" displayName="SH5RM"/>
<{value xsi:type="ED">]J2.13.r.2{/value>
<i-- 688J2.13.1. 20 MPEEE #1 —
{/observation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
(eode code="9" codeSystem="2. 16. 840. 1. 113883. 3, 989. 5. 1. 3. 2. 1. 10" displayName="BFA"/>
Cvalue xsiitype="CE" code="J2.13.r,3” codeSystem="2.16.840.1. 113883.3.989.5.1.3.2. L.77/>
<l-- @ee8J2.13.r.3: BHZEI £1 —
{/observation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
Ccode code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 107 displayName="{3E P OIEHOFER"/>
Cvalue xsi:type="BL”.value="true”/>
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<l @88J2.13. 1. 4: BREPOEMOFE #1 —>
{/observation>
</component>
{/organizer>
{/subject0f2>
<subject0f2 typeCode="SB]">
Corganizer classCode="CATEGORY” moodCode="EVN™>
<code code="1" codeSystem="2. 16, 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 11”7 displayName="FhEROIEH"/>
<component typeCode="COMP">
{ohservation classCode="0BS” moodCode="EVN™>
<code code="7" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="fG IHEEL"/>
<value xsi:type="INT” value="1"/>
<l 8872, 13.v.1: BHIEK 42 —>
{/observation>
¢/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN™>
Ccode code="8" codeSystem="2, 16. 840, 1. 113883, 3.989.5. 1.3.2.1. 10" displayName="XBHB"
<value xsiitype="ED">J2.13.r.2¢/value> .
<l @88]2.13.1.2: WREM 2 —>
{/observation>
</component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<eode code="9" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="ZE40"/>
(value xsittype="CE” code="J2.13.71.3" codeSystem="2. 16, 840, 1. 113883.3,989, 5. 1.3. 2. L.77/>
<l-— @88J2.13.r.3: PHZEM #2
{/observation>
{/component’
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
Ceode code="10" codeSystem="2, 16, 840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 107 displayName="REEP OMEFIDH />
<value xsi:type="BL” value="false™/>
<I-- @68J2.13.r. 4 BRPOEFOFE #2 —>
{/observation>
</component>
{/organizer>
{/subject0f2>
{/primaryRole>
{/subjectl>
<component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN™>
Ccode code="20" codeSystem="2. 16.840.1. 113883. 3. 989. 2, 1. 1. 19" displayName="interventionCharacterization”/>
Cvalue xsi:type="CE” code="G.k 1”7 codeSystem="2, 16, 840. 1. 113883.3.989.2, 1. 1.13"/>
¢t—— G, k. 1® Characterisation of Drug Role Drug #1 -->
{subject2 typeCode="SUB]™>
{productUseReference classCode="SBADM” moodCode="EVN™>
<id root="3c91bdd5-e039-4a7a-9¢30-67671b0efed”/>
</productUseReference>
{/subject2>
</causalityAssessment>
</component>
{component typeCode="COMP">
(causalityAssessment classCode="0BS” moodCode="EVN™>
{eode code="20" codeSystem="2, 16,840, 1.113883.3.989.2.1.1.19" displayName="interventionCharacterization”/>
<value xsiitype="CE” code="G.k. 1" codeSystem="2, 16.840. 1. 113883.3.989.2. 1. 1. 13"/>
¢l—— G, k.1: Characterisation of Drug Role Drug #2 ~—>
(subject? typeCode="SUBJ">
¢productlseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b-45cT~92dd~69e06730c3a9" />
{/productiseReference>
</subject2>
{/causalityAssessment>
</component>
<component typeCode="COMP™> .
(causalityAssessment classCode="0BS” moodCode="EVN™>
(code code="39" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="causality”/>
<value xsiitype="ST">G.k.9.1i.2 r.3<{/value>
<methodCade>
CoriginalText>G. k. 9. 1. 2. r. 2</originalText>
{le= G.k.9.1.2.r.2: Method of Assessment Drug #l, Reaction #l, Assessment #1 —>
</methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
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{code?
{originalText>G. k. 9. i. 2. r. 1<{/originalText>
(l— 6.k 9.1. 9. r. 1: Source of Assessment Drug #1, Reaction #1, Assessment #1 ——>
{/code>
{/assignedEntity>
</author>
<subjectl typeCode="SUB]™>
{adverseEffectReference classCode="0BS" moodCode="EVN"™>
<id root="154eb889-958b-4572-a02f-42d4d6T46571"/>
{/adverseEffectReference>
</subjectl>
{subject2 typeCode="SUBJ™>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4dE-e039-4a7a-9c30-67671b0efed” />
</productlUseReference>
{/subject2>
</causalityAssessment>
<{/component>
{component typeCode="COMP™>
<causalityAssessment classCode="0BS” moodCode="EVN™>
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="causality”/>
<value xsiitype="ST™G. k. 9. 1. 2.r. 3¢/value>
<1-=G. k. 9.1.2.r. 3: Result of Assessment Drug #1, Reaction #2, Assessment #1 -—>
<methodCode>
CoriginalText>G. k. 9. 1. 2. r. 2{/originalText>
1—6.%.9.1.2. 1. 2: Method of Assessment Drug #1, Reaction #2, Assessment ¥1 —>
</methodCode>
<author typeCode="AUT™>
{assignedfintity classCode="ASSIGNED™>
<code>
<originalText>G. k. 9.1.2.r. 1¢/originalText>
¢~ 6.k 9.1.2.r.1: Source of Assessment Drug #1, Reaction #2, Assessment #1 -—>
</code>
{/assignedEntity>
</author>
<subjectl typeCode="SUBJ">
(adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2haa28d6-cYef~tebc-93c9-5b860b3142207/>
{/adverseEffectReference>
</subjectl>
<subject? typeCode="SUB]™>
<productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30~67671b0cf9ed />
{/productUseReference>
</subject2>
{/causalityAssessment>
</component>
<component typeCode="COMP™>
<causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” displayName="causality”/>
{valtue xsiitype="ST">G.k.9.i.2.r. 3¢/value>
(}--G.%.9.1.2.1.3: Result of Assessment Drug #2, Reaction #2, Assessment #1 —>
<{methodCode> .
{originalText>G. k. 9. 1. 2. r. 2¢/originalText>
G k. 6. 1.2. 1.2 Method of Assessment Drug #2, Reaction #2, Assessment #1 ——>
{/methodCode>
Cauthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{code>
CoriginalText>6. k. 9. 1. 2.r. I</originalText>
(= 6.k 9.i.2.7. 1! Source of Assessment Drug #2, Reaction ¥2, Assessment #I ~>
</code>
{/assignedEntity>
</author>
<subjectl typeCode="SUBJ™>
CadverseEffectReference classCode="0BS” moodCade="EVN™>
<id root="2baa28d6-c9e8~4e6c-93e9-5b860b3142207 />
(/adverseEffectReference>
</subjectl>
<subject2 typeCode="SUBJ">
<{productUseReference classCode="SBADM” moodCode="EYN">
<id root="68d6{5ce—3b3b-45¢T-92dd-69e06730c3a97/>
{/productUseReference>
</subject2>
{/causalityAssessment?
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{/component>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS™ moodCode="EVN™>
Ccode code="39" codeSystem="2. 16.840. 1, 113883.3.989.2. 1. 1. 187 displayName="causality”/>
Cyalue xsiitype="ST™>G k. 9. 1. 2. 1. 3¢/valued
¢1--G. k. 9.1.2.r.3: Result of Assessment Drug #2, Reaction 42, Assessment #2 —
<{methedCoded
CoriginalText>G. k. 9, 1. 2. r. 2</originalText>
¢l—G. k. 9.i.2. 1. 2 Method of Assessment Drug #2, Reaction #2, Assessment 2 -~
{/methodCode>
<author typeCode="AUT">
(assignedBntity classCode="ASSIGNED™>
{coded
KoriginalText>G. k. 9. i. 2. r. 1¢/originalText>
- G.k.8.1.2. 1. 1: Source of Assessment Drug #2, Reaction #2, Assessment $2 -—>
{/ecode>
(/assignedEntity>
</author>
<subjectl typeCode="SUBJ">
CadverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2baa28d6~cOe8~de6c-93e9-5b860b3142207/>
{/adverseEffectReferenced
</subjectl>
(subject? typeCode="SUB]™>
{productUseReference classCode="SBADM™ moodCode="EVN">
<id root="68d6f5ce~3b3b-45¢7-92dd-68206730c3a8"/>
{/productUseReference>
¢{/subject2>
{/causalityAssessment>
{/component>
<companent] typeCode="COMP™>
CobservationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1. 197 displayName="comment”/>
<yalue xsiitype="ED">H. 2¢{/valued
<!=— H.2: Reporter’s Comments -—>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
¢code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 21" displayName="sourceReporter”/>
{/assignedEntityd
</author>
{/observationEvent>
{/componentl>
{componentl typeCode="COMP™>
{observationBvent classCode="0BS” moodCode="EVN">
Ccode code="15" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 197 displayName="diagnosis”/>
<value xsiitype="CE” code="IL3.r1.1b”" codeSysten="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="H. 3. r. 12"/>
¢t—— H.3.1.1a: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #I -—>
¢l— H. 3.7 1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #1I —>
<author typeCode="AUT™>
CassignedBntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1. 21" displayName="sender”/>
{/assignedBntity>
<{/author>
</observationEvent>
</componentl>
{componentl typeCode="COMP™>
CobservationBvent classCode="0BS” moodCode="EVN">
(code code="15" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1. 19" displayName="diagnosis™/>
<(value xsiitype="CE” code="H.3.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="H.3.r.1a"/>
<}—— H.3.x. 1a: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #2 ——>
(1~ H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #2 -->
Canthor typeCode="8UT™>
¢assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16, 840, 1. 113883.3.980. 2. 1. 1. 217 displayName="sender” />
 {/assignedEntity>
{/author>
{/observationEvent>
</component1>
<componentl typeCode="COMP™>
(observationEvent classCode="0BS” moodCode="EVN">
Ccode code="10" codeSysten="2. 16,840, 1. 113883.3.989.2. 1. 1. 19”7 displayName="comment”/>
<{value xsi:type="ED">H. 4¢/value>
<=~ H. 4! Sender’ s Comments —>
Cauthor typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
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{code code="1" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 21" displayName="sender”/>
{/agsignedEntity>
{/author>
{/observationEvent>
{/componentl>
<componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="3RFETIZHT D2 A F"/>
<value xsi:type="ED">J2.7.2¢/value>
- e6J2. 7. 20 RETIRATHaAL b —>
{/observationEventd
{/componentl>
<componentl typeCode="COMP™>
CobservationEvent classCode="0BS" moodCode="EVN"> .
(code code="4" codeSystem="2. 16. 840, 1. 113883, 3.989. 5. 1. 3.2. 1. 10" displayName="MERHE DM RHE" />
Svalue xsi:type="ED">J2.9<¢/value>
- @8eJ2. 9: MUWEOMEEE —
{/observationfvent>
<{/componentl>
<componentl typeCode="COMP">
{observationEvent classCode="0OBS" moodCode="EVN">
(code code="5" codeSystem="2. 16. 840. 1. 113883. 3.989. 5, 1. 3. 2. 1. 10" displayName="4HDHE"/>
<value xsi:type="ED">J2.10{/value
<l-- 888J2.10: BEDHE —
{/observationEvent>
</component1>
<component] typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>
<code code="6" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3. 2. 1. 107 displayName="% DB HHEIEE"/>
<value xsi:type="ED">J2.11</value>
<l— @eaya. 11 ToMBEWHRT —
{/observationBvent>
</component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN™>
<code code="12" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="$HENEOER"/>
<value xsittype="ED">J2. 16{/value>
- €88)2.16: MENEOELR —
</observationEvent>
{/component1>
<component] typeCode="COMP™>
CobservationEvent classCode="0BS” moodCode="EVN">
(code code="13" codeSystem="2, 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="{{i#1"/>
<value xsiztype="ED">J2. 19</value>
<1 Q88T 190 {1 —>
</observationEvent>
</component1>
<component]l typeCode="COMP™>
{observationfvent classCode="0BS” moodCode="EVN™>
{code code="14" codeSystem="2.16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 10" displayName="{fi#%2"/>
Cvalue xsi:type="ED">J2.20</valued
- @egyz. 20t fEE2 —
{/observationBvent>
{/component1>
{componentl typeCode="COMP">
{chservationEvent classCode="0BS" moodCode="EVN">
(eode code="15" codeSystem="2. 16, 840, 1. 113883. 3, 989.5. 1. 3. 2. 1. 10" displayName="{fi%3"/>
<value xsi:type="ED">J2.21¢</value>
<l-- BGEJ2. 21: {¥E3 —
{/observationEvent>
{/component1y
{componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
(eode code="16" codeSystem="2. 16, 840. 1. 113883.3.989.5.1. 3. 2. 1. 10" displayName="{fi#&4"/>
<value xsi:type="ED">J2. 22¢/value>
<1— 888J2.22: fiE4 —>
{/cbservationEvent>
{/componenti>
{/adverseEventAssessmentd
</component>
<component typeCode="COMP™>
<observationEvent classCode="0BS” woodCode="EVN™>
<code code="1" codeSystem="%. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="additionalDocumentsAvailable”/>
{value xsi:type="BL” value="true”/>
(-~ C.1,.6.1: Are Additional Documents Available? ——>

i
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{/observationEvent>
{/component>
<component typeCode="COMP™>
CobservationEvent classCode="0BS” moodCode="EVN™>
(code code="23" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1. 19”7 displayName="localCriteriaForExpedited”/>
<value xsiitype="BL" value="true”/>
(}— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -~
</observationEvent>
{/component?
{component typeCode="COMP™>
CobservationEvent classCode="0BS" moodCode="EVN">
Coode code="36" codeSystem="2.16. 840. 1. 113883. 3. 989.2.1. 1. 19”7 displayName="summaryAndComment”/>
<value xsi:type="ED” language="H. 5. 1. 1b">H, 5. r. 1a¢/value>
(- H.5.7. la: Case Sumsary and Reporter’s Comments Text #1 —>
(3= H.5, 1. 1b: Case Summary and Reporter’ s Comments Language %1 —>
Cauthor typeCode="AUT"™>
{assignedEntity classCode="ASSIGNED">
{code code="2" codeSystem="2, 16, 840. 1.113883.3.989.2.1.1.217 displayName="veporter”/>
{/assignedEntity>
{/author>
{/vbservationEvent>
{/component>
<component typeCode="COMP™> )
CobservationEvent classCode="0BS” moodCode="EVR™>
(code code="36" codeSystem="2, 16.840. 1. 113883.3.988.2. 1. 1. 197 displayName="summaryAndComment”/>
Cvalue xsi:type="ED” language="H.5.r. 16" 5. r. 1a{/value>
¢t-— H.5. 1. la: Case Summary and Reporter’s Comments Text #2 -—>
(- H.5. 1. 1b: Case Summary and Reporter's Comments Language H2 ——>
{author typeCode="AUT">
(assignedBntity classCode="ASSIGNED™>
(code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 217 displayName="reporter”/>
{/assignedBntity>
{/author>
{/observationEvent>
{/component>
CouthoundRelationship typeCode="SPRT™>
¢relatedInvestigation classCode="INVSTG" moodCode="EVN">
(eode code="1" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 22" displayName="initialReport”/>
{subjectOf2 typeCode="SUBJ >
CeontrolActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
(eode code="C. 1.8.2” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 3"/>
<!— C.1.8.2: First Sender of This Case ~—>
{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
¢/outboundRelationship>
CoutboundRelationship typeCode="SPRT™>
(relatedInvestigstion classCode="INVSTG" moodCode="EVN">
{code nullFlavor="NA"/>
{subject0f2 typeCode="SUBJ™>
CeontrolhctEvent classCode="CACT” moodCode="EVN">
¢id extension="C.1.10.1r” root="2. 16.840. 1. 113883.3.989.2.1.3.2"/>
(1=~ C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) 81 —>
{/controlActBvent>
¢/subject0f2>
</relatedInvestigation>
</outhoundRelationship>
(outboundRelationship typeCode="SPRT™>
(relatedinvestigation classCode="INVSTG" moodCode="EVN™>
{code nullFlavor="NA"/>
{subject0f2 typeCode="SUBJ">
{controlictEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2. 16. 840. 1. 113883. 3. 989, 2. 1.3.2"/>

1~ €. 1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 ~—>
{/controlAciEvent?
(/subject0f2>

{/relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRT™>
<priorityNumber value="1"/>
(l— C.2.v.5: Primary Source for Regulatory Purposes H#1 ——>
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<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 22" displayName="sourceReport”/>
{subject0f2 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT">
Cassignedfntity classCode="ASSIGNED™>
<addr>
{streetAddressLinedC. 2. r. 2. 3{/strectAddressline>
(t-- C.2.r.2.3: Reporter’s Street #1 ~->
{eity>C. 2. r. 2. 4</city>
U— €. 2.1.2.4: Reporter' s City #1 -
{statedC. 2.1, 2. 5</state>
{l— €. 2.r.2.5: Reporter’'s State or Province #1 —>
{postalCode>C. 2. r. 2. 6<{/postalCode>
{l— €. 2.r.2.6: Reporter's Postcode #1 ~>
</addr>
<telecom value="tel:C. 2.7, 2.7/
(3w C.2.1.2.7: Reporter’ s Telephone #1 ~—>
¢assignedPerson classCode="PSN™ determinerCode="INSTANCE™>

{name>
Cprefix>C. 2.r. 1 1/ prefix>
A== Co2.r. : Reporter’'s Title #1 ——>
<given>C.2.r. 1. 2</given>

1
2.r. 1
<3— C.2.r. 1. 2! Reporter's Given Name #1 -—>
<given>C. 2.r. 1. 3/givend
(l== C.2.r.1.3: Reporter’ s Middle Name #1 ~->
{Family>C. 2. r. L. 4{/family>
{l=— C.2.r.1.4: Reporter’s Fomily Name #1 -—>
{/nane>
<asQualifiedEntity classCode="QUAL™>
{code code="C. 2. 1. 4" codeSystem="2. 16. 840.1, 113883.3.989. 2. 1. L.§"/>
<l C 2.r. 4. Qualification #1 —>
<{/asQualifiedEntity>
{asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode=" INSTANCE™>
{code code="C.2.1.3” codeSysten="1.0.3166.1.2.27/>
(1=~ €. 2.1r.3: Reporter’s Country Code #l —>
<{/locationy
{/asLocatedEntity>
</assignedPerson>
<representedOrganization classCode="0RG” determinerCode="INSTANCE">
{name>C. 2. r. 2. 2¢/name>
e . 2.r.2.20 Reporter’s Department #1 ~-
{assignedEntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG” determinexrCode="INSTANCE™>
<{name>C. 2. r. 2. 1{/name>
Cl== £,2.1.2.1: Reporter’ s Organisation #1 -->
{/representedOrganization>
{/assignedEntity>
{/representedOrganization>
{/assignedEntity>
</author>
- {/controlActEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT"™>
(relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
(code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 22° displayName="sourceReport”/>
(subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
Cauthor typeCode="AUT™>
<assignedintity classCode="ASSIGNED">
{addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAdddressline>
{t-— €. 2.r.2.3: Reporter's Street #2 —>
{city>C. 2. 1.2, 4</city>
(== C,2.1r.2.4 Reporter’s City #2 —>
{state>C. 2. r. 2. 5{/state
- €. 2.1.2.5: Reporter’s State or Province #2 ——>
<postalCodelC. 2. r. 2. 6</postalCode>
{l-=— C.2.r.2.6: Reporter s Postcode #2 -
</addr>
<telecom value="tel:C.2.1r.2.77/>
I~ €.2.r.2.7: Reporter’ s Telephone #2 -->
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{assignedPerson classCode="PSN” determinerCode="INSTANCE™>

{name>
CprefixdC. 2. 1. 1 I</prefixd>
le= €, 2.r.1.1: Reporter’'s Title #2 >

1
<givendC. 2. r. 1. 2</given>
¢l €.2.r.1.2: Reporter’s Given Name #2 ——>
<given>C. 2.r. 1. 3¢/given>
Y=~ C.2.r.1.3: Reporter’ s Middle Name #2 -—>
<family>C. 2. 1. L 4</Tamily>
¢i-— C.2.r.1. 4! Reporter's Family Name §2 -—>
{/name>
CasQualifiedEntity classCode="QUAL™>
(eode code="C. 2. 1. 4” codeSystem="2. 16, 840. 1. 113883.3.989.2. 1. 1.67/>
== €2, r.4: Qualification 2 -—>
{/asQualifiedEntity>
{asbocatedEntity elassCode="LOCE™>
Clocation classCode="COUNTRY” determinerCode="INSTANCE™>
¢code code="C. 2. r. 3" codeSystem="1.0.3166.1.2.27/>
¢i-- C.2.1.3: Reporter’ s Country Code #2 ~->
</location>
{/asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2</name>
(le= C.2.r.2.2: Reporter’ s Department #2 —>
(assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 2. 1. 2, 1{/name>
e C.2.r. 2.1 Reporter’s Organisation #2 —>
{/representedOrganization>
{/assignedEntity>
{/representedOrganization>
{/assignedEntity>
{/author>
{/controlActEvent>
{/subject0f2>
{/relatedinvestigation>
{/outboundRelationship>
<subjectOfl typeCode="SUB]">
<controlactEvent classCode="CACT™ moodCode="EVN">
Cauthor typeCode="AUT™>
(assignedEntity classCode="ASSIGNED™>
(code code="C.3. 1" codeSystem="2. 16.840. 1. 113883.3.989.2. L. L.77/>
¢l-- C.3.1: Sender Type —>
<addr>
{streetAddressLine>C. 3. 4. 1</streetAddresshines
{1 (.3.4.1: Sender's Street Address -—>
eity>C. 3. 4.2 /city>
(I~ €.3.4.2: Sender’s City -—>
{statedC. 3. 4. 3¢/state>
¢l-~ €.3.4.3 Sender’ s State or Province >
</addr>
<telecom value="tel:C.3.4.67/>
1=~ C.3.4.6: Sender’ s Telephone —>
(telecom value="fax:C.3.4.77/>
(== €.3.4.7: Sender’s Fax —>
(telecom value="mailto:C.3.4.87/>
1=~ C.3.4.8: Sender’s E-mail Address —>
(assignedPerson classCode="PSN” determinerCode=" INSTANCE™
<{name>
<prefixd>C. 3. 3. 2</prefix>
<l-=~ (.3.3.2: Sender’s Title ——>
<givendC. 3. 3. 3</given>
{1— €.3.3.3: Sender’s Given Name -—>
{givendC. 3. 3. 4</givend
1~ C.3.3.4: Sender’ s Middle Name ——>
<Family>C. 3. 3. 5</family>
<l-—~ (.3.3.5: Sender’s Family Name —->
{/name>
¢asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
(code code="C.3.4.5" codeSystem="1.0.3166.1.2.27/>
¢l C.3.4.5: Sender’s Country Code —>
{/location>
{/asLocatedEntity>



{/assignedPerson)
(representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 3. 2</name>
(! C.3.2: Sender’s Organisation —>
{/representedOrganization>
{/assignedEntity>
</author>
(primaryInformationRecipient typeCode="PRCP™>
<assignedEntity classCode="ASSIGNED™>
CassignedPerson classCode="PSN” determinerCode="INSTANCE™>
<{name>
<prefix>J2. 18. 2</prefix>
<I— @88J2.18.2: REH BEx -
<family>J2. 18. 3¢/family>
- @B&JZ. 1830 FTEH ¥ —
{given>J2. 18. 4{/given>
<l— @86J2,18.4: RIEH £ —
{/name>
<{/assignedPerson’>
<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>J2. 18. 1<{/name>
Ci-- gesJ2.18. 1: REH MEH —
{/representedOrganization>
{/assignedEntity>
{/primaryInformationRecipient)
{/controlActEvent>
<{/subjectQfl>
<subjectOf1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityNawe="C. 1.9, 1.1.17 extension="C.1.9. L. r. 27 root="2. 16,840, 1.113883.3.983.2. 1.3.3"/">
== C.1.9.1.r. 1 Source(s) of the Case Identifier (repeat as necessary) #1 —>
(== €. 1.9.1. 1.2 Case Identifier(s) #1 -->
{/controlActEvent>
</subject0f1> »
{subjectOf1 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9. 1. r. 2" root="2, 16. 840. 1.113883. 3,989.2.1.3.3"/>
<I— €. 1.9. 1. 1. 1: Source{s) of the Case Identifier (repeat as necessary) H2 -->
{I==C.1.9.1.r.2 Case Identifier(s) #2 ~>
</controlActEvent>
<{/subjectOf1>
{subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 23" displayName="ichReportType”/>
{value xsi:type="CE" code="C. 1.3" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.27/>
{{-- C.1.3 Type of Report —->
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1, 23" displayName="otherCaselds”/>
<value xsiitype="BL” value="true”/>
{}—— €. 1.9.1 Other Case Identifiers in Previous Transmissions -->
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1, 113883, 3. 989, 2. 1. 1. 23" displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1" codeSystem="2. 16, 840.1. 113883.3.989.2.1.1.5"/>
<l— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
</subject0f2>
Csubject0f2 typeCode="SUB]™>
CinvestigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2.16.840. 1. 113883. 3. 989, 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
<value xsi:type="CE™>
ZoriginalText>C. 1. 11, 2{/originalText>
{1— €. 1,11, 2: Reason for Nullification / Amendment -->
<fvalued
<{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12”7 displayName="J&BUFH (HELH) "/
{value xsiitype="CE” code="J2. 1a” codeSystem="2, 16.840.1, 113883.3.989.5.1.3.2. 1. 1"/>
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-- g8eJ2. la: MBNES (WEHEY —
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUB]">
(investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="2" codeSystem="2. 16. 840, 1. 113883. 3.980. 5. 1. 3. 2. 1. 12" displayName="$RE5EF A"/>
<value xsi:itype="TS” value="20130107"/>
<I-- ggaja.2. 1 HEEER —
(/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
(investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="3" codeSystem="2. 16, 840, 1. 113883.3.989.5.1.3. 2. 1. 127 displayName=" EEFBICETS AR
Cvalue xsi:type="ED7>]2.2.2</valued
<d-- §88J2.2.2: WEREFEAZETIaAE
{/investigationCharacteristic>
{/subjectDf2>
{subject0f2 typeCode="SUB]™>
<investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="4" codeSystem="2. 16. §40. 1. 113883.3.989.5.1.3.2. 1. 127 displayNeme="BR#§3R¢ 7 5 77/
<value xsi:type="CE" code="J2.3" codeSystem="2. 16.840.1.113883.3.989.5. 1.3.2. L. 277>
- 08)2.3: EEYRET T Y —>
</investigationCharacteristic>
{/subject0f2>
¢subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
Ccode code="5" codeSystem="2. 16.840.1.113883.3.989.5. 1. 3.2. 1. 12" displayNeme="$& &5 7 5 P A
Cvalue xsi:type="CE” code="J2.8. 17 codeSystem="2. 16.840.1.113883.3.989.5.1.3.2. 1, 67/>
l— g@gJ2 8. 1 MEXBATT S —>
</investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
(investigationCharacteristic classCode="0BS" moodCode="EVN™> .
<code code="6" codeSystem="2.16. 840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 12" displayName=" 5 Sot OEM />
Cvalue xsictype="ED7>J2. 8. 2<{/value>
<l— gagJz.8.2: MR HSOEHE —>
(/investigationCharacteristic®
</sub ject0f2>
</investigationEvent>
</subject>
<{/controlActProcess>
</PORR_INO49016UV>
<t— Message #1 —>
<l— Message $2 ~>
I~ PORR_INO4SOLEUV —->
¢1-— /PORR_IN0490160V ~—>
<l-— Message #2 >
<receiver typeCode="RCV™>
<device classCode="DEV” determinerCode="INSTANCE™>
Cid extension="N.1.4" root="2.16.840. 1. 113883.3.989.2,1.3. 14"/>
¢1~~ N.1.4! Batch Receiver ldentifier —>
</device
{/receiver>
¢sender typeCode="SND">
¢device classCode="DEV” deterninerCode="INSTANCE™>
¢id extension="N.1.3" root="2.16.840. 1. 113883.3.989.2.1.3.13"/>
¢l-— N.1.3: Batch Sender Identifier -->
{/device>
{/sender>
<{/MCCI_IN200100UVOL>



MMLBRRA v A X A (BFEERE)

{Txml version="1.0" encoding="UTF-8"7>
CMCCI_IN200100UVOI ITSVersion="¥ML_1.0” xsi:schemalocation="urn:hlT-org:v3 MCCI_IN200100UVO1L. xsd” xmlns="urn:hl7-org:v3” xmlnsixsi="http!//www. w3.org/
2001/XMLSchema~instance”>
<id extension="N. 1,27 root="2, 16.840. 1. 113883, 3. 989, 2.1.3.22"/>
(b N, 1.2: Batch Number -—>
CcreationTime value="201012141516177/>
¢}-— N.1.5: Date of Batch Transmission -
<responseModeCode code="D"/>
Cinteractionld extension="MCCI_IN200100UV01” root="2.16, 840. 1. 113883.1.6"/>
<name code="N.1.17 codeSystem="2. 16, 840, 1. 113883, 3.988. 2. 1. 1. 17/>
(l=- N.1.1: Type of Hessages in Batch ~~>
¢l Hessage 1 —>
<PORR_ING49016UV>
¢id extension="N.2.r. 17 root="2.16.840.1.113883.3.989.2.1.3.17/>
(o= N 2.1, 17 Message Identifier ——>
{creationTime value="201012141516177/>
<I=— N, 2.r.4: Date of Message Creation —>
interactionId extension="PORR_INO48016UV” root="2. 16.840. 1. 113883, 1.67/>
<processingCode code="P"/>
{processingfodeCode code="T"/>
CacceptackCode code="AL"/>
<receiver typeCode="RCV™>
(device classCode="DEV” determinerCode="INSTANCE™>
¢id extension="N.2.1.3" root="2. 16, 840.1. 113883, 3.989. 2. 1. 3. 12"/>
{I-— N.2.r.3: Message Receiver ldentifier ——>
{/device>
{/receivery
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>

<id extension="N.2.1.2" root="2, 16, 840. 1. 113883, 3.989. 2. 1.3.117/>
<l-— N.2.r.2: Message Sender Identifier —>
</devicey
{/sender>

<controlActProcess classCode="CACT™ moodCode="EVN">
<cade code="PORR_TEQ4G016UV" codeSystem="2. 16, 840. 1. 113883, 1. 18"/>
¢Y-- HL7 Trigger Event ID -->
CeffectiveTine value="20101214151617"/>
<l-—— C.1.2: Date of Creation ——>
{subject typeCode="SUBJ™>
<investigationEvent classCode="INVSTG™ moodCode="E¥N">
<id extension="C, 1.1 root="2. 16,840, 1. 113883.3.989. 2. 1.3.17/>
<l €. 1.17 Sender's (case) Safety Report Unique Identifier —>
<id extension="C.1,8. 1" root="2.16.840. 1. 113883, 3.989.2.1.3.2"/>
<l— C,1.8.1: Worldwide Unique Case ldentification Number —>
<id extension="J2.1b" root="2. 16.840. 1. 113883.3.989.5.1.3.2.3.1"/>
- @8RJ2. 1b: MEBIEE (BB -
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840. 1. 113883.5.4"7/>
(textOH 1</ text>
¢1—— H.1: Case Narrative Including Clinical Course, Therspeutic Measures, Outcome and Additional Relevant Information -——>
(statusCode code="active”/
<l-- @E8J2.7.1 BT, RETRESL —>
effectiveTime>
<{low value="200901017/>
(1=~ C.1.4: Date Report Was First Received from Source —>
{feffectiveTime>
<availabilityTime value="200901017/>
<t== €. 1.5: Date of Most Recent Information for This Report —>
(reference typeCode="REFR"™>
<document classCode="DOC" moodCode="EVN™>
Ceode code="2" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 27" displayName="1literatureReference”/>
(titledJ2. 17, x</titled
KI-- @28J2.17.x BB/ HIROSE #1 >
<text mediaType="application/pdf” representation="B64">C.4,r.2<¢/text>
1--"C.4.r.2: Included Documents #1 —> :
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
<l €. 4.1r.1: Literature Reference(s) H#1 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<aslocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE™>
¢code code="J2.15. 1" codeSysten="1.0.3166,1.2.27/>
f— @6@J2. 15. r AKE #1 -
</location>
{/asLocatedEntity>



{/representedOrganization>
{/assignedEntity>
{/participation>
¢/document>
{freference>
<reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN">
(code codes"2" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 27" displayName="1iteratureReference”/>
<title>J2.17. rd/titled
Cl-- @88J2.17. r REHROZE #2 —>
(text mediaType="application/pdf” representation="B64">C.4.r.2¢/text>
<= C.4,r.2: Included Documents 2 —>
(bibliographichesignationText>C. 4. r. 1</bibliographicDesignationText>
¢I— C.4.r.1: Literature Reference(s) #2 -
{participation typeCode="AUT">
{assignedfntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG”™ determinerCode="INSTANCE™>
{asLocatedEntity classCode="LOCE™>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2.15.1" codeSystem="1. 0. 3166. 1.2.27/>
l— @88J2.15.r ZkH 2 —>
</location>
{/asLocatedEntity>
{/representedOrganization>
{/assighedEntity>
{/participation>
{/document>
{/reference>
{component typeCode="COMP™>
<adverseEventAssessment classCode="INVSTG™ moodCode="EVN™>
<subjectl typeCode="SBJ">
{primaryRole classCode="INVSB}">
<playerl classCode="PSN” determinerCode="INSTANCE"/>
<subjectOf1 typeCode="SBJ">
{rosearchStudy classCode="CLNTRL” moodCode="EYN">
¢id extension="C.5. 3" root="2.16.840.1. 113883.3,989.2.1.3.5"/>
<l C.5.3: Sponsor Study Number ——>
<code code="C.5.4" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1.87/>
¢1— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
<titledC.5. 2</titled>
<I— C.5.2: Study Name -->
{authorization typeCode="AUTH™>
(studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r. 17 root="2,16.840. 1. 113883.3.989.2.1.3.6"/>
<I— €. 5.1.r. 1 Study Registration Number #1 —>
<author typeCode="AUT™>
(territorialAuthority classCode="TERR™>
¢governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.5.1.r.2" codeSystem="1.0.3166.1.2.27/>
<i— €. 5.1.r.2: Study Registration Country ¥1 —>
{/governingPlace>
</territorialAuthority>
</author>
{/studyRegistration>
</authorization>
Cauthorization typeCode="AUTH™>
¢studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5.1.1r.17 root="2,16.840. 1. 113883.3.989.2. 1. 3.6"/>
<l-- C.5.1.r. 1 Study Registration Number #2 >
<author typeCode="AUT">
<territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1.0.3166. 1. 2.27/>
(4=~ C.5.1. 1.2 Study Registration Country #2 -->
{/governingPlace>
{/territorialAuthority>
<{/author>
{/studyRegistration>
</authorization>
{/researchStudy>
</subjectOf1>
{subjectOf2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 20" displayName="druglnformation”/>
1= G.k Drug(s) Information (repeat as necessary) #1 —>
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{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN™>
<id root="3cH1b4d5-e039-4a7a~9c30-8767 Ib0efTed” />
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
(code code="G.k.2.1.1b” codeSystem="TBD-WPID"/>
<1— G.k. 2.1.1b: Medicinal Product Identifier (MPID) #I —>
<{name>G. k. 2. 2</nane>
<}-- G. k. 2.2 Hedicinal Product Name as Reported by the Primary Source #I —>
<asManufacturedProduct classCode="MANU">
<(subjectOf typeCode="SBI™>
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G.k.3.1” root="2.16. 840, 1. 113883. 3.989.2. 1. 3.4"/>
<t~ G.k.3.1: Authorisation / Application Number #I -->
<author typeCode="AUT™>
(territorialAuthority classCode="TERR™>
<territory classCode="NAT” determinerCode="INSTANCE™)
{code code="G.k. 3.2” codeSystem="1,0.3166,1.2.27/>
I~ G. k. 3.2: Country of Authorisation / Application ¥t —>
<{/territory>
</territorialAuthority>
</author>
{pertinentInformation typeCode="PERT™>
{policy classCode="POLICY” moodCode="EVN™>
{code code=")2.5.k" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1.4"/>
A—gegne. sk —RABREEFOVRIESE #l —>
</pelicy>
{/pertinentInformation>
</approval>
</subjectOf>
<subjectOf typeCode="SB]™>
{characteristic classCode="0BS” moodCode="EVN">
Ccode code="1" codeSystem="2, 16. 840. 1. 113883.3.989.5, 1.3, 2. 1. 10” displayNome=" $EBMHF OHRES ">
<value xsi:type="CE" code="J2.4. k" codeSystem="2.16.840, 1. 113883.3.989.5.1.3.2. 1.3"/>
<I-- @882, 4. k: FERLBFORRERS #1 —
</characteristic>
</subjectOf>
{/asManufacturedProduct>
<asSpecializedKind classCode="GEN"™>
{generalizeddaterialKind classCode="MAT" determinerCode="KIND">
{code>
<originalText>]J2. 12{/originalText>
<A @8J2.12: RBERAES —
</code>
{/generalizedMaterialKind>
</asSpecializedKind>
{ingredient classCode="ACTI™>
<ingredientSubstance classCode="MUAT" determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystew="TBD-Substance”/>
<}=~ G. k. 2.3.r.2b: Substance / Specified Substance TermlD #1-1 -~
<name>G. k. 2. 3. r. 1</name>
¢l— 6.k.2.3.r.1: Substance / Specified Substance Name #1-1 ——>
</ingredientSubstance>
</ingredient>
{ingredient classCode="ACTI™>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{eode code="G. k.2, 3.1.2b” codeSysten="TBD~Substance”/>
<!— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-2 —>
<name>6. k. 2. 3. r. 1</name> '
I G.k.2.3.r.1: Substance / Specified Substance Name #1-2 -->
<{/ingredientSubstance>
</ingredient>
</kind0fProduct>
<subjectOf typeCode="SB]">
{observationEvent classCode="0BS" moodCode="EVN™>
<code code="2" codeSystem="2, 16, 840, 1. 113883. 3. 989. 5. 1.3, 2. 1. 10" displayName="—#BERHDOANFERKE" />
<yalue xsirtype="CE” code="J2.6.k" codeSystem="2. 16.840. 1. 113883.3.989.5. 1.3. 2. 1.5"/>
Cl-- @e@J2. 6.kt —RMERKBOAFER 31 —
</observationEvent>
</subject0f>
<{/instance0fKind>
</consumable>
</substanceAdministration>
{/component>



{/organizer>
{/subject0f2>
{subject0f2 typeCode="SBJ™>
Lorganizer classCode="CATEGORY” moodCode="EVN">
¢code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3. 2. 1. 117 displayName="IBERORE"/>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
Ccode code="T" codeSystem="2. 16, 840, 1. 113883, 3, 989.5. 1. 3. 2. 1. 10" digplayName="J3 HEEL"/>
<value xsi:type="INT" value="1"/>
<l-- geaJ2.13.r. 11 JAHIEEL #1 —>
{/observation?
{/component>
(component typeCode="COMP™>
Cobservation classCode="0BS™ moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 107 displayName="%} BRI />
<value xsi:type="ED">]J2.13.r, 2{/value>
<I-— @E8J2. 13. 1. 20 SRR #1 —
{/observation>
{/component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3. 2. 1. 107 displayName="BE&"/>
Cvalue xsiitype="CE” code="J2.13.r.3" codeSysten="2, 16, 840. 1. 113883.3.989.5. 1.3. 2. L.77/>
<i-- @eeJ2. 13.r. 37 PREA #1
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN™>
{code code="10" codeSystem="2. 16. 840. 1. 113683.3,989.5. 1. 3.2, 1. 107 displayName="$ IR B OIEHOATI"/>
<value xsi:type="BL” value="true”/>
<I-- €2872.13. 1. 41 BEPOFEROFE &1 >
{/observation>
</component>
{/organizer>
¢/subjectOf2>
<subject0f2 typeCode="SBJ™>
{organizer classCode="CATEGORY” mocdCode="EVN™>
<code code="1" codeSystem="2. 16, 840. 1. 113883, 3. 983.5.1.3.2. 1. 11" displayName="fRER O/
{component typeCode="COMP™>
(observation classCode="0BS" moodCode="EVN™>
(code code="7" codeSystem="2.16. 840. 1. 113883.3.989. 5. 1.3.2. 1. 107 displayName="JR HE¥L"/>
<value xsiitype="INT" value="17/>
- g88J2.13.7. 11 RHEH #2 —>
{/observation>
{/component>
Zcomponent typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
Ccode code="8" codeSystem="2. 16, 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="%f8UEM"/>
Cvalue xsiitype="ED">J2.13.r.2¢/value>
<l-- @6@J2.13.v.2: XEEB #2 —
{/observation>
<{/component>
{component typeCode="COMP™>
{ohservation classCode="0BS” moodCode="EVN"> .
(code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. L. 10”7 displayName="B15E4R"/>
(value xsiltype="CE” code="J2.13.r.3” codeSystem="2. 16. 840. 1. 113883,3.989.5.1.3.2. 1.77/>
<l-- @eeJ2.13.r.3: PASRAR #2 —
{/observation>
</component’>
<component typeCode="COMP™>
(observation classCode="0BS” moodCode="EVN™>
Ceode code="10" codeSystem="2. 16, 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="13 3P DEFIOFE"/>
Cvalue xsi:type="BL" value="false”/>
<l 888J2. 13. 1. 41 BIEPOEHOFE &2 >
{/observation>
{/component>
{/organizer>
{/subject0f2>
¢/primaryRole>
</subjectl>
<componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883.3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED">H. 4</value>
<I-= H.4: Sender’ s Comments —>



<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2. 16, 840. 1, 113883. 3.
{/assignedEntity>
</author>
{/observationEvent>
</component1>
<componentl typeCode="COMP">
{observationfvent classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16. 840. 1. 113883, 3. 989.
value xsiitype="ED">J2.7. 2¢/valued
{1 @8@J2.7.2: RETWHTHIAL b >
{/observationEvent>
<{/componentl>
<component] typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">
<(code code="5" codeSystem="2. 16, 840. 1. 113883, 3. 989
<value xsi:type="ED7>J2. 10<¢/valued
(I-- @88J2.10: SH O —>
<{/observationEvent>
{/component]>
{componentl typeCode="COMP™>
<observationfvent classCode="0BS” moodCode="EVN™>

{code code="6" codeSystem="2, 16. 840. 1. 113883. 3.988. 5. 1.3, 2. 1. 107

<{value xsi:type="ED">J2. 11<{/value>
<I— @882 11: TOMBEWHE —>
{/observationEvent>
</componéntl>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">

989.2. 1. 1. 21" displayName="sender”/>

5.1.3.2. 1. 10" displayName=" KTz T2 2 b7/

2,

L 1.3.2.1. 10" displayName="&§ & O/

displayName="F DB FHHFHE"/>

<code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="HI4 B OB E

<{value xsi:type="ED">J2.16</value>
<I— @e8)2. 16 MENBEOER —
{/ohservationEvent)
{/componentl1>
</adverseEventAssessment>
{/component>
{component typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>

{code code="23" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="localCriteriaForExpedited”/>

{value xsi:type="BL” value="true”/>

<l €.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>

{/chservationEvent>

{/component>

{outboundRelationship typeCode="SPRT">
<relatedinvestigation classCode="INVSTG" moodCode="EVN™>

<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 22" displayName="initialReport™/>

(subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT")>
<assignedEntity classCode="ASSIGNED">

Lcode code="C.1.8.2" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.3"/>

{I— C.1.8.2: First Sender of This Case -~
{/assignedEntity>
</author>
{/controlActEvent>
<{/subject0f2>
</relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRI™>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<ecode nullFlavor="NA"/>
<subject0f2 typeCode="SUB]™>
<controldctEvent classCode="CACT” moodCode="EVN™>

<id extension="C.1. 10.r" root="2 16, 840. 1. 113883.3.988.2.1.3.2°/>
{l— €. 1.10.r! Identification Number of the Report ¥hich Is Linked to This Report (repeat as necessery)

{/controlActEvent>
</subject0f2>
</relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
{sub jectOf2 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN">

#1 —>



(id extension="C.1.10.1r" root="2.16.840. 1. 113883, 3.988.2.1.3.2"/>
(Je- C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
{/controlActEvent>
{/subject0f2>
</relatedInvestigation>
</outboundRelationship>
<subjectOf1 typeCode="SUBJ">
<controlActBvent classCode="CACT™ moodCode="EVN">
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{addr>
<streetAddressLine>C. 3. 4. 1</streetAddressLine>
¢l-= €.3,4,1: Sender’ s Street Address —->
{eity>C. 3. 4. 2</city>
¢}— C:3.4,2: Sender’s City —>
{state>C. 3. 4. 3{/stated>
¢I=— C.3.4.3: Sender’s State or Province -->
{/addr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>
<prefixeC. 3.3, 2</prefixd>
J=~ €.3.3.2: Sender’s Title —>
<given>C. 3. 3.3</given>
1= C.3.3.3: Sender’s Given Name —>
CgivendC. 3. 3. 4</given>
¢}~ C.3.3.4: Sender’ s Middle Name -->
{Family>C. 3. 3. 5</Family>
¢1-— C.3.3.5: Sender’s Family Name -->
{/name>
<asLocatedEntity classCode="LOCE™>
<loeation classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C, 3.4.5" codeSystem="1.0.3166.1.2.2"/>
(I C.3.4.5: Sender’s Country Code —>
{/lecation>
{/asLocatedEntity>
</assignedPerson> .
{represented0rganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 3. 2¢/nane>
¢l-— C.3.2: Sender’s Organisation -->
{/representedOrganization>
{/assignedEntity>
{/author>
{/controlActEvent>
<{/subjectOf1>
<subjectOfl typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r, 17 extension="C.1.9. 1. r. 2" root="2.16.840.1. 113883.3.985.2.1.3.3"/>
{J=- C.1.9.1.x. 1 Source(s) of the Case Identifier (repeat as necessary) #1 -->
{1~ € 1.9.1.r.2 Case Identifier(s) #1 —>
{/controlActEvent>
<{/subjectOf1>
<subject0f1 typeCode="SUBJ">
{controlictEvent classCode="CACT™ moodCode="EVN">
{id assigningAuthorityName="C.1.9.1.1. 17 extension="C.1. 9. 1.r. 2" root="2. 16, 840.1, 113883.3.989.2.1.3.3"/>
- €. 1.9.1. 1. 1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
- C.1.9.1.1. 2 Case Identifier(s) #2 -——>
{/controlActEvent>
{/subjectOfl>
<subject0f2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS”™ moodCode="EVN">
{code code="1" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 23" displayName="ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2, 16.840. 1. 113883.3.989.2.1.1.2"/>
<t— C.1.3 Type of Report ——>
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 23" displayName="otherCaselds”/>
{value xsi:type="BL” value="true”/>
<}-- C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUB]™>
(investigationCharacteristic classCode="0BS” moodCode="EVN"> ;
{code code="3" codeSystem="2. 16, 840, 1. 113883.3.989.2. 1. 1. 23" displayName="nullificationAmendmeniCode”/>

-6 -

#2 —>



Cyalue xsiitype="CE” code="C.1.11.1" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.57/>
¢l C.1.11.1: Report Nullification / Amendment —->
</investigationCharacteristic)
</subject0f2>
<subject0f2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
(code code="4" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
{value xsi:type="CE™>
<originalText>C. 1. 11. 2</originalText>
(== €. 1,11, 2: Reason for Nullification / Amendment ~->
</value>
{/investigationCharacteristic>
<{/subject0f2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVYN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12" displayNane="RERIEHH (BESH) />
Cvalue xsi:type="CE" code="J2.1a"” codeSystem="2. 16,840, 1. 113883, 3.989.5.1.3.2. 1. 1"/>
A-- ge@J2. 1a: HWIBREE (WESW —
</investigationCharacteristic>
<{/subject0{2>
<subjectOf2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS” moodCode="EVN™>
{code code="2" codeSystem="2. 16, 840. 1. 113883.3.989.5. 1.3.2.1. 12" displayNeme="$%5EH A"/
<value xsiitype="TS" value="20130107"/>
G- G88J2. 2. 10 WMEWEH -
</investigationCharacteristic)
</subject0f2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1. 127 displayName="@EBE HICHT A 70
<value xsi:type="ED">]J2.2.2¢/value>
<~ 68eJ2.2.2: MEVWHAICHT DA —>
</investigationCharacteristic>
<{/subjectlf2>
{/investigationEvent>
/subject>
{/controlActProcess>
</PORR_INO49016UV>
(-~ Message #1 —>
<l Message #2 ~>
<l— PORR_INO49OI6LV —>
<! /PORR_ING49016UV —>
(I=- Message #2 -->
<receiver typeCode="RCV™>
{device classCode="DEY" determinerCode="INSTANCE™>
<id extension="N. 1.4" root="2. 16.840.1.113883.3.989.2. 1.3. 14"/
¢I~- N.1.4: Batch Receiver Identifier —>
{/device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.3” root="2.16.840. 1. 113883.3.989.2. 1.3, 13" />
¢J-- N. 1.3 Batch Sender Identifier -—>
{/device>
</sender>
</MCCI_IN200100UVO1>



XMLERRA v AZ A UEEERS)

(Pxml version="1.0" encoding="UTF-8"7>
CHCCI_IN200100UV01 ITSVersion="XML_1. 0" xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UVOL. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3, org/
2001/XMLSchema~instance™>
<id extension="N. 1. 2" root="2.16.840. 1.113883.3.989.2. 1.3, 22" />
<= N.1.2: Batch Number ——>
(creationTime value="201012141516177/>
¢(le=~ N.1.5: Date of Batch Transmission —D>
<responselodeCode code="D"/>
interactionld extension="MCCI_IN200100UV01™ root="2. 16.840. 1. 113883. 1. 6"/>
(name code="N. 1. 17 codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 1"/>
<= N.1.1: Type of Messages in Batch -—>
<1-- Message #1 —>
<PORR_INO49016UV>
¢id extension="N.2.r.1” root="2.16.840.1.113883.3.989.2.1. 3. 17/
4= N.2.r.1: Message Identifier -5
(ereationTime value="201012141516177/>
¢l— N.2.r.4: Date of Message Creation —>
interactionld extension="PORR_IN049016UV” root="2, 16. 840. 1. 113883. 1. 6”/>
{processingCode code="P"/>
{processingModeCode code="T"/>
¢acceptickCode code="AL7/>
{receiver typeCode="RCV™>
(device classCode="DEV™ determinerCode="INSTANCE™>
¢id extension="N.2.r.3" root="2 16.840.1. 113883.3.989.2. 1. 3. 127/>
(l—= N.2.7.3: Message Receiver Identifier ——>
</device>
{/receiver>
<sender typeCode="SND™>
(device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2.1.2" root="2.16. 840.1.113883.3.989.2.1.3.117/>
{l~= N.2.r.2: Message Sender Identifier ——>
{/device>
</sender>
(eontrolActProcess classCode="CACT™ moodCode="EVN™>
Ccade code="PORR_TE0490160V” codeSystem="2. 16. 840. 1. 113883. 1. 187/>
<= HL7 Trigger Event ID —->
CeffectiveTime value="201012141516177/>
¢i-— C.1.2: Date of Creation -—>
<{subject typeCode="SUBJ">
{investigationEvent classCode="INVSTG” moodCode="EVN">
¢id extension="C.1.1” root="2.16.840. 1. 113883, 3.989. 2. 1. 3. 17/
¢l-= C. 1. 1: Sender’s (case) Safety Report Unique Identifier —->
¢id extension="C.1.8.17 root="2, 16.840. 1. 113883.3.980. 2. 1. 3. 2775
¢l C.1.8.1: Worldwide Unique Case Identification Number —->
<id extension="J2.1b” root="2.16.840. 1 113883.3.989.5.1.3.2. 3. 17/
<I-— ggeJo. 1b: MMES (FH) —
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840. 1. 113883. 5. 477>
CtextOH. 1/ textd
(i1-— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ~—>
(statusCode code="active”/>
l— geey2. 7.1 BT, RETRL —>
{effectiveTime>
<low value="200901017/>
(J-- C.1.4: Date Report Was First Received from Source -
{/effectiveTime>
CavailabilityTime value="200901017/>
¢l—— C.1.5: Date of Most Recent Information for This Report -7
(reference typeCode="REFR">
¢document classCode="DOC” moodCode="EVN"™>
¢code code="2" codeSystem="2. 16.840. 1. 113883, 3.989.2. 1. 1. 277 displayName="1literatureReference”/>
¢text mediaType="application/pdf” representation="B64">C.4.r. 2</text>
<=~ €. 4.r. 20 Included Documents 1 -3
(bibliographicnesignationText)C.4.r.1</bibliographicDesignationText)
(l-- C.4.1.1: Literature Reference(s) #1 >
(participation typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
(representedOrganization classCode="0RG” determinerCode="INSTANCE™>
¢asLocatedBntity classCode="LOCE™>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
(code code="J2.15.1r" codeSystem="1.0.3166.1.2.27/>
<l @8eJ2. 15 r EE #1
</location>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>



</participation>
</document>
{/reference>
<reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN">
(code code="2" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 27" displayName="1iteratureReference”/>
(text mediaType="application/pdf” representation="B64">C. 4. r. 2¢/text>
(I== C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
<]-- . 4.r. 17 Literature Reference(s) #2 ——>
<participation typeCode="AUT™)
{assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<aslocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="J2.15.1r" codeSystem="1.0.3166.1.2.27/>
- @E@J2. 15 r A #2 —>
</location>
{/aslocatedEntity>
¢/representedOrganization>
</assignedEntity>
¢/participation>
{/document>
{/reference>
{component typeCode="COMP™>
<adverseEventAssessment: classCode="INVSTG™ moodCode="EVN">
{subjectl typeCode="SBJ™>
{primaryRole classCode="INVSB]™>
{playerl classCode="PSN” determinerCode="INSTANCE"/>
¢subjectOf1 typeCode="5B]">
(researchStudy classCode="CLNTRL” moodCode="EVN™>
<id extension="C.5.3" root="2.16.840.1.113883.3.989.2.1.3.5"/>
<!— C.5.3: Sponsor Study Number -->
<code code="C.5.4" codeSystem="2, 16. 840, 1. 113883. 3. 989.2.1.1.8"/>
<1— C.5. 4! Study Type ¥here Reaction{s) / Event(s) Were Observed —>
<titledC. 5. 2</title>
<1—- €.5.2: Study Name ~->
<authorization typeCode="AUTH™>
<studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.17 root="2.16. 840, 1. 113883, 3.989.2. 1.3.6"/>
<l C.5.1.r. 1: Study Registration Number #1 —>
<author typeCode="AUT™>
{territorialAuthority classCade="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5. 1.1 27 codeSysten="1.0.3166.1.2.27/>
<I-~ C.5.1.r.2: Study Registration Country #1 -->
{/governingPlace>
{/territorialAuthority>
</author>
<{/studyRegistration>
{/authorization>
Cauthorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5.1.r. 17 root="2.16.840. 1, 113883.3.989.2.1.3.6"/>
¢t— €, 5.1.xr.1 Study Registration Number #2 —>
<author typeCode="AUT™>
<territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r. 27 codeSystem="1.0.3166,1.2.2"/>
<t— €.5.1.r.2: Study Registration Country 2 —>
</governingPlace>
{/territorialAuthority>
{/author>
{/studyRegistration>
{/authorization>
{/researchStudy>
{/subject0f1>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="E¥N">
<code code="4" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 20” displayName="drugInformation”/>
<!— G.k Prug(s) Information (repeat as necessary) #1 —>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADH" moodCode="EVN">
<id root="3c91b4d5~e039-4aTa-9c30-67671b0ef9ed” />
{consumable typeCode="CSH">



{instanceOfKind classCode="INST™>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{eode code="G. k. 2. 1. 1b” codeSystew="TRD-WPID"/>
¢l Gk 2. 1. 1b: Medicinal Product Identifier (MPID} 21 —>
{name>G. k. 2. 2{/name>
<!t~ G.k. 2.2 Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SB]™>
<approval classCode="CNTRCT™ moodCode="EVN™>
<id extension="G.k. 3. 1”7 root="2, 16, 840. 1. 113883.3.985.2. 1. 3. 4"/>
<J~- G.k 3.1: Authorisation / Application Number #1 —>
{atithor typeCode="AUT">
{territorialAuthority classCode="TERR™>
<territory classCode="NAT" determinerCode="INSTANCE™>
{code code="G.k. 3.2" codeSystem="1.0.3166.1.2.27/>
1= G.k.3.2: Country of Authorisation / Application #1 —>
</territory>
<{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. 1.47/>
< ggeJ2. 5.k —AERKVOY XVRSHE B —>
</policy>
{/pertinentInformation>
</approval>
<{/subject0f>
<subjectOf typeCode="SB}™>
{characteristic classCode="0BS™ meodCode="EVN™>
(code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 10" displayName="$FEIMF ORI H"/>
<value xsi:type="CE” code="J]2.4.k” codeSystem="2.16.840.1. 113883, 3.989.5.1.3.2. 1.37/>
<I-- @68J2. 4.k FEEBFORRES #1 -
</characteristic>
</subject0f>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
(generalizedMaterialKind classCode="MAT” determinerCode="KIND™>
{code>
CoriginalText>J2.12<{/originalText>
<I-- @@J2. 12t RERSRT
</code>
{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI™>
CingredientSubstance classCode="MMAT” determinerCode="KIND™>
<code code="G. k. 2.3.1.2b” codeSystem="TBD-Substance”/>
<i—— G.k.2.3.r.2h: Substance / Specified Substance TermlD #1-1 —
<namedG. k. 2. 3. 1. 1</name>
¢1— G.k.2.3.x. 1: Substance / Specified Substance Name #1-1 ——>
</ingredientSubstance>
<{/ingredient>
<ingredient classCode="ACTI™>
(ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
{I— 6.k.2.3.r.2b: Substance / Specified Substance TermlD #1-2 —>
<name>G. k. 2. 3. r. 1<{/name>
<l—— G6.k.2.3.r.1: Substance / Specified Substance Name #1-~2 —>
<{/ingredientSubsiance>
{/ingredient>
</kind0OfProduct>
{subjectOf typeCode="SB]">
{observationBvent classCode="0BS” moodCode="EVN™>
<code code="2" codeSystem="2. 16, 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 107 displayName="—SHEIKMDOAFER"/>
{value xsittype="CE" code="J2.6.k” codeSystem="2. 16. §40. 1. 113883.3.989.5.1.3.2. L.5"/>
A-- @88J2. 6. k: —BRHERKOAFER #1 —>
{/observationEvent>
<{/subject0i>
¢{/instance0fKind>
{/consumable>
{/substanceAdministration>
{/component>
{/organizer>
</subject0f2>
<subjectOf2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="EVN">



{code code="1" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2. 1. 117 displayName="{RBROELI"/>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
{code code="T" codeSystem="2.16. 840, 1. 113883, 3. 989. 5. 1, 3. 2. 1. 10” displayName="/if tHEIZL"/>
(value xsi:type="INT” value="1"/>
-~ €86J2.13.1. 1 JRHIEIE #1 —>
{/cbservation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16, 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 107 displayName="S{RIRB"/>
<value xsi:type="ED">J2. 13.r.2¢/value>
<~ 888J2.13.x. 20 XEHKM #1 —>
{/observation>
</component>
{component typeCode="COMP">
(observation classCode="0BS” moodCode="EVN™>
(code code="9" codeSystem="2.16.840. 1. 113883. 3. 989, 5. 1. 3.2. 1. 10" displayName="FHZE4"/>
¢value xsi:type="CE” code="J2.13.r.3" codeSystem="2.16.840.1. 113883.3.989.5.1.3.2. L.7°/>
<t-- @8&J2.13.r.3: PAFEAR #1 —
{/observation>
</component>
{compenent typeCode="COMP™>
<observation classCode="0BS" moodCode="EYN™>
<code code="10" codeSystem="2. 16, 840, 1. 113883, 2, 989, 5. 1. 3. 2. 1. 107 displayName="IRIEP OEFOHE S
{value xsi:type="BL” value="true”/>
<I-— gegJ2. 13. v 47 FRDPOEFAOHE #1
{/observation>
{/component>
{/organizer>
</subject0f2>
{subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 117 displayName="3hERDIEE />
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<code code="T" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayNawe="JB B />
Cvalue xsi:type="INT" value="1"/>
I @86J2.13. 1. 11 BB #2 —
{/observation>
</component>
<component typeCode="COMP™>
{ohservation classCode="0BS” moodCode="EVN™>
<code code="8" codeSystem="2, 16. 840. 1. 113883. 3, 989.5. 1. 3. 2. 1. 10" displayName="5 8RR />
{value xsiitype="ED">J2, 13, r. 2<{/value>
<l @eaJ2. 13.1. 20 WHHES #2 —
</ohservation>
</componentd
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2, 16. 840, 1. 113883, 3, 989, 5. 1. 3. 2. 1. 10" displayName="[iFE41"/>
<yalue xsi:type="CE” code="J2.13.r.3" codeSystem="2, 16.840. 1. 113883.3.989.5.1.3.2. L.7"/>
I @88J2.13.x. 30 BT #2 —>
{/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSystem="2.16. 840. 1. 113883. 3. 989. 5. 1. 3.2, 1. 10" displayName="$2Z th DIER DA 5" />
(value xsi:type="BL” value="false”/>
<--egeje. 13.r. 41 REFOEFIOFE #2 —>
{/observation>
</component>
{/organizer>
{/subject0f2>
{/primaryRole>
{/subject1>
{componentl typeCade="COMP">
CobservationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16,840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="comment”/>
<value xsiitype="ED">H, 4</valued>
I~ H.4: Sender's Comments ~->
Cauthor typeCode="AUT™>
(assignedEntity classCode="ASSIGNED">
{code code="1" codeSystem='2.16.840.1.1}3883.3.989.2.1.1.21” displayName="sender”/>
{/assignedEntity>



{/author>
{/observationEvent>
</component1>
<componentl typeCode="COMP™>
{ohservationBvent classCode="0BS" moodCode="EVN">
(eode code="3" codeSystem="2. 16.840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 107 displayName="3£FE Tz H A M7/
<value xsi:type="ED">]J2.7.2<{/value>
A-- @88J2.7.2: RETIHTHIAAL P
{/observationEvent>
{/component1>
<componentl typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
<code code="5" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName=" &k DXHE"/>
<yalue xsiitype="ED">J2.10</value>
<l 888J2.10: SHDOMLE —>
{/observationEvent>
</componentl>
Ccomponent} typeCode="COMP”>
CobservationBvent classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16.840. 1. 113883.3.989.5. 1. 3. 2. 1. 107 displayName="% D13 ERIRE" />
<value xsi:type="ED7>J2.11</valued>
< eeeJ2. 11 EOMBEWIHE —>
{/ohservationEvent>
{/componentl>
(eomponentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
(code code="12" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1. 107 displayName="$14 B OESR"/>
<value xsi:type="ED">J2. 16</value>
<1-- geeJ2.16: WHENFOER —>
</observationBvent>
{/component1>
{/adverseEventAssessment>
</component>
<component typeCode="COMP™>
{observationBvent classCode="0BS” moodCode="EVN™>
{code code="23" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 197 displayName="localCriteriaForExpedited”/>
(value xsi:type="BL” value="true”/>
<1—- C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -->
{/chservationEvent>
{/component>
<outhoundRelationship typeCode="SPRT™>
(relatedInvestigation classCode="INVSTG™ mcodCode="EVN">
(code code="1" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 22" displayName="initialReport”/>
{subject0Of2 typeCode="SUBJ">
CcontrolActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<code code="C.1.8. 2" codeSystem="2. 16.840.1, 113883. 3. 989.2. 1. L. 37/
¢l— C.1.8.2; First Sender of This Case —>
{/assignedEntity>
{/author>
{/controlActEvent>
¢/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
CoutboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG” mocdCode="EVN">
<code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN">
¢id extension="C.1.10. 1" roct="2. 16.840.1. 113883.3.989.2. 1.3.2"/>
<}—— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #l —>
{/controlActEvent>
{/subject0f2>
{/relatedinvestigation>
{/outboundRelationship>
ZouthoundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="HA"/>
<subject0f2 typeCode="SUBJ™>
{controlactEvent classCode="CACT” moodCode="EVN">
<id extension="C. 1. 10.r" root="2.16.840.1. 113883.3.989.2.1.3.27/>
(i C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 —>
{/controlActEvent>
{/subject0f2>



{/relatedInvestigation>
</outhoundRelationship>
{subjectOf1 typeCode="SUB]">
<controlActEvent classCode="CACT” moocdCode="EVN">
<author typeCode="AUT™>
CassignedEntity classCode="ASSIGNED™>
<addr>
{streetAddressLinedC. 3, 4. 1{/streetAddressLine>
<I--C.3.4.1: Sender’s Street Address ——>
{eity>C. 3. 4. 2{/city>
(I-—(.3.4.2: Sender’s City —>
{state>C. 3. 4. 3¢/state>
{l-- C.3.4.3: Sender’ s State or Province --)
<{/addr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>
<prefix>C, 3. 3. 2{/prefix>
(P €.3.3.20 Sender’s Title —>
<given>C. 3. 3. 3<¢/given>
<!— €.3.3.3: Sender’s Given Nawe ——>
<given>C. 3, 3. 4{/given>
(I~ (.3.3.4: Sender’s Middle Name —
(family>C. 3. 3. 5</family>
¢{]— C.3.3.5: Sender’s Family Name ~—>
{/name>
CasLocatedEntity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.3.4.5" codeSystem="1.0.3166.1.2,27/>
<l——C.3.4,5: Sender's Country Code —>
</location>
{/aslocatedEntity>
{/assignedPerson>
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<name>C, 3. 2¢/name>
(1~ €.3.2: Sender’ s Organisation —>
{/represented0rganization>
<{/assignedfntity>
<{/author>
</controlhctEvent
</subjectOf 1>
<subjectOf1 typeCode="SUB]™>
{controlictEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityName="C.1.9. 1. r. 1" extension="C.1.9.1.r. 2" root="2, 16.840. 1, 113883.3,989.2.1.3.3"/>
<I— C.1.9.1.r. 1 Source{s) of the Case Identifier {(repeat as necessary) -=>
<I— €. 1.9. 1L 1.2 Case Identifier(s) #1 —>
</controlActEvent>
</subject0f1>
C(subject0fl typeCode="SUB]™>
<controlictEvent classCode="CACT moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C. 1. 9. 1.r, 2" root="2. 16, 840, 1. 113883.3.989.2.1.3.3"/>
(!=— C.1.9.1.1.1: Source(s) of the Case ldentifier (repeat as necessary) #2 ~->
(= €. 1.9.1.1.2 Case Identifier(s) #2 —>
{/controlActEvent>
{/subjectOf1>
<subjectOf2 typeCode="SUB]"> .
CinvestigationCharacteristic classCode="0BS” moodCode="EVN”
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 23" displayName="ichReportType”/>
Cvalue xsi:type="CE” code="C.1.3" codeSystem="2.16.840, 1, 113883. 3.989.2.1.1.2"/>
l— €. 1.3 Type of Report ——>
</investigationCharacteristic>
{/subject0f2>
<subject0f? typeCode="SUB]™>
<investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsiltype="BL” value="true”/>
Kl— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
</investigationCharacteristic)>
<{/subject0f2>
<subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentCode”/>
<value xsiitype="CE” code="C.1.11.1" codeSystem="2.16.840.1.113883.3.989.2. 1. L.§"/>
<I— C.1.11.1: Report Nullification / Amendment —>
</investigationCharacteristic>
{/subject0f2>

B
s



¢subject0f2 typeCode="SUB]™>
(investigationCharacteristic classCode="0BS" moodCode="EVN™>
(code code="4" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 237 displayNeme="nullificationAmendmentReason”/>
{value xsi:type="CE™>
CoriginalText>C. 1. 11, 2¢/eriginalText>
¢1== C.1.11.2: Reason for Nullification / Amendment —>
</value>
¢/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ">
¢investigationCharacteristic classCode="0BS” moodCode="EVN™>
Ceode code="1" codeSystem="2. 16.840. 1. 113883. 3, 989.5. 1. 3.2, 1. 12” displayName="MEBUEHH GREZE) "/
<value xsi:type="CE" code="J2.1a" codeSystem="2. 16. 840. 1. 113883.3.989.5. 1.3. 2. L. 1"/>
I 26812 1a: BMHIEE (WBESH
{/investigationCharacteristic>
{/subject0f2>
<subjectOf2 typeCode="SUB]™>
<investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 127 displayName="$R{5 T E"/>
Cvalue xsittype="TS” value="20130107"/>
<l-- egaye. 2.1 WERREAD —
</investigationCharacteristic>
</subject0f2>
(subject0f2 typeCode="SUB]™>
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
(code code="3" codeSysten="2. 16.840, 1. 113883, 3.989.5. 1. 3. 2. 1. 12" displayName="#EHRFRICWT D=2}/
<yalue xsi:type="ED">]J2.2.2<{/value>
<1-- @8eyz2.2.2: MEEHRICHT S AL —
<{/investigationCharacteristic>
</subject0f2>
¢subject0f2 typeCode="SUBJ™>
¢investigationCharacteristic classCode="0BS” moodCode="EVN">
¢code code="4" codeSystem="2. 16. 840. L. 113883. 3.989. 5. 1. 3. 2. 1. 12" displayName="EJBfiltE 7 7 /7/>
<value xsiltype="CE" code="]2.3" codeSystem="2. 16, 840. 1. 113883.3.989.5. 1. 3.2.1.27/>
I 888J2.3: MmERET TS
{/investigationCharacteristic)
{/subject0f2>
{/investigationEvent>
{/subject>
{/controlActProcess>
</PORR_INO49016UV>
<I— MWessage #1 —>
{1-- Message 82 —>
<t— PORR_INO48016UV —>
<(1— /PORR_ING49016LV —>
{l—— MWessage #2 —>
<receiver typeCode="RCV™>
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2. 16, 840. 1. 113883.3.989. 2. 1. 3. 14"/>
<l~- N. 1.4 Batch Receiver Identifier —>
{/device?
</receiver?
{sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE">
¢id extension="N.1.3” root="2, 16. 840. 1, 113883, 3. 989. 2. 1.3.13"/>
(!~ N.1.3: Batch Sender Identifier ——>
</device>
</sender>
{/MCCY._IN200100UVO1>
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XPath

(value)

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemaLocation="urn‘hl7-
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l/subjectOf2[@typeCode='SBJ'l[organizer/code[@code='4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1]/organizer[@classCode="CATEGORY'l[@moodCode="E
VN'l/component[@typeCode='COMP'][substanceAdministration/id][kl/substanceA
dministration[@classCode='SBADM[@moodCode="EVN'/consumablel@typeCode
='CSM'[1)/instanceOfKind[@classCode="TNST'/subjectOfl@type Code='SBJ']/obse
rvationEvent[code[@code='2'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N1}@classCode='OBS'l[@moodCode="EVN'l/valuel@xsi‘type='CE]{@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code
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e='CACT'@moodCode="EVN'l/subjectl@typeCode="SUBJ'[1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/component[@typeCode='COMP'|[adv
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0dCode="EVN"/subject1[@typeCode='SBJ 'l 1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2l@type Code="SBJ'l[organizer/code[@code="41{@codeSystem='2.16.840.
1.113883.3.989.2.1.1.2011[1)/organizerl@classCode='"CATEGORY'l[@mood Code="E
VN'l/componentl@typeCode='"COMP'][substanceAdministration/idl[1}/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumablel@typeCode
='CSM'1[1}/instanceOfKindl@classCode="INST'}/subjectOfl@typeCode='SBJ'l/obse
rvationEventlcodel@code='21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
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MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT@moodCode="EVN'/subjectl@typeCode="SUBJ'[1)/investigationEvent
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MCCI_IN200100UV01.xsd'/PORR_IN049016UVI[rl/controlActProcessl@classCod
e='CACT][@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1}/investigationEvent
[@classCode="TNVSTG')[@mood Code="EVN'l/component[@typeCode='COMP'][adv
erselventAssessmentl[1]/adverseEventAssessmentl@classCode=TNVSTG' ll@mo

0dCode=EVN'//component1[@typeCode='COMP]{observationEventlcode[@code="
3'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'll[1)/observationEvent[@c
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e='CACT'[@moodCode="EVN'l/subject@type Code="SUBJ'l[1]/investigationEvent
[@classCode="TNVSTG'[@mood Code="EVN1/subjectOf2[@type Code="SUBJ'|[inve
stigationCharacteristic/code[@code="5'l[@codeSystem='2.16.840.1.113883.3.989.5.
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MCCI_IN200100UV01.xsd'//PORR_IN049016UV|rl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subjectl@type Code="SUBJ'][1}/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN/subjectOf2[@typeCode='SUBJ'][inve

| stigationCharacteristic/code[@code="6'][@codeSystem='2.16.840.1.113883.3.989.5.

1.3.2.1.127[1VinvestigationCharacteristicl@classCode="OBS'}{@mood Code="EVN'
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MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT@moodCode="EVNV/subjectl@type Code="SUBJ'N[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component|@typeCode='"COMP'}[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN"l/component1[@typeCode='COMP'][observationEventlcode[@code="
47[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'11[1)/observationEvent(@c
lassCode='OBS'l[@moodCode="EVN'l/value [@xsiitypeZ'ED']/textO
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XPath

/MCCI_IN200100UV01 [@ITSVe1 sion=XML_1.0%[@xsi:schemal.ocation="urn:hl7-
orgv3d

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UVIxl/controlActProcessl@classCod
e='CACT'1[@moodCode="EVN'//subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'] [@moodCode=’EVN’]/component[@tyﬁe Code="COMP'l{adv
erseEventAssessment]{1]/adverseEventAssessment[@classCode="TNVSTG'[[@mo
0dCode="EVN'}/component1[@typeCode='COMP'][observationEventlcode[@code='
57[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101]][1)/observationEvent[@c
lassCode='0BS'[@moodCode="EVN'l/valuel@xsi:type="ED"/text0 '
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MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UVIr)/controlActProcess|@classCod
e='CACT][@moodCode="EVN/subjectl@type Code='SUBJ'][1)/investigationEvent
[@classCode="INVSTG'] [@moodCode="EVN1/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'{@mo

odCode="EVN"/component1[@typeCode='COMP'][observationEventlcode[@code="
6'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1)/observationEvent[@c
lassCode="OBS'1@moodCode="EVN'l/value[@xsi:type="ED'l/text(
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MCCI_IN200100UV01.xsdI/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'/subject@type Code='SUBJ'{1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN/component[@typeCode='"COMP'[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l[@mo
0dCode="EVN'/subject1[@typeCode='SBJ'[[1)/primaryRole[@classCode='TNVSBJ'
I/subjectOf2[@type Code='"SBJ'[organizer/codel@code='4'[@codeSystem="2.16.840.
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1.113883.3.989.2.1.1.201[1)/organizerl@classCode="CATEGORY'l[@moodCode="E
VN'//component[@typeCode='"COMP'][substanceAdministration/idl/substanceAd

ministration[@classCode='SBADM'][@mood Code="EVN'l[consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt][1]/consumable[@typeCode="CSM'[1V/instanceOfKind[@classCode="INST']/kin
d0fProductl@classCode="MMAT"} [@determinerCode="KIND'l/asSpecializedKind[
@classCode="GEN'|[1]/generalizedMaterialKind[@classCode="MAT'}[@determiner
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XPath
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e='"CACT1[@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode="INVSTG'[[@mo
0dCode="EVN/subject1[@typeCode="SBJ'[1]/primaryRole[@classCode=TNVSBJ'
J/subjectOf2[@typeCode='SBJ"llorganizer/code[@code='11l@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']][r}/organizerl@classCode="CATEGORY'l[@mood Code
="EVN')/componentl@typeCode='COMP'}/observation[@classCode='"OBS'l[@mood
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erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTGl[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'[1}/primaryRolel@classCode=INVSBJ'
l/subjectOf2l@typeCode="SBJ' [organizer/codel@code="1'l[@codeSystem='2.16.840.
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0dCode="EVN'l/subject1[@type Code='"SBJ'][1}/primaryRole[@classCode="INVSBJ'
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi:schemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsdl/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACTH[@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG ' ll@moodCode="EVN'/component[@typeCode='"COMP'][adv
erseEventAssessment][1l/adverseEventAssessment[@classCode="TNVSTG'[[@mo
odCode="EVN'/subject1[@typeCode="SBJ'][1)/primaryRole [@classCode='INVSBJ'
l/subjectOf2[@typeCode='SBdJ'l[organizer/code[@code="'1"1[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'11[x)/organizer[@classCode='"CATEGORY'|[@mood Code
="EVN'l/component[@typeCode='"COMP')/observation[@classCode='OBS'l[@mood
Code="EVN'lcodel@code="10"l[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.1
0'llivaluel@xsi:type='BL'l/@value '
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[@classCode="TNVSTG'][@moodCode='"EVN'l/component[@typeCode='"COMP']{adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode='INVSTG'][@mo
0dCode="EVN'l/subject1[@typeCode='"SBJ'M[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode='SBJl[observation[id][code[@code='29'l[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'/11[il/observation[@classCode="OBS'l[@mood Code=
"BVN'l/outboundRelationship2[@typeCode="PERT'lobservation/code[@code='11']{
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'[1[1]/observation[@classCode=
'OBS1@moodCode="EVN'l/valuel@xsi‘type='CE'll@codeSystem='2.16.840.1.11388
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XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'][@xsi:schemalocation='urn‘hl7-

orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subjectl@type Code="SUBJ"][1]/investigationEvent
[@classCode='INVSTG[@moodCode='"EVN'l/reference[@typeCode="REFR'l[docu
ment/code[@code='2"][@codeSystem='2.16.840.1.113883.3.989.2.1.1.271l[r}/docum
entl@classCode="DOC[@mood Code="EVNl/participation[@typeCode='AUT"/assi
gnedEntity[@classCode='ASSIGNED’]/representedOrganization[@classCode:'OR
G'll@determinerCode="INSTANCE/asLocatedEntityl@classCode="LOCElocatio
n[@classCode='"COUNTRY'l[@determinerCode=INSTANCE')/codel@codeSystem=

'1.0.3166.1.2.2'V/@code
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MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN']/subject@typeCode='SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'@mood Code="EVN'l/component[@type Code='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'l[@mo
0dCode="EVN'//component1[@typeCode='COMP'][observationEventlcodel@code='
127][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'][/[1)/observationEvent|@
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MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[rl/controlActProcess|@classCod
e="CACT'{@moodCode="EVN'/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'l{@moodCode="EVN'l/referencel@typeCode="REFR'][docu
ment/code[@code='2"1[@codeSystem='2.16.840.1.113883.3.989.2.1.1.27'1][r)/docum
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orgv3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[rl/controlActProcess(@classCod
e="CACT][@moodCode="EVN'/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='CAC
T@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP'}/assign
edEntityl@classCode='ASSIGNED]/representedOrganization[@classCode="ORG']
[@determinerCode="TNSTANCE'//name/text(
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MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr)/controlActProcess[@classCod
e="CACT][@moodCode="EVN'/subjectl@typeCode='"SUBJ'[1}/investigationEvent
[@classCode=TNVSTG ' [@moodCode="EVNl/subjectOf1[@typeCode="SUBJ"][cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent|@classCode='CAC
Tl [@moodCode="EVN'l/primaryInformationRecipientl@typeCode="PRCP'}/assign
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edEntityl@classCode='ASSIGNED'//assignedPerson[@classCode="PSN'l{@determ
iner Code“'INSTAN CE‘]/name/preﬁx[l /textO

J2.18.3 Z{ZEM

ICSR 0)"‘1'“%@!155%:71‘?’

HHEHH
Eok WA BHEOBEROELZ T 5,
7 — 55 100J
FAE =l
XPath /MCCI_IN200100UV01l@ITSVersion="XML_1.07[@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsdl/PORR_IN049016UV/[r]/controlActProcess[@classCod

e='CACT'Hl@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'H@moodCode="EVN'l/subjectOf1{@typeCode="SUBJ"][cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent[@classCode='CAC
T1@moodCode='"EVN'/primaryInformationRecipient(@typeCode="PRCP')/assign
edEntityl@classCode='ASSIGNED/assignedPerson|[@classCode="PSN'l{@determ
inerCode="IN STAN CE’]/name/famlly[1]/text0

J2.18.4 ZiEH4

TH H EH ICSR DEfEH D4 %:;“ﬁ@‘o
EE RS BEOHEBER DL ZFEHT S
— T 100J

FFAE ERzERE Y

XPath /MCCI_IN200100UV01l@ITSVersion=XML_1.0'll@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|r]/controlActProcessli@classCod
e='CACT'H[@mood Code="EVN'l/subject(@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'H@moodCode="EVN'l/subjectOf1{@typeCode="SUBJ'}[cont
rolActEvent/primaryInformationRecipient]{1]/controlActEvent[@classCode='"CAC
T1H@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP']/assign
edEntityl@classCode='ASSIGNED')/assignedPersonl@classCode="PSN'l[@determ
inerCode='INSTANCE'l/name/given[1]/text(

J2.19 HE1 G | :

H B A FiHHER

AT IE 7L

— Z Al 10000d

FFAE =hzzEasu

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'|[@xsi:schemalocation="urn:hl7-
orgva

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcessl@classCod
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e='CACT']l@moodCode="EVN'l/subjectl@typeCode='SUBJ'][1}/investigationEvent
[@classCode='INVSTG ' [@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseBventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'l[@mo
0dCode="EVN'l/component1[@type Code='"COMP'l[observationEvent[code[@code="
131[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1)/observationEvent(@
classCode="0BS'Tl@moodCode="EVN'l/valuel@xsi:type="ED"/text(

H H#HA FlHEE

FLRL T 7L

7 — A Al 10000d

FFAE B il

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemaLocation="urn:hl7-
org-v3 ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcess|@classCod
e='CACT][@moodCode="EVN'l/subjectl@typeCode='"SUBJ'}[1]/investigationEvent
[@classCode="INVSTG[@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'[[@mo
0dCode="EVN'l/component1[@typeCode='COMP'][observationEventlcode[@code="
14'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']]1[1)/observationEvent[@
classCode="0BS'l[@moodCode="EVN']/valuel@xsi:type='ED'//text( -

Je.21 fEEs » ’

TH H A FHEH

TR 3L

7 Bl 10000J

FFAE B HEim

XPath /MCCIL_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn‘h17-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIx)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'//subjectl@typeCode="SUBJ'[1)/investigationEvent
[@classCode='INVSTG'H@moodCode="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="TNVSTG'[@mo
0dCode="EVN'/component1[@typeCode='COMP]{observationEventlcode[@code="
15'l[@codeSystem='2.16:840.1.113883.3.989.5.1.3.2.1.10M}[1}/observationEvent[@
classCode="0BS'l[@mood Code="EVN'l/valuel@xsi:type="ED')/text(

TH B #h A FiwER

EEUFIE 7L

T 10000J
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HEE =Rzt
XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'{@xsi:schemalocation="urn:hl7-
orgv3 ‘
MCCI_IN200100UV01.xsd'I/PORR_IN049016UVI[rl/controlActProcessl@classCod
e='CACT1[@moodCode="EVN'l/subjectl@typeCode='"SUBJ'][1}/investigationEvent
[@classCode="INVSTG[@mood Code="EVN'l/component[@type Code='COMP"][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo
0dCode="EVN'/component1[@typeCode="COMP'] [observationEventlcode[@code='
161 [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1)/observationEvent[@
classCode="0OBS"[@mood Code="EVN'l/valuel@xsi:type="ED'/text(

16




EAGBE AT LEBRAT —SEE (JEE) O=3—FE

R 5

AA @W]fﬁgjéﬁiff‘%ﬁ* (rf“ﬂ}ifzé)

AB EWaIEREGRE (TR

AC SMERGEEAER S (THRE) f
AD S ERIVERERRE (ﬁ'f&%) iR
AE RYGEMFZEEE (TR ik
AF BIfE AN EEHE (HRTE) filR#%
AG SAENZ I A RESEOpIE, BN, EEEORERS (FiRE) iR
BC [EEE S AT iR
BD {bHE SR FEH S HIHRTA
DA ENREE SRS (7B5) inlk
DB ERNAHERERRE (A5) ek
DC SMEIRRAYESE GRS (TR5R) TREk
DD SMERIERERSRSE (JRED) =LA
DE FRYLERTSCHE (a8 R
DF BIERBERE (A5 185k
DG SAENCR T A EE0pIE, BN, REFEFOHERSE (55 S
ae Miﬁ \JZ 4k %E%nn%@#\’ﬁﬁ ‘ T‘ngﬁ/
1 r’rJ &uﬁ%ﬁﬁp iR
2 TR 2 LN TR
3 R 165
4 — I RER LY
5 PAR/YP iR %
6 BHEEMMTB (0TC) iR
7 PMS #ifid (0OTC) iR




5B — IR 3K b

58 T HRE FR A

\% o
AN
O

fEE®S THERR

S

N

= |3

SEEEE
5
;\B‘g

==

ERHEOIEHETORFEDOLE

REREDHE

Z—F v ML 2BEREDEE

BB

T

%
FofhomERE (BEE%) O%e

SIEEIEL: =

Y

nullFlavor=ASKU

WERET o120, RS AFTERDSTGE

=

d

e o
e

nullFlavor=UNK

LU EBRVEBIC LV HERRE T, AROEE

o
R

=

J2.13.x3 s

<A 7 r F— AR

%148

#1/048

B IHE

%0 /4R

IR

G Ut b 100 DD e | O

salii




: BUHE 6
ERENRSHBRESHRLETAvE—UT—2EE

HE-BREEEOMER
EiHEE
O=8B—Bh o T iLHT HER
O=RRTHEOEIZHTRHITHER
O=& = TE~BHhLRRMNHNELER
A=FHEMNECRTRHREORIZHEEHALERIER
A=TREAIRY BT DEE
(BMTHHREETOIBEE. (FETCHAINRHIATHWTEIS—~ITHSREWNERL)
x =& L TIEWFEWER
BF—2%
A = ZER
AN = EH=R
N = R
J = BAEL
e = S e gl o yp s R T VAR D
T ABEES  TOSERR . [FREARIC MR compEs
ACK.M.1 FERLEN\IFES © 100AN
ACK.M.2 AN N\YFEEEEMNT © 60AN N.1.4
ACK.M.3 - AR BENNYTFZEEHNF © 60AN N.1.3
ACK.M.4 INYFEEOREZEGER © date
ACK.A.1 ICSRINYFBE © 100AN N.1.2
ACK.A.2 FERILEMBE AU EE ©) 100AN
ACK.A.3 ICSR/NFEEH © date N.1.5
ACK.A4 EEEELEI—F © 2A
ACK.A5 INYF )T =30 T5— & 250J
ACK.B.r.1 ICSRAYE—TDHEE © 100AN N.2.r.1, C.1.1
ACKB.r.2 iR EES © 100AN
ACK.B.r.3 ICSRAVE—CRERIGERZIESR © 60AN N.2.r.2
ACK B.r4 ICSRAYE—URERINEEES © 60AN N.2r3
ACK.B.r5 ICSRAYE—4ERLH © date N.2r4, C.1.2
ACKB.r6 ICSRAVE—U DRERIGED—K © 2A
ACK.B.r.7 IS5—  BEAE-URTER <o 250J




